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✲ ❚❛♠❛s ❇✐r❦♥❡r ♣♦✉r ❧❡s ❞ét❛✐❧s ❝✉❧t✉r❡❧s q✉✬✐❧ ♠✬❛ ❞♦♥♥és ❧♦rs ❞❡ ♥♦s ❡①❝✉rs✐♦♥s ❡♥ ▲♦rr❛✐♥❡✱
❆❧s❛❝❡ ❡t ▲✉①❡♠❜♦✉r❣✳



■♥tr♦❞✉❝t✐♦♥

❯♥ ❞❡s ♣r♦❜❧è♠❡s q✉✐ ♦♥t ❢❛s❝✐♥é ●❛✉ss ❛ été ❧❡ s✉✐✈❛♥t ✿ ➱t❛♥t ❞♦♥♥é N ❡♥t✐❡r✱ tr♦✉✈❡r ❡✛❡❝t✐✲
✈❡♠❡♥t s❛ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ❢❛❝t❡✉rs ♣r❡♠✐❡rs✳✳ ■❧ ❛ ♠ê♠❡ ❡①♣r✐♠é s♦♥ s♦✉❤❛✐t q✉❡ s❡s ❡✛♦rts s♦✐❡♥t
❝♦♥t✐♥✉és ♣❛r ❧❡s ❣é♥ér❛t✐♦♥s à ✈❡♥✐r ♣❛r ✉♥❡ ♣❤r❛s❡ q✉✬✐❧ ❛ é❝r✐t❡ ❞❛♥s ❉✐sq✉✐t✐♦♥❡s ❆r✐t❤♠❡t✐❝❛❡ ✿
❊♥ ♦✉tr❡✱ ❧❛ ❞✐❣♥✐té ❞❡ ❧❛ s❝✐❡♥❝❡ s❡♠❜❧❡ ❞❡♠❛♥❞❡r q✉❡ ❧✬♦♥ r❡❝❤❡r❝❤❡ ❛✈❡❝ s♦✐♥ t♦✉s ❧❡s s❡❝♦✉rs
♥é❝❡ss❛✐r❡s ♣♦✉r ♣❛r✈❡♥✐r à ❧❛ s♦❧✉t✐♦♥ ❞✬✉♥ ♣r♦❜❧è♠❡ s✐ é❧é❣❛♥t ❡t s✐ ❝é❧è❜r❡✳✶ ❆✈❡❝ ❧✬✐♥✈❡♥t✐♦♥ ❞❡
❧✬♦r❞✐♥❛t❡✉r ❧❡ ✈♦❡✉ ❞❡ ●❛✉ss ❡st ❡♥ ♣❛rt✐❡ ré❛❧✐sé✱ ♠❛✐s ❧❡s ♠❛t❤é♠❛t✐❝✐❡♥s ❝♦♥t✐♥✉❡♥t à ❢❛❝t♦r✐s❡r
❞❡s ♥♦♠❜r❡s t♦✉❥♦✉rs ♣❧✉s ❣r❛♥❞s ❧♦rsq✉✬✐❧s ét✉❞✐❡♥t ✉♥❡ éq✉❛t✐♦♥ ❞✐♦♣❤❛♥t✐❡♥♥❡ ♣❛rt✐❝✉❧✐èr❡ ♦✉ ✉♥
❝♦r♣s ❞❡ ♥♦♠❜r❡s ❡①♣❧✐❝✐t❡✳ P❛r ❡①❡♠♣❧❡✱ ♣♦✉r ❝❛❧❝✉❧❡r ❧✬❛♥♥❡❛✉ ❞❡s ❡♥t✐❡rs ❞✬✉♥ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱
♦♥ ❝♦♠♠❡♥❝❡ ♣❛r ❢❛❝t♦r✐s❡r ❧❡ ❞✐s❝r✐♠✐♥❛♥t ❞✉ ♣♦❧②♥ô♠❡ q✉✐ ❞é✜♥✐t ❧❡ ❝♦r♣s ❡♥ q✉❡st✐♦♥✳

❊♥ ♣❧✉s ❞❡ ❝❡❧❛✱ ❧✬✐♥✈❡♥t✐♦♥ ❞❡ ❘❙❆ ❡♥ ✶✾✼✻ ❛ ❞ét❡r♠✐♥é ❧❡s ✐♥❢♦r♠❛t✐❝✐❡♥s à s✬✐♥tér❡ss❡r à ❧❛
❢❛❝t♦r✐s❛t✐♦♥✳ ❊♥ ❡✛❡t✱ ❡♥ ❝r②♣t♦❣r❛♣❤✐❡ ♦♥ ✉t✐❧✐s❡ ❞❡s ❢♦♥❝t✐♦♥s à s❡♥s ✉♥✐q✉❡ ✐✳❡✳ ✐♥t✉✐t✐✈❡♠❡♥t ❞❡s
❢♦♥❝t✐♦♥s f : Nm → Nn ❜✐❥❡❝t✐✈❡s t❡❧❧❡s q✉❡ f s❡ ❝❛❧❝✉❧❡ ♣❛r ✉♥ ❛❧❣♦r✐t❤♠❡ r❛♣✐❞❡ ❛❧♦rs q✉❡ f−1 ❡st
❞✐✣❝✐❧❡♠❡♥t ❝❛❧❝✉❧❛❜❧❡✳ ❯♥ t❡❧ ❡①❡♠♣❧❡ ❡st ❧❡ ♣r♦❜❧è♠❡ ✿ ➱t❛♥t ❞♦♥♥és ❞❡✉① ♥♦♠❜r❡s ♣r❡♠✐❡rs p ❡t
q✱ ❝❛❧❝✉❧❡r pq✳✱ ❞♦♥t ❧✬✐♥✈❡rs❡ ❡st ✿ ➱t❛♥t ❞♦♥♥é pq✱ tr♦✉✈❡r p ❡t q✳ ❖♥ r❡♠❛rq✉❡ q✉❡ ❧❛ ❢❛❝t♦r✐s❛t✐♦♥
❡st ❡♥❝♦r❡ ♣❧✉s ❞✐✣❝✐❧❡ ❝❛r ♦♥ ♥❡ ❝♦♥♥❛ît ♣❛s ❞✬❛✈❛♥❝❡ ❧❡ ♥♦♠❜r❡ ❞❡ ❢❛❝t❡✉rs à tr♦✉✈❡r✳ ❆✐♥s✐✱
✉♥❡ ♣ré♦❝❝✉♣❛t✐♦♥ ❞❡s ❝r②♣t♦❣r❛♣❤❡s ❡st ❞❡ tr♦✉✈❡r ❧❡ ♠❡✐❧❧❡✉r ❛❧❣♦r✐t❤♠❡ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❡t ❞❡
❞é♠♦♥tr❡r s♦♥ ♦♣t✐♠❛❧✐té✳

✶ ▲❛ ♠ét❤♦❞❡ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ♣❛r ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✱ ❊❈▼

✶✳✶ Prés❡♥t❛t✐♦♥

✶✳✶✳✶ ❯t✐❧✐s❛t✐♦♥ ❞❡ ❊❈▼

▲❛ ♠ét❤♦❞❡ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ♣❛r ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✱ ❛❜ré❣é❡ ❊❈▼✱ ❛ été ✐♥✈❡♥té❡ ❡♥ ✶✾✽✺ ♣❛r
❍✳❲✳▲❡♥str❛✱ ✈♦✐r ❬▲❡♥✽✼❪✳ ▲❛ ❜r✐q✉❡ ❞❡ ❜❛s❡ ❞❡ ❧❛ ♠ét❤♦❞❡ ❡st ✉♥ ❛❧❣♦r✐t❤♠❡ q✉✐✱ ét❛♥t ❞♦♥♥é
✉♥ ♥♦♠❜r❡ ♥❛t✉r❡❧ N ✱ tr♦✉✈❡ ✉♥ ❢❛❝t❡✉r ♣r❡♠✐❡r ❞❡ N ❛✈❡❝ ✉♥❡ ♣r♦❜❛❜✐❧✐té ❞❡ s✉❝❝ès Prob(B1) ♦ù
B1 ❡st ✉♥ ♣❛r❛♠ètr❡ ❝❤♦✐s✐ ♣❛r ❧✬✉t✐❧✐s❛t❡✉r✳ ❍❡✉r✐st✐q✉❡♠❡♥t✱ ❧❡s ♣r♦❜❛❜✐❧✐tés ❞❡ s✉❝❝ès ❞❡ ❞❡✉①
❡①é❝✉t✐♦♥s s✉❝❝❡ss✐✈❡s ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ s♦♥t ✐♥❞é♣❡♥❞❛♥t❡s✱ ❡①❛❝t❡♠❡♥t ❝♦♠♠❡ ❧❡s ❥❡ts ❞❡ ❞és✳ ❆❧♦rs
❧❛ ♠ét❤♦❞❡ ❝♦♥s✐st❡ à ré♣ét❡r ❧✬❛❧❣♦r✐t❤♠❡ ❥✉sq✉✬à ❝❡ q✉✬♦♥ tr♦✉✈❡ ✉♥ ❢❛❝t❡✉r ♣r❡♠✐❡r ❞✉ ♥♦♠❜r❡ à
❢❛❝t♦r✐s❡r✳ ❖♥ ✈❡rr❛ ❞❛♥s ✶✳✶✳✹ ❝♦♠♠❡♥t ❝❤♦✐s✐r ❧❡ ♠❡✐❧❧❡✉r B1 ♣♦✉r ♦♣t✐♠✐s❡r ❧❡ t❡♠♣s q✉✬♦♥ ♣❛ss❡
❡♥ ♠♦②❡♥♥❡ ❥✉sq✉✬à ❝❡ q✉✬♦♥ tr♦✉✈❡✳ ❖♥ ✈❡rr❛ é❣❛❧❡♠❡♥t q✉❡ ❧❛ ❝♦♠♣❧❡①✐té ❞❡ ❧❛ ♠ét❤♦❞❡ ❊❈▼ ❡st
c(|N |) · e(

√
2+o(1))

√
n
√

log n ♦ù n = log(p) ❡st ❧❛ t❛✐❧❧❡ ❞✉ ♥♦♠❜r❡ ♣r❡♠✐❡r p à tr♦✉✈❡r ❡t C(|N |) ❡st
✉♥ ♣♦❧②♥ô♠❡ ❞❛♥s ❧❛ t❛✐❧❧❡ |N | = logN ❞❡ N ✳ ❈❡❧❛ r❡♥❞ ❊❈▼ ❧❛ ♠❡✐❧❧❡✉r❡ ♠ét❤♦❞❡ ♣♦✉r ❡①tr❛✐r❡
❞❡s ❢❛❝t❡✉rs ♣r❡♠✐❡rs p ❞❡ t❛✐❧❧❡ ♠♦❞éré❡ ✐✳❡✳ p < 1060✳ ■❧ ❡st ❞♦♥❝ ✉t✐❧✐sé ♣❛r ❧❡s ❧♦❣✐❝✐❡❧s ❞❡ ❝❛❧❝✉❧
♥✉♠ér✐q✉❡✱ ❝♦♠♠❡ ▼❛♣❧❡✱ ❙❛❣❡ ❡t ▼❆●▼❆✳
P❛r ❝♦♥tr❡✱ ♣♦✉r ❛tt❛q✉❡r ❧❡ ❝r②♣t♦s②stè♠❡ ❘❙❆✱ ✐❧ ❢❛✉t ❢❛❝t♦r✐s❡r ❞❡s ♥♦♠❜r❡s N = pq t❡❧s q✉❡ p ❡t
q s♦♥t ❞❡ t❛✐❧❧❡ ❛✉ ❞❡❧à ❞❡ ❧❛ ♣♦rté❡ ❞❡ ❊❈▼✳ ❖♥ ✉t✐❧✐s❡ ❛❧♦rs ❧❛ ♠ét❤♦❞❡ ◆❋❙✱ ❞♦♥t ❧❛ ❝♦♠♣❧❡①✐té
❡st O(e1.93n

1/3(log n)1/3

)✳ ❚♦✉t❡❢♦✐s NFS ✉t✐❧✐s❡ ECM ❡♥ t❛♥t q✉❡ s♦✉s✲r♦✉t✐♥❡✱ ❡♥ ❝♦♥séq✉❡♥❝❡ ❞❡
q✉♦✐ t♦✉t ❞é✈❡❧♦♣♣❡♠❡♥t ❞❡ ECM ❛ ❞❡s ❡✛❡ts ❡♥ ❝r②♣t♦❣r❛♣❤✐❡✳

✶❘❡❝❤❡r❝❤❡s ❆r✐t❤♠ét✐q✉❡s✱ tr❛❞✉❝t✐♦♥ ❞❡ ❆✳✲❈✳✲▼ P♦✉❧❧❡t✲❉❡❧✐s❧❡✳✶✽✵✼

✶



✶✳✶✳✷ ❉é✜♥✐t✐♦♥s

❉é✜♥✐t✐♦♥ ✶✳ ❙♦✐❡♥t B1 ❡t B2 ∈ N✳ ❖♥ ❞✐t q✉✬✉♥ ♥♦♠❜r❡ g ∈ N ❡st (B1, B2)−❢r✐❛❜❧❡ s✐ g =
pe11 p

e2
2 ...p

ek

k π0 ♣♦✉r ✉♥ k ∈ N✱ ❛✈❡❝ pei
i ≤ B1 ❡t π0 = 1 ♦✉ B1 ≤ π0 ≤ B2✳

❉é✜♥✐t✐♦♥ ✷✳ ❙♦✐t K ✉♥ ❝♦r♣s✳ ❖♥ ❛♣♣❡❧❧❡ P2(K) ❧✬❡♥s❡♠❜❧❡ (K3 −{(0, 0, 0)})/ ≃ ♦ù (X,Y, Z) ≃
(X ′, Y ′, Z ′) ⇐⇒ ∃λ ∈ K∗ (X ′, Y ′, Z ′) = (λX, λY, λZ)✳ ❙♦✐❡♥t A,B ∈ K ❡t f = Y 2Z − X3 −
AXZ2 − BZ3✳ ❖♥ ♣♦s❡ E(A,B) = {(X : Y : Z) ∈ P2(K)/f(X : Y : Z) = 0}✳ ❖♥ ❞✐t q✉❡ E(A,B)
❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✐ ❡❧❧❡ ♥✬❛ ♣❛s ❞❡ ♣♦✐♥t t❡❧ q✉❡ ∂f

∂X ✱ ∂f
∂Y ❡t ∂f

∂Z s✬❛♥♥✉❧❡♥t s✐♠✉❧t❛♥é♠❡♥t✳

❘❡♠❛rq✉❡ ✶✳ ❙♦✐❡♥t A,B ∈ K ❡t E(A,B) ❧✬❡♥s❡♠❜❧❡ ❞❡ ♣❧✉s ❤❛✉t✳ ❖♥ ♣♦s❡ ∆(E(A,B)) =
−(4A3 + 27B2)✳ ❆❧♦rs E(A,B) ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✐ ❡t s❡✉❧❡♠❡♥t s✐ ∆ 6= 0✳

❉é✜♥✐t✐♦♥ ✸✳ ❙♦✐t r = r1
r2
∈ Q ❡t N ∈ N✳ ❙✐ pgcd(N, r2) = 1 ♦♥ ❞✐t q✉❡ r s❡ ré❞✉✐t ♠♦❞✉❧♦ N ✳

❉❛♥s ❝❡ ❝❛s ♦♥ ♥♦t❡ r̃ = r̃1r̃2
−1 ∈ Z

NZ
♦ù r̃i ❞és✐❣♥❡ ❧❡ r❡st❡ ❞❡ ri ♠♦❞✉❧♦ N ✳

❉é✜♥✐t✐♦♥ ✹✳ ❙♦✐❡♥t A✱ B ∈ Q ❡t E(A,B) ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❛ss♦❝✐é❡✳ ❙♦✐t p ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r
t❡❧ q✉❡ A ❡t B s❡ ré❞✉✐s❡♥t ♠♦❞✉❧♦ p✳ ❖♥ ❞✐t q✉❡ E(A,B) ❛ ✉♥❡ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ p s✐
E(Ã, B̃) ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Fp✳ ❉❛♥s ❝❡ ❝❛s ♦♥ é❝r✐t E(A,B)/Fp ❛✉ ❧✐❡✉ ❞❡ E(Ã, B̃)✳

❘❡♠❛rq✉❡ ✷✳ E(A,B) ❛ ✉♥❡ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ t♦✉s ❧❡s ♥♦♠❜r❡s ♣r❡♠✐❡rs s❛✉❢ ✉♥ ❡♥s❡♠❜❧❡
✜♥✐ ✿ ❧❡s ❞✐✈✐s❡✉rs ❞❡s ❞é♥♦♠✐♥❛t❡✉rs ❞❡ A ❡t B ❛✐♥s✐ q✉❡ ❞✉ ♥✉♠ér❛t❡✉r ❡t ❞✉ ❞é♥♦♠✐♥❛t❡✉r ❞❡
∆(E(A,B))✳ ❊♥ ❡✛❡t✱ ♣♦✉r p ♣r❡♠✐❡r ∆(E(Ã, B̃)) ❡st é❣❛❧ à ❧❛ ré❞✉❝t✐♦♥ ❞❡ ∆(E(A,B)) ♠♦❞✉❧♦ p✳

❉é✜♥✐t✐♦♥ ✺✳ ❙♦✐❡♥t A✱ B ∈ Q ❡t E(A,B) ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❛ss♦❝✐é❡✳ ❙♦✐t N ∈ N✱ N ≥ 2✳ ❖♥
❞✐t q✉❡ E(A,B) s❡ ré❞✉✐t ♠♦❞✉❧♦ N s✐ E(A,B) s❡ ré❞✉✐t ♠♦❞✉❧♦ p ♣♦✉r t♦✉t ❞✐✈✐s❡✉r ♣r❡♠✐❡r p ❞❡
N ✳

❘❡♠❛rq✉❡ ✸✳ P♦✉r ✈ér✐✜❡r q✉❡ E(A,B) ❛ ✉♥❡ ❜♦♥♥❡ ré❞✉❝t✐♦♥ ♠♦❞✉❧♦ N ♦♥ ♥✬❛ ♣❛s ❜❡s♦✐♥ ❞❡
❝♦♥♥❛îtr❡ ❧❛ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ N ✳

❏✉st✐✜❝❛t✐♦♥ ❖♥ ♥♦t❡ A = An

Ad
✱ B = Bn

Bd
❡t ∆(E(A,B)) = ∆n

∆d
✳ ❆❧♦rs E(A,B) s❡ ré❞✉✐t ♠♦❞✉❧♦ N

s✐ ❛✉❝✉♥ ❞✐✈✐s❡✉r ♣r❡♠✐❡r ❞❡N ♥❡ ❞✐✈✐s❡Ad·Bd·∆n·∆d✳ ❖r ❝❡❧❛ éq✉✐✈❛✉t à pgcd(AdBd∆d∆n, N) = 1✳

Pr♦♣♦s✐t✐♦♥ ✶✳ ■❧ ❡①✐st❡ ✉♥❡ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❛❜é❧✐❡♥ s✉r E(A,B)✱ ♥♦té❡ ❛❞❞✐t✐✈❡♠❡♥t✱ t❡❧❧❡ q✉❡ ✿

✶✳ ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ P3(X3 : Y3 : Z3) = P1(X1 : Y1 : Z1) + P2(X2 : Y2 : Z2) s♦♥t ❞❡s ♣♦❧②♥ô♠❡s
❞❛♥s ❧❡s ❝♦❡✣❝✐❡♥ts ❞❡ P1 ❡t P2 ❀

✷✳ −P (x : y : z) = P ′(x : −y : z) ❀

✸✳ ❧❡ s❡✉❧ ♣♦✐♥t ❞❡ ❧❛ ❞r♦✐t❡ {Z = 0} s✉r ❧❛ ❝♦✉r❜❡ ❡st ❧✬é❧é♠❡♥t ♥❡✉tr❡✱ (0 : 1 : 0)✳

❉é♠♦♥str❛t✐♦♥✳ ❱♦✐r ❧✬❛♥♥❡①❡ ♣♦✉r ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡✳ ▲❡s ❛①✐♦♠❡s ❞✉ ❣r♦✉♣❡ ❛❜é❧✐❡♥
s❡ ✈ér✐✜❡♥t ❢❛❝✐❧❡♠❡♥t s❛✉❢ ❧✬❛ss♦❝✐❛t✐✈✐té✱ ♣♦✉r ❧❛q✉❡❧❧❡ ♦♥ r❡♥✈♦✐❡ à ❬❙✐❧✽✻❪✳

❘❡♠❛rq✉❡ ✹✳ ▼✐s à ♣❛rt ❧✬é❧é♠❡♥t ♥❡✉tr❡ q✉✬♦♥ ♥♦t❡ O✱ t♦✉s ❧❡s ♣♦✐♥ts ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡
♦♥t ✉♥ r❡♣rés❡♥t❛♥t ❞✉ t②♣❡ (x, y, 1)✳ ❈❡s ♣♦✐♥ts s♦♥t ❞✐ts ❛✣♥❡s✱ ♥♦té ❛❜✉s✐✈❡♠❡♥t P (x, y) ∈ E ❡t
❝❛r❛❝tér✐sés ♣❛r y2 = x3 +Ax+B✳

❈♦r♦❧❧❛✐r❡ ✶✳ ❙♦✐❡♥t N ∈ N ❡t A,B ∈ Q t❡❧s q✉❡ pgcd(N,∆(E(A,B))) = 1✳ ❙♦✐❡♥t 0 ≤ a, b, c < N
t❡❧s q✉❡ a3 +Aac2 +Bc3 − b2c = 0 ♠♦❞✉❧♦ N ✳ ❆❧♦rs ✿

{p ♣r❡♠✐❡r ❞✐✈✐s❡✉r ❞❡ pgcd(c,N)} = {p ♣r❡♠✐❡r ❞✐✈✐s❡✉r ❞❡ N/(ã, b̃, c̃) = O ∈ E(A,B)/Fp}.

✷



❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t p ♣r❡♠✐❡r t❡❧ q✉❡ p | pgcd(c,N)✳ ❈♦♠♠❡ p | N ❡t N | (a3 +Aac2 +Bc3− b2c)✱
♦♥ ❛ (ã, b̃, c̃) ∈ E(A,B)/Fp✳ ❈♦♠♠❡ p | c✱ (ã : b̃ : c̃) ∈ {(x : y : z) ∈ P2(Fp)/z = 0}✳ P❛r (iii) ❞❡ ❧❛
♣r♦♣♦s✐t✐♦♥ ✶✱ (ã : b̃ : c̃) = O✳
❘é❝✐♣r♦q✉❡♠❡♥t✱ s♦✐t p ♣r❡♠✐❡r ❞✐✈✐s❡✉r ❞❡ N t❡❧ q✉❡ (ã : b̃ : c̃) = O ∈ E(A,B)/Fp✳ ❆❧♦rs c̃ = 0✱
❞♦♥❝ p | c✳ ❖r p | N ✱ ❞♦♥❝ p ∈ {p ♣r❡♠✐❡r /p | pgcd(c,N)}✳

❆♣♣❧✐❝❛t✐♦♥ ✶✳ ❙♦✐t E(A,B) ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Q✳ ❖♥ s✉♣♣♦s❡ ❝♦♥♥✉ N ∈ N t❡❧ q✉❡ E(A,B)
s❡ ré❞✉✐t ♠♦❞✉❧♦ N ✳ ❖♥ ♥♦t❡ p ✉♥ ❞✐✈✐s❡✉r ♣r❡♠✐❡r ❞❡ N q✉✬♦♥ ✈❡✉t tr♦✉✈❡r✳ ❆❧♦rs ♦♥ ♣❡✉t ❝❛❧❝✉❧❡r
❞❛♥s ❧❡ ❣r♦✉♣❡ E(A,B)/Fp s❛♥s ❝♦♥♥❛îtr❡ p✳

❏✉st✐✜❝❛t✐♦♥

❬ét❛♣❡ ✶❪ ❖♥ r❡♣rés❡♥t❡ ❧❡s ♣♦✐♥ts ❞❡ E(A,B)/Fp ♣❛r ❞❡s é❧é♠❡♥ts ❞❡ Z3✳ ❆✐♥s✐ (a, b, c) ∈ Z3

r❡♣rés❡♥t❡ (ã : b̃ : c̃) ∈ E(A,B)/Fp✳ ❙♦✐❡♥t P1 ❡t P2 ∈ E(A,B)/Fp r❡♣rés❡♥tés r❡s♣❡❝t✐✈❡♠❡♥t
♣❛r (x1, y1, z1) ❡t (x2, y2, z2) ∈ Z3✳ ❖♥ ❛♣♣❧✐q✉❡ à (x1, y1, z1) ❡t (x2, y2, z2) ❧❡s ❢♦r♠✉❧❡s ❞❡ ❧❛
❧♦✐ ❞❡ ❣r♦✉♣❡✱ q✉✐ ❞é♣❡♥❞❡♥t ❞❡ A ❡t B✱ ♠❛✐s ♣❛s ❞❡ p✳ ◗✉❛♥❞ ♦♥ ❞♦✐t ❝♦♠♣❛r❡r P1 ❡t P2 ♦♥
❧❡ ❢❛✐t ♠♦❞✉❧♦ N ✱ ♠❛✐s ♦♥ t❡st❡ s✐ pgcd((x1 − x2)(y1 − y2)(x3 − y3), N) ✈❛✉t 1✳ ❖♥ ♦❜t✐❡♥t ✉♥
r❡♣rés❡♥t❛♥t ❞❡ P1 + P2 ❞❛♥s Z3 ❝❛r ❧❡s ❢♦r♠✉❧❡s s♦♥t ♣♦❧②♥♦♠✐❛❧❡s✱ ❞♦♥❝ ❧❡s ❡♥t✐❡rs q✉✬♦♥
❝❛❧❝✉❧❡ ♦♥t ❧❡s ❜♦♥s r❡st❡s ♠♦❞✉❧♦ p✳

❬ét❛♣❡ ✷❪ P♦✉r ❞❡s r❛✐s♦♥s ❞✬✐♠♣❧é♠❡♥t❛t✐♦♥ ♦♥ r❡♠♣❧❛❝❡ Z3 ♣❛r ( Z
NZ

)3✳ ❊♥ ❡✛❡t✱ ❝❡❧❛ ♥❡
❝❤❛♥❣❡ r✐❡♥ ❞✉ ♣♦✐♥t ❞❡ ✈✉❡ ♠❛t❤é♠❛t✐q✉❡ ❝❛r (a ♠♦❞ N) ♠♦❞ ♣ = a ♠♦❞ p✳ P❛r ❝♦♥tr❡ ❝❡❧❛
❛♠é❧✐♦r❡ ❧❡ t❡♠♣s ❞❡ ❝❛❧❝✉❧ ❝❛r ♦♥ tr❛✈❛✐❧ t♦✉❥♦✉rs ❛✈❡❝ ❞❡s ♥♦♠❜r❡s ≤ N ✳

❘❡♠❛rq✉❡ ✺✳ ❙✐ ♦♥ r❡♠♣❧❛❝❡ ❧❡ ❝♦r♣s K ❞❡ ❧❛ ❞é✜♥✐t✐♦♥ 2 ♣❛r Z
NZ

❛✈❡❝ N q✉❡❧❝♦♥q✉❡ ♦♥ ♦❜t✐❡♥t ✉♥
❡♥s❡♠❜❧❡✱ ♥♦té E( Z

NZ
)✳ ●é♥ér❛❧❡♠❡♥t E( Z

NZ
) ♥✬❡st ♣❛s ✉♥ ❣r♦✉♣❡ ❝❛r ♦♥ ♣❡✉t ❛✈♦✐r P1, P2 ∈ E( Z

NZ
)

❡t P1 +P2 ∈ Z
NZ

3 −E( Z
NZ

)✱ ♠ê♠❡ s✐ ❝❡ ❝❛s ♥✬❛rr✐✈❡ q✉❡ ♣♦✉r ✉♥❡ ♣r♦♣♦rt✐♦♥ ♥é❣❧✐❣❡❛❜❧❡ ❞❡ ❝♦✉♣❧❡s
P1, P2 ∈ E( Z

NZ
)✳ ❉❛♥s ❧❛ s✉✐t❡ ♦♥ ♥✬✉t✐❧✐s❡ ♣❛s ❧❛ str✉❝t✉r❡ ❞❡ E( Z

NZ
)✳ P❛r ❝♦♥tr❡ ♦♥ ❞✐t q✉✬♦♥ ❢❛✐t

❞❡s ❝❛❧❝✉❧s ❞❛♥s E( Z
NZ

) ❝♦♠♠❡ r❛❝❝♦✉r❝✐ ♣♦✉r ❞✐r❡ q✉✬♦♥ tr❛✈❛✐❧❧❡ ❞❛♥s E(Fp) ❛✈❡❝ ❞❡s r❡♣rés❡♥t❛♥ts
❞❡ ( Z

NZ
)3✳

❘❡♠❛rq✉❡ ✻✳ ❖♥ ✈♦✐t ♠❛✐♥t❡♥❛♥t q✉✬❡♥ ❢❛✐s❛♥t ❞❡s ❝❛❧❝✉❧s s✉r E(Fp) s❛♥s ❝♦♥♥❛îtr❡ p ♦♥ ♣❡✉t
❡s♣ér❡r ❞✬❛rr✐✈❡r s✉r O✱ ❛✉q✉❡❧ ❝❛s ♦♥ tr♦✉✈❡ ✉♥ ♠✉❧t✐♣❧❡ ❞❡ p q✉✐ ❞✐✛èr❡ ❣é♥ér❛❧❡♠❡♥t ❞❡ N ✳

◆♦t❛t✐♦♥ ✶✳

✶✳ ❙♦✐t E/K ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡t P ∈ E✳ ❖♥ ♣♦s❡ m ∗ P = P + ...+ P ♣♦✉r ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡
❞❡ E/K✳

✷✳ P♦✉r x ré❡❧✱ [x] ❞és✐❣♥❡ ❧❛ ♣❛rt✐❡ ❡♥t✐èr❡ ❞❡ x✳

✸✳ ❙♦✐t E/K ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❖♥ ♣♦s❡ E[m] = {P ∈ E(K)/m ∗ P = O}✳
✹✳ ❙♦✐t x > 2✳ ❖♥ ♣♦s❡ F (x) = {π ♣r❡♠✐❡r/π ≤ x}✳

✶✳✶✳✸ ▲✬❛❧❣♦r✐t❤♠❡ ✶

❬❉♦♥♥é❡s ❞✬❡♥tré❡❪ ✿ N ✱ B1 ❡t B2 t❡❧s q✉❡ pgcd(N, 6) = 1 ❡t ∄p, k t✳q✳ N = pk✳
❬❉♦♥♥é❡s ❞❡ s♦rt✐❡❪ ✿ ✉♥ ❢❛❝t❡✉r q 6= 1 ❞❡ N ♦✉ FAIL✳

❬♣ré❝❛❧❝✉❧ ❪ ❈❤♦✐s✐r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ E(A,B) s✉r Q ❛✉ ❤❛s❛r❞ ❛✐♥s✐ q✉✬✉♥ ♣♦✐♥t P0 = (x0 : y0 : 1) ∈
E(Q) ❞✬♦r❞r❡ ✐♥✜♥✐ ❞❡ t❡❧❧❡ s♦rt❡ q✉❡ E(A,B) ❡t P0 s❡ ré❞✉✐s❡♥t ♠♦❞✉❧♦ N ❀

✸



❬♣❤❛s❡ 1 ❪ ❈❛❧❝✉❧❡r Q := m ∗ P0 s✉r E( Z
NZ ) ♦ù m = Ππ∈F (B1)π

[logπB1]+1 ❀

❬♣❤❛s❡ 2 ❪ P♦✉r ❝❤❛q✉❡ π ♣r❡♠✐❡r✱ B1 ❁ π ≤ B2 ✿

❝❛❧❝✉❧❡r (xπ : yπ : zπ) = π ∗Q s✉r E( Z
NZ ) ❀

❝❛❧❝✉❧❡r q ← pgcd(N, zπ) ❀

s✐ q 6= 1✱ ❛✣❝❤❡r q ❡t ❛rrêt❡r ❀

❬♣♦st❝❛❧❝✉❧ ❪❆✣❝❤❡r FAIL✳

■❧ ❢❛✉t r❡♠❛rq✉❡r q✉✬♦♥ ♥✬❛rr✐✈❡ ❛✉ ♣♦st❝❛❧❝✉❧ q✉❡ s✐ ❧❡s ♣❤❛s❡s 1 ❡t 2 ♦♥t é❝❤♦✉é✳ ▲❡ ♣ré❝❛❧❝✉❧
♣r❡♥❞ ✉♥ t❡♠♣s ♥é❣❧✐❣❡❛❜❧❡ ❝❛r ♦♥ ❛ ❞❡s ❢♦r♠✉❧❡s ♣♦✉r ❣é♥ér❡r ❞❡s ❝♦✉r❜❡s ❞❡ r❛♥❣ ♥♦♥ ♥✉❧ s✉r Q✳
❉❡ ♣❧✉s✱ ❡♥ ♣r❛t✐q✉❡ ♦♥ ♥❡ ❞♦✐t ❡ss❛②❡r q✉✬✉♥❡ ♦✉ ❞❡✉① ❝♦✉r❜❡s ❝❛r Prob(pgcd(E(A,B), N) 6= 1 |
A,B ∈ Q) ❡st ♥é❣❧✐❣❡❛❜❧❡✳ ❊♥ ❡✛❡t Prob(pgcd(x,N) 6= 1 | x ∈ Q) = O( 1

p ) ♦ù p ❡st ❧❡ ♣❧✉s ♣❡t✐t
❞✐✈✐s❡✉r ♣r❡♠✐❡r ❞❡ N ✳

P♦✉rq✉♦✐ ❧✬❊❈▼ ♠❛r❝❤❡ ❄ ❙✉♣♣♦s♦♥s q✉❡ N ❛ ✉♥ ❢❛❝t❡✉r ♣r❡♠✐❡r p t❡❧ q✉❡ g := #E/Fp ❡st
(B1, B2)−❢r✐❛❜❧❡✳ ❆❧♦rs g = pe11 ...p

ek

k π0 ❛✈❡❝ pei
i ≤ B1 ❡t π0 = 1 ♦✉ B1 ≤ π0 ≤ B2✳ P❛r ❝♦♥séq✉❡♥t

m := Ππ∈F (B1)π
[logπB1]+1 ❡st ✉♥ ♠✉❧t✐♣❧❡ ❞❡ pe11 ...p

ek

k ✳ ❖♥ é❝r✐t m = λpe11 ...p
ek

k ✳ ▲♦rs ❞❡ ❧❛ ♣❤❛s❡ 2✱
♣♦✉r π = π0 ♦♥ ❛ π ∗ Q = (π ·m) ∗ P0 = (π · λ · pe11 · pe22 · ... · pek

k ) ∗ P0 = (λ · g) ∗ P0 = (0 : 1 : 0)
mod p✳ P❛r ❝♦♥séq✉❡♥t p | zπ ❡t ❛❧♦rs p | pgcd(N, zπ)✳ ❉♦♥❝ ❧❛ s♦rt✐❡ q = pgcd(N, zπ) ❞❡ ❊❈▼ ❡st
✉♥ ♠✉❧t✐♣❧❡ ❞❡ p✳

■❧ s❡ ♣❡✉t q✉❡ q s♦✐t ✉♥ ♠✉❧t✐♣❧❡ str✐❝t ❞❡ p✱ ✈♦✐r N ✳ ❙✐ ♦♥ ✈❡✉t tr♦✉✈❡r p ❛❧♦rs ♦♥ t❡st❡ ❧❛
♣r✐♠❛❧✐té ❞❡ q✱ ❛❧❣♦r✐t❤♠❡ q✉✐ ♣r❡♥❞ ✉♥ t❡♠♣s ♣♦❧②♥♦♠✐❛❧✱ ❞♦♥❝ ♥é❣❧✐❣❡❛❜❧❡ ♣❛r r❛♣♣♦rt à ❊❈▼✳ ❙✐
q ♥✬❡st ♣❛s ♣r❡♠✐❡r✱ ♦♥ r❡❝♦♠♠❡♥❝❡ ❊❈▼ ❛✈❡❝ ❞❡s ❜♦r♥❡s B1 ❡t B2 ♣❧✉s ♣❡t✐t❡s ♣♦✉r ❞✐✛ér❡♥t✐❡r
❧❡s ❢❛❝t❡✉rs ♣r❡♠✐❡rs ❞❡ N ✳

✶✳✶✳✹ ❈♦♠♣❧❡①✐té ❡t ❝❤♦✐① ❞❡ B1

❈♦♠♠❡ ❧✬❛❧❣♦r✐t❤♠❡ ♣❧✉s ❤❛✉t ♥✬❡st ♣❛s ❞ét❡r♠✐♥✐st❡✱ ✐❧ ♣❡✉t ♠ê♠❡ ❛rr✐✈❡r q✉✬♦♥ ❡ss❛✐❡ à ❧✬✐♥✜♥✐
s❛♥s s✉❝❝ès✱ ❞♦♥❝ ♦♥ ♥❡ ♣❛r❧❡ ♣❛s ❞❡ ❝♦♠♣❧❡①✐té ❛✉ ♣✐r❡ ❞❡ ❝❛s✳ P❛r ❝♦♥tr❡ ♦♥ ❞é✜♥✐t ❧❛ ❝♦♠♣❧❡①✐té
❡♥ ♠♦②❡♥♥❡ ♣❛r ✿ t❡♠♣s✭❛❧❣♦r✐t❤♠❡ ✶) · (◆♦♠❜r❡ ♠♦②❡♥ ❞✬✐tér❛t✐♦♥s)✳ ❖r ❞✬❛♣rès ✉♥ ❡①❡r❝✐❝❡ s✐♠♣❧❡
❞❡ ❧❛ t❤é♦r✐❡ ❞❡s ♣r♦❜❛❜✐❧✐tés✱ ✭♥♦♠❜r❡ ♠♦②❡♥ ❞✬✐tér❛t✐♦♥s) = 1

Prob(s✉❝❝ès ❞✉ ❛❧❣♦r✐t❤♠❡ ✶) ✳
❱♦②♦♥s ❞✬❛❜♦r❞ ❧❛ ❝♦♠♣❧❡①✐té ❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞❡ ♣❧✉s ❤❛✉t✳ ❉✬❛♣rès ❬❙❲✾✸❪✱ ❧❡ ♠❡✐❧❧❡✉r ❝❤♦✐①

♣♦✉r ❧❛ ❜♦r♥❡ B2 ❡st t❡❧ q✉❡ ❧❛ ♣❤❛s❡ 2 ♣r❡♥♥❡ ❧❡ ♠ê♠❡ t❡♠♣s q✉❡ ❧❛ ♣❤❛s❡ 1✱ ❞♦♥❝ ❧❛ ❞❡✉①✐è♠❡ ♣❛rt✐❡
❞❡ ❧✬❛❧❣♦r✐t❤♠❡ ♥❡ ❝❤❛♥❣❡ ♣❛s ❧❛ ❝♦♠♣❧❡①✐té✳ ❉❛♥s ❧❛ ♣❤❛s❡ 1 ♦♥ ✉t✐❧✐s❡ ❧✬❛❧❣♦r✐t❤♠❡ ❞✬❡①♣♦♥❡♥t✐❛✲
t✐♦♥ r❛♣✐❞❡ ♣♦✉r ❝❛❧❝✉❧❡r m ∗ P0✳ ❆✐♥s✐ ♦♥ ❛ log(m) ♦♣ér❛t✐♦♥s ❞❛♥s E( Z

NZ
)✳ ▲✬❛r✐t❤♠ét✐q✉❡ ❞❛♥s

E( Z
NZ

) ❛ ✉♥❡ ❝♦♠♣❧❡①✐té c(|N |) q✉✐ ♥❡ ❞é♣❡♥❞ ♣❛s ❞❡ p✳ ❖♥ ❛ log(m) = log(Ππ∈F (B1)π
[logπB1]+1)

= Σπ∈F (B1) log(π) · [ log(B1)
log(π) ] ∼ Σπ∈F (B1) log(B1) = #F (B1) · log(B1)✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ❞❡s

♥♦♠❜r❡s ♣r❡♠✐❡rs #F (B1) ∼ B1

log(B1)
✳ ❆✐♥s✐ log(m) ∼ log(B1) · B1

log(B1)
= B1✳ ❖♥ ❛ ❞♦♥❝

t❡♠♣s❛❧❣♦r✐t❤♠❡ ✶(p,N) ∼ c(N) ·B1.

P♦✉r ❝❛❧❝✉❧❡r Prob(s✉❝❝ès ❞✉ ❛❧❣♦r✐t❤♠❡ ✶)✱ ♦♥ ❛ ❜❡s♦✐♥ ❞❡ ❢❛✐r❡ ♣❧✉s✐❡✉r❡s ❤②♣♦t❤ès❡s q✉✐ s♦♥t
✈ér✐✜é❡s ❡①♣ér✐♠❡♥t❛❧❡♠❡♥t✳ ❊♥tr❡ ❛✉tr❡s✱ #E/Fp ❡st ✉♥ ♥♦♠❜r❡ ❛r❜✐tr❛✐r❡ ❞❛♥s ]p−2

√
p, p+2

√
p[

❡t Prob(x ❡st B1 − friable/ x ∈]p− 2
√
p, p+ 2

√
p[) = Prob(x ❡st B1 − friable/ x ∈]p2 ,

3p
2 [)✳ ❉♦♥❝

♦♥ ♥❡ ❝❛❧❝✉❧❡ q✉✬✉♥❡ ✈❛❧❡✉r ❤❡✉r✐st✐q✉❡ ❞❡ ❧❛ ❝♦♠♣❧❡①✐té✳ ❈✬❡st ❛✐♥s✐ q✉✬✐❧ ❡st ♠♦♥tré ❞❛♥s ❬❈P✵✵❪
q✉❡ Prob(#E/Fp ❡st B1−friable | E ❝♦✉r❜❡ s✉r Q) = u−u+o(u) ❛✈❡❝ u = ln p

lnB1
✳ ▲❡ ♠❡✐❧❧❡✉r B1 ❡st

❝❡❧✉✐ q✉✐ ♠✐♥✐♠✐s❡ ❧❛ ❝♦♠♣❧❡①✐té ❛✉ ❝❛s ♠♦②❡♥ ❝❡ q✉✐ éq✉✐✈❛✉t à ♠✐♥✐♠✐s❡r B1

Prob(B1)
✳ ❚♦✉t ❝❛❧❝✉❧

✹



❢❛✐t✱ ♦♥ tr♦✉✈❡ B1 = exp((
√

2
2 + o(1))

√

ln(p)lnln(p)) ❝❡ q✉✐ ♦✛r❡ ✉♥❡ ❜♦♥♥❡ ❛♣♣r♦①✐♠❛t✐♦♥ ❞❡ ❧❛
✈❛❧❡✉r ❡①♣ér✐♠❡♥t❛❧❡ ❞❡ B1✳ ❖♥ r❡♠❛rq✉❡ q✉✬♦♥ ❝❤♦✐s✐t B1 ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ t❛✐❧❧❡ ❛♥t✐❝✐♣é❡ ❞✉
❢❛❝t❡✉r ♣r❡♠✐❡r à tr♦✉✈❡r✳ ❆✈❡❝ ❝❡tt❡ ✈❛❧❡✉r ❞❡ B1 ♦♥ ❛ ✿

❈♦♠♣❧❡①✐té ❤❡✉r✐st✐q✉❡ECM (p,N) = c(N) · exp((
√

2 + o(1))
√

ln(p)lnln(p)).

✶✳✷ ❈♦♠♠❡♥t ❛♠é❧✐♦r❡r ❊❈▼❄

❖♥ ♣❡✉t ❛❝❝é❧ér❡r ❛✉ss✐ ❜✐❡♥ ❧❛ ♣❤❛s❡ 1 q✉❡ ❧❛ ♣❤❛s❡ 2✳ P♦✉r ❛♠é❧✐♦r❡r ❧❛ ♣❤❛s❡ 1 ♦♥ ♣❡✉t ✿

✶✳ r❡♥❞r❡ ❧❡s ♦♣ér❛t✐♦♥s ❞❛♥s ❧✬❛♥♥❡❛✉ Z
NZ

♣❧✉s r❛♣✐❞❡s✳ P♦✉r ❝❡❧❛ ♦♥ ✉t✐❧✐s❡ ❞❡s ♠ét❤♦❞❡s ❝♦♠♠❡
❝❡❧❧❡ ❞❡ ❑❛r❛ts✉❜❛ ♣♦✉r ❧❛ ♠✉❧t✐♣❧✐❝❛t✐♦♥ ❞❡s ♣♦❧②♥ô♠❡s✳ ▼❛✐s ♦♥ ♣❡✉t ❛✉ss✐ ♣r❡♥❞r❡ ✉♥❡
❢❛♠✐❧❧❡ s♣é❝✐❛❧❡ ❞❡ ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s ♦ù ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❛ ✉♥❡ ❡①♣r❡ss✐♦♥ s✐♠♣❧❡✳ P❛r ❡①❡♠♣❧❡✱
♦♥ ✉t✐❧✐s❡ ❢réq✉❡♠♠❡♥t ❧❡s ❝♦✉r❜❡s ❞❡Montgomery ✿ by2 = x3 +ax2 +x ❛✈❡❝ b 6= 0 ❡t a 6= ±2✳

✷✳ ❝❤♦✐s✐r ❞❡s ❝♦✉r❜❡s q✉✐ ♦♥t ✉♥ ❣r❛♥❞ s♦✉s✲❣r♦✉♣❡ ❞❡ t♦rs✐♦♥ T s✉r Q✳ ❊♥ ❡✛❡t✱ ❧❡ t❤é♦rè♠❡
1 é♥♦♥❝é ♣❧✉s ❧♦✐♥ ❞❛♥s ❧❡ r❛♣♣♦rt ♠♦♥tr❡ q✉❡ ♣♦✉r t♦✉t p ♣r❡♠✐❡r s❛✉❢ ✉♥ ❡♥s❡♠❜❧❡ ✜♥✐
T ⊂ E/Fp✱ ❞♦♥❝ #E/Fp ❡st ✉♥ ♠✉❧t✐♣❧❡ ❞❡ #T ✳ ❉❡ ♣❧✉s✱ ♦♥ ✈♦✐t ❤❡✉r✐st✐q✉❡♠❡♥t q✉❡ #E/Fp
s❡ ❝♦♠♣♦rt❡ ❝♦♠♠❡ ✉♥ ❡♥t✐❡r ❛❧é❛t♦✐r❡ ❞❡ #T ❞❛♥s ❧✬✐♥t❡r✈❛❧❧❡ ]p − 2

√
p, p + 2

√
p[✳ ❆✐♥s✐✱

Prob(#E/Fp ❡st B1✲❢r✐❛❜❧❡✮❂ Pr♦❜✭x ∈]
p−2

√
p

#T ,
p+2

√
p

#T [ ❡st B1✲❢r✐❛❜❧❡✮✳ ❖♥ ❛✉❣♠❡♥t❡ ❞♦♥❝ ❧❛
♣r♦❜❛❜✐❧✐té ❞❡ s✉❝❝ès ❡t ❞✐♠✐♥✉❡ ❛ ❢♦rt✐♦r✐ ❧❡ ♥♦♠❜r❡ ♠♦②❡♥ ❞✬❡ss❛✐s✳ ❉♦♥❝ ♦♥ ❛❝❝é❧èr❡ ❊❈▼✳

❆✜♥ ❞❡ ❝ré❡r ❞❡s ❝♦✉r❜❡s à ❣r❛♥❞❡ t♦rs✐♦♥✱ ♦♥ ❛ ❝réé ❞❡s ❢❛♠✐❧❧❡s ✐♥✜♥✐❡s q✉✐ ❛ss✉r❡♥t ✉♥❡ ❝❡rt❛✐♥❡
t♦rs✐♦♥✳ P❛r ❡①❡♠♣❧❡ ❧❡s ❝♦✉r❜❡s s♦✉s ❢♦r♠❡ ❞❡ ▼♦♥t❣♦♠❡r② ✐✳❡✳ by2 = x3 + ax2 + x ❣❛r❛♥t✐ss❡♥t
q✉❡ #(E/Fp)[4] ≥ 4 ♣♦✉r t♦✉t p ✳ ❊♥s✉✐t❡ P❡t❡r ▼♦♥t❣♦♠❡r② ❛ ❞♦♥♥é ❞❛♥s s❛ t❤ès❡ ❞❡ ❞♦❝t♦r❛t
❞❡✉① ❢❛♠✐❧❧❡s ✐♥✜♥✐❡s✱ ❛✈❡❝ 12✱ r❡s♣❡❝t✐✈❡♠❡♥t 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ r❛t✐♦♥♥❡❧s ❡t ✉♥ ♣♦✐♥t r❛t✐♦♥♥❡❧
❞✬♦r❞r❡ ✐♥✜♥✐✳ ❈❡s ❞❡✉① ❢❛♠✐❧❧❡s✱ q✉✬♦♥ ✈❛ ❛♣♣❡❧❡r Montgomery 12 ❡t Montgomery 16 ♦♥t été ♣❡✉
✉t✐❧✐sé❡s à ❝❛✉s❡ ❞✉ ❢❛✐t q✉✬❡❧❧❡s ❞❡♠❛♥❞❡♥t ✉♥ ♣ré❝❛❧❝✉❧ ❛✈❛♥t ❞❡ ❧❛♥❝❡r ❧❛ ♣❤❛s❡ 1 ❞❡ ❊❈▼✳ ➚
❧❡✉r ♣❧❛❝❡ ♦♥ ❛ ✉t✐❧✐sé ❧❛ ♣❛r❛♠étr✐s❛t✐♦♥ ❞❡ ❙✉②❛♠❛ q✉✐ ❛ss✉r❡ 6 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ r❛t✐♦♥♥❡❧s✱ ✉♥
♣♦✐♥t ❞✬♦r❞r❡ ✐♥✜♥✐ ❡t 12 ♣♦✐♥ts ❞❛♥s #(E/Fp)[12] ♣♦✉r t♦✉t p✳ ❖♥ ♦❜t✐❡♥t ✉♥❡ ❝♦✉r❜❡ ❞❡ ❧❛ ❢❛♠✐❧❧❡
Suyama ❡♥ s✉✐✈❛♥t ❧❛ r❡❝❡tt❡ ✿ ♣r❡♥❞r❡ σ ∈ Q ❛r❜✐tr❛✐r❡✱ ♣✉✐s ❝❛❧❝✉❧❡r u = σ2− 5✱ v = 4σ✱ x0 = u3✱

z0 = v3✱ a = (v−u)3(3u−v)
4u3v − 2 ❡t b = u/z0✳ ❱♦✐❝✐ ♣❧✉s ❜❛s ✉♥ ❞✐❛❣r❛♠♠❡ ❞❡s ❢❛♠✐❧❧❡s ❝♦♥♥✉❡s

à ♣rés❡♥t ❡♥ ♣ré❝✐s❛♥t q✉❡ Suyama 11 ❡t Suyama 9/4 s❡r♦♥t ❞é✜♥✐❡s ♣❧✉s t❛r❞ ❞❛♥s ❝❡ r❛♣♣♦rt✳

✺



✷ ❖✉t✐❧s t❤é♦r✐q✉❡s

✷✳✶ ❘és✉❧t❛ts ❣é♥ér❛✉①

❚❤é♦rè♠❡ ✶✳ ❙♦✐t E(A,B) ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Q ❡t p t❡❧ q✉❡ E(A,B) s❡ ré❞✉✐t ❜✐❡♥ ♠♦❞✉❧♦
p ❡t m ∈ N t❡❧ q✉❡ p ∤ m✳ ❆❧♦rs ❧❡s ♣♦✐♥ts ❞❡ {P ∈ E(A,B)/Q | ordre(P ) = m} ♦♥t ❞❡s ✐♠❛❣❡s
❞✐st✐♥❝t❡s ❞❛♥s E/Fp✳

❉é♠♦♥str❛t✐♦♥✳ ❖♥ ✉t✐❧✐s❡ ❧❡ ❧❡♠♠❡ ❞❡ ❍❡♥s❡❧✳ P♦✉r ✉♥❡ ♣r❡✉✈❡ ❞ét❛✐❧❧é❡ ❡t ❣é♥ér❛❧❡✱ ✈♦✐r ❧❡ t❤é♦✲
rè♠❡ ❈✳✶✳✹✱ ♣❛❣❡ ✷✻✸ ❞❡ ❬❍❙✵✵❪✳

❚❤é♦rè♠❡ ✷✳ ✭▼❛③✉r✮ ❙♦✐t E/Q ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❆❧♦rs ❧❡ s♦✉s✲❣r♦✉♣❡ ❞❡ t♦rs✐♦♥ Etorsion
❡st ✐s♦♠♦r♣❤❡ à ✉♥ ❞❡s ❣r♦✉♣❡s ✿

Z
NZ

❀ 1 ≤ N ≤ 10 ♦✉ N = 12,

Z
2Z
× Z

2NZ
❀ 1 ≤ N ≤ 4.

❉é♠♦♥str❛t✐♦♥✳ ❱♦✐r ❬▼❛③✼✼❪✳

❚❤é♦rè♠❡ ✸✳ ❙♦✐t K ✉♥ ❝♦r♣s ❡t E/K ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❙♦✐tm ∈ N✱m ≥ 2 t❡❧ q✉❡ car(K) ∤ m✳
❆❧♦rs

E[m] ≃ Z
mZ
× Z
mZ

.

❉é♠♦♥str❛t✐♦♥✳ ❱♦✐r ❬❍❙✵✵❪ ❝❤ 6.4✳

❚❤é♦rè♠❡ ✹✳ ✭▼♦r❞❡❧❧✲❲❡✐❧✮ ❙♦✐t E/Q ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥ ❡♥t✐❡r ♥❛t✉r❡❧ k✱
❛♣♣❡❧é r❛♥❣ ❞❡ E✱ t❡❧ q✉❡

E ≃ Etorsion × Zk.

❘❡♠❛rq✉❡ ✼✳ ■❧ ♥✬❡①✐st❡ ♣❛s ❞✬❛❧❣♦r✐t❤♠❡ q✉✐ ♣❡r♠❡tt❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡ r❛♥❣ ❞❡ t♦✉t❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳
❚♦✉t❡❢♦✐s✱ ▼❆●▼❆ ♦✛r❡ ✉♥❡ ❢♦♥❝t✐♦♥ q✉✐ ❞♦♥♥❡ ❧❡ ❜♦♥ rés✉❧t❛t ❞❛♥s ❧❛ ♣❧✉♣❛rt ❞❡s ❝❛s ❡t ❛♥♥♦♥❝❡
✉♥❡ ♠✐♥♦r❛t✐♦♥ ❞✉ r❛♥❣ ❡♥ ❝❛s ❞✬é❝❤❡❝✳

✷✳✷ P♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥

❙♦✐t P (x, y) ✉♥ ♣♦✐♥t s✉r ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r ✉♥ ❝♦r♣s K✱ E : Y 2 = X3 +AX+B ❡t m ∈ N✳
❖♥ r❡♠❛rq✉❡ q✉❡ ❧❡s ❝♦♦r❞♦♥♥é❡s x′ ❡t y′ ❞❡ m ∗ P s♦♥t ❞❡s ❢♦♥❝t✐♦♥s r❛t✐♦♥♥❡❧❧❡s ❞❡ x ❡t y✳ ❖♥
♣❡✉t ♠♦♥tr❡r q✉❡ (x′, y′) = ( θm(x,y)

ψm(x,y) ,
ωm(x,y)
ψm(x,y) ) ♦ù θm✱ ωm ❡t ψm ∈ K[X,Y ]✳ ❈❡ s♦♥t ❧❡s ♣♦❧②♥ô♠❡s

ψm q✉✐ ✈♦♥t s❡ ♠♦♥tr❡r ✉t✐❧❡s ❞❛♥s ❧✬ét✉❞❡ ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥✳

❉é✜♥✐t✐♦♥ ✻✳ ❙♦✐t E(A,B) ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r ✉♥ ❝♦r♣s K✳ ❖♥ ❛♣♣❡❧❧❡ ♣♦❧②♥ô♠❡s ψm ❧❛
s✉✐t❡ ❝✐✲❞❡ss♦✉s ❞✬é❧é♠❡♥ts ❞❡ K[X,Y ] ✿































ψ0 = 0

ψ1 = 1

ψ2 = 2Y

ψ3 = 3X4 + 6AX3 + 12BX −A2

ψ4 = 4Y (X6 + 5AX4 + 20BX3 − 5A2X2 − 4ABX − 8B2 −A3)

✻



❊♥s✉✐t❡ ✿
{

ψ2m+1 = ψm+2ψ
3
m − ψm−1ψ

3
m+1✱ m ≥ 2

ψ2m = 1
ψ2

(ψm+2ψ
2
m−1 − ψm−2ψ

2
m+1)✱ m > 3

❱✉ q✉✬♦♥ ♥✬é✈❛❧✉❡ ❧❡s ♣♦❧②♥ô♠❡s ψm q✉❡ ❞❛♥s ❞❡s ♣♦✐♥ts s✉r ❧❛ ❝♦✉r❜❡✱ ♦♥ ♣❡✉t s✐♠♣❧✐✜❡r
❧❡s ♣♦❧②♥ô♠❡s✳ ❊♥ ❡✛❡t✱ ♦♥ ♠♦♥tr❡ ♣❛r ré❝✉rr❡♥❝❡ ∀m ∈ N ψ2m+1(X,Y ) ∈ K[X] ⊂ K[X,Y ] ❡t
ψ2m(X,Y ) ∈ Y K[X] ⊂ K[X,Y ]✳

❉é✜♥✐t✐♦♥ ✼✳ ❙♦✐t E : Y 2 = X3 +AX+B ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❖♥ ❛♣♣❡❧❧❡ ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥

❞❡ E ❧❡s ♣♦❧②♥ô♠❡s ❞❡ K[X] ✿

{

P2m+1 = ψ2m+1

P2m = (X3 +AX +B) · ψ2m(X,Y )/(2Y ).

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t é♥♦♥❝❡r ✉♥ t❤é♦rè♠❡ q✉✐ s❡ ❞é♠♦♥tr❡ ♣❛r ❝❛❧❝✉❧ ❞✐r❡❝t ✿

❚❤é♦rè♠❡ ✺✳ ❙♦✐t P (x, y) ✉♥ ♣♦✐♥t ♥♦♥ ♥✉❧ s✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ E ❞é✜♥✐❡ s✉r ✉♥ ❝♦r♣s
q✉❡❧❝♦♥q✉❡✳ ❆❧♦rs ♦♥ ❛ ♣♦✉r t♦✉t m ∈ N

Pm(x) = 0 ⇐⇒ ψm(x, y) = 0 ⇐⇒ m ∗ P = O.

❘❡♠❛rq✉❡ ✽✳ ❖♥ ♣❡✉t ❝❛❧❝✉❧❡r ❧❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥ à ❧✬❛✐❞❡ ❞❡ ❧❛ ❢♦♥❝t✐♦♥
❉✐✈✐s✐♦♥P♦❧②♥♦♠✐❛❧✭❊✱♠✮ ❞❡ MAGMA✳

❘❡♠❛rq✉❡ ✾✳ ▲❡s ❝♦✉r❜❡s s♦✉s ❢♦r♠❡ ❞❡ Montgomery ♦♥t ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥ ♣❧✉s s✐♠♣❧❡s
q✉❡ ❧❡s ❝♦✉r❜❡s ❣é♥ér✐q✉❡s✳ ❖♥ s❡ ♣❧❛❝❡ ❡♥ ❝♦♦r❞♦♥♥é❡s ❞❡ Montgomery ✿ x = 3bX−a

3 ✱ y = bY ✳
●râ❝❡ ❛✉① ❢♦r♠✉❧❡s ❞❡ ♣❛ss❛❣❡ ❞❡ ❧❛ ❢♦r♠❡ ❞❡ by2 = x3 + ax2 + x à ❧❛ ❢♦r♠❡ Y 2 = X3 +AX +B ✿

A = 3−a2

3b2 ❡t B = 2/9a3−a
3b3 ✳ ❖♥ ❛ ❛❧♦rs

P2 = x(x2 + ax+ 1)
P3 = x4 + 4

3ax
3 + 2x2 − 1

3
P4 = P2(x− 1)(x+ 1)(x4 + 2ax3 + 6x2 + 2ax+ 1)
P8 = P4(x

4 − 4x3 + (−4a− 2)x2 − 4x+ 1)(x4 + 4x3 + (4a− 2)x2 + 4x+ 1)Preste

♦ù Preste ❡st ✉♥ ♣♦❧②♥ô♠❡ ❞❡ ❞❡❣ré 16✳

❘❡♠❛rq✉❡ ✶✵✳ ❖♥ ♣❡✉t ♠♦♥tr❡r ♣❛r ré❝✉rr❡♥❝❡ q✉❡ deg(P2m+1) = (2m+1)2−1
2 ✳ ❈❡❧❛ ❝♦rr♦❜♦r❡ ❛✈❡❝

❧❡ t❤é♦rè♠❡ ❝✐✲❞❡ss✉s ❝❛r #E[2m + 1] = (2m + 1)2 ❡t ❝❤❛q✉❡ r❛❝✐♥❡ ❞❡ P2m+1 ❡st ❧❛ ❝♦♦r❞♦♥♥é❡
X ❞✬❡①❛❝t❡♠❡♥t ❞❡✉① ♣♦✐♥ts ❞❡ E[2m + 1] − O ✿ (X,Y ) ❡t (X,−Y )✳ ❉❡ ♠ê♠❡✱ ♦♥ ❛ deg(P2m) =
(2m)2−4

2 +3✳ ❊♥ ❡✛❡t✱ E[2m] ❝♦♥t✐❡♥t (2m)2− 4 ♣♦✐♥ts ❛✉tr❡s q✉❡ ❝❡✉① ❞❡ E[2]✳ ❈❡s ♣♦✐♥ts ❢♦r♠❡♥t

❞❡s ♣❛✐r❡s q✉✐ ♣❛rt❛❣❡s ✉♥ ♠ê♠❡ X✳ ❊♥ t♦✉t (2m)2−4
2 r❛❝✐♥❡s ❞❡ P2m q✉✐ ❞♦♥♥❡♥t ❞❡s ♣♦✐♥ts ❞❡

E[2m]− E[2]✳ ■❧ r❡st❡ 3 r❛❝✐♥❡s q✉✐ ❝♦rr❡s♣♦♥❞❡♥t ❛✉① ♣♦✐♥ts ❞❡ E[2]−O✳
❉é✜♥✐t✐♦♥ ✽✳ ❙♦✐t K ✉♥ ❝♦r♣s ❡t P ∈ K[X]✳ ❖♥ r❡❣r♦✉♣❡ ♣❛r ❞❡❣ré ❧❡s ❢❛❝t❡✉rs ✐rré❞✉❝t✐❜❧❡s ❞❡
P ❡t ♦♥ ♥♦t❡ ni ❧❡ ♥♦♠❜r❡ ❞❡ ❢❛❝t❡✉rs ❞❡ ❞❡❣ré di✳ ❆❧♦rs ♦♥ ❛♣♣❡❧❧❡ ♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ P
❧✬❡♥s❡♠❜❧❡ {(d1, n1), (d2, n2), ..., (dk, nk)}✳
❘❡♠❛rq✉❡ ✶✶✳ ❙♦✐t ❑ ✉♥ ❝♦r♣s✳ ❙♦✐❡♥t m, k ∈ N t❡❧s q✉❡ carK ∤ m · k ❡t E/K ✉♥❡ ❝♦✉r❜❡
❡❧❧✐♣t✐q✉❡✳ ❖♥ r❡♠❛rq✉❡ q✉❡ E[m] ⊂ E[k ·m]✳ ❆❧♦rs✱ ❣râ❝❡ ❛✉ t❤é♦rè♠❡ ✺✱ t♦✉t❡ r❛❝✐♥❡ ❞❡ Pm ❡st
r❛❝✐♥❡ ❞❡ Pkm✳ ❈♦♠♠❡✱ ❞❡ ♣❧✉s ❧❡s r❛❝✐♥❡s ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥ s♦♥t s✐♠♣❧❡s✱ ♦♥ ❛ Pm | Pkm✳
P❛r ❝♦♥séq✉❡♥t

ppcm{Pd/ d | n, d 6= n} | Pn.

✼



◆♦t❛t✐♦♥ ✷✳ ❖♥ ♣♦s❡ Pnewn = Pn

ppcm{Pd/ d|n, d 6=n} ∈ K[X]✳

❘❡♠❛rq✉❡ ✶✷✳ P♦✉r ✉♥ n ♥❛t✉r❡❧✱ Pn ♣❡✉t ♥❡ ♣❛s ❛✈♦✐r ❞✬❛✉tr❡ ❢❛❝t❡✉r ✐rré❞✉❝t✐❜❧❡ q✉❡ ❝❡✉①
q✉✐ s♦♥t é✈✐❞❡♥ts ✿ {Pnewd / d ❞✐✈✐s❡ n}✳ ❖♥ t❡st❡ ❝❡❧❛ à ❧✬❛✐❞❡ ❞❡ Sage ♣♦✉r K = Q ❡t E : Y 2 =
X3 + 11X + 13✳ ❱♦✐❝✐ ❞❛♥s ❧❡ t❛❜❧❡❛✉ s✉✐✈❛♥t ❧❡s ♠♦t✐❢s ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥
❞❡ E✳

P2 [(3, 1)] Pnew2 [(3, 1)]
P3 [(4, 1)] Pnew3 [(4, 1)]
P4 [(3, 1), (6, 1)] Pnew4 [(6, 1)]
P5 [(12, 1)] Pnew5 [(12, 1)]
P6 [(3, 1), (4, 1), (12, 1)] Pnew6 [(12, 1)]
P7 [(24, 1] Pnew7 [(24, 1]
P8 [(3, 1), (6, 1), (24, 1)] Pnew8 [(24, 1]

✸ P❛r❛♠étr✐s❛t✐♦♥ ❞❡ ❙✉②❛♠❛

✸✳✶ ❈♦♠♠❡♥t ❧❛ r❡tr♦✉✈❡r

◗✉❡❧q✉❡s ♠♦✐s ❛♣rès ❧❛ ♣✉❜❧✐❝❛t✐♦♥ ❞❡ ❧❛ ❢♦r♠❡ ❞❡ Montgomery✱ ❍✐r♦♠✐ ❙✉②❛♠❛ ❛ ❛♥♥♦♥❝é
❞❛♥s ❬❙✉②❪ s❛ ♣❛r❛♠étr✐s❛t✐♦♥ ❞é❝r✐t❡ ❞❛♥s ✶✳✷✳ ❈♦♠♠❡ ❙✉②❛♠❛ ♥✬❛ ❥❛♠❛✐s ♣✉❜❧✐é✱ s❛ ♠ét❤♦❞❡ ❡st
r❡sté❡ ✐♥❝♦♥♥✉❡ ❝❡ q✉✐ ❛ r❡t❛r❞é ❧✬❛♠é❧✐♦r❛t✐♦♥ ❞❡ s❛ ❢❛♠✐❧❧❡✳ ❈✬❡st ♣♦✉r ❝❡tt❡ r❛✐s♦♥ q✉✬♦♥ ❞♦♥♥❡
✉♥❡ ♠ét❤♦❞❡ ❞ét❛✐❧❧é❡ ♣♦✉r r❡tr♦✉✈❡r ❧❛ ♣❛r❛♠étr✐s❛t✐♦♥ ❞❡ ❙✉②❛♠❛✳

❖♥ ❝❤❡r❝❤❡ ❞❡s ❝♦✉r❜❡s E(a, b) s♦✉s ❧❛ ❢♦r♠❡ ❞❡ ▼♦♥t❣♦♠❡r② ✐✳❡✳ by2 = x3 + ax2 + x q✉✐
♣♦ssè❞❡♥t ✿

✶✳ ✉♥ ♣♦✐♥t M3 = (x3, y3) ∈ Q×Q ❞✬♦r❞r❡ 3 ❀

✷✳ ✉♥ ♣♦✐♥t M∞ = (x∞, y∞) ∈ Q×Q ❞✬♦r❞r❡ ∞✳

❖♥ ❛ ✈✉ q✉❡ E(a, b) ❛ ❡①❛❝t❡♠❡♥t 8 ♣♦✐♥ts ❞❡ 3✲t♦rs✐♦♥ ♥♦♥ ♥✉❧s s✉r ❧❛ ❝❧ôt✉r❡ ❛❧❣é❜r✐q✉❡ ❞❡ Q✳ ■❧s
s♦♥t ❝❛r❛❝tér✐sés ♣❛r ❧❡s ❞❡✉① éq✉❛t✐♦♥s s✉✐✈❛♥t❡s✱ ♦ù P3 ❡st ❧❡ ♣♦❧②♥ô♠❡ ❞❡ 3✲❞✐✈✐s✐♦♥ ❞❡ ❧❛ ❝♦✉r❜❡✳

P3(x3) = x4
3 +

4

3
ax3

3 + 6x2
3 −

1

3
= 0, ✭✶✮

by2
3 = x3

3 + ax2
3 + x3. ✭✷✮

P♦✉r ❛✈♦✐r M3 ∈ Q×Q ♦♥ ✐♠♣♦s❡ q✉❡ (1) ❡t (2) ❛✐❡♥t ❞❡s s♦❧✉t✐♦♥s r❛t✐♦♥♥❡❧❧❡s✳ ❊♥s✉✐t❡ ♦♥ ✐♠♣♦s❡
à ❧❛ ❝♦✉r❜❡ ❞✬❛✈♦✐r ✉♥ ❛✉tr❡ ♣♦✐♥t r❛t✐♦♥♥❡❧ M∞(x∞, y∞) ❡t ♦♥ ✈ér✐✜❡ q✉✬✐❧ ♥✬❡st ♣❛s ❞❡ t♦rs✐♦♥✳ ❖♥
✐♠♣♦s❡ ❞♦♥❝ q✉❡ by2

∞ = x3
∞ + ax2

∞ + x∞ ❛✐t ❞❡s s♦❧✉t✐♦♥s r❛t✐♦♥♥❡❧❧❡s✳ ❯♥❡ éq✉❛t✐♦♥ éq✉✐✈❛❧❡♥t❡
♠❛✐s q✉✐ s✐♠♣❧✐✜❡ ❧❡s ❝❛❧❝✉❧s ❡st ♦❜t❡♥✉❡ ❛✈❡❝ ❧❛ ♥♦t❛t✐♦♥ k := y3/y∞ ✿

∃k ∈ Q. x3
3 + ax2

3 + x3 = k2(x3
∞ + ax2

∞ + x∞). ✭✸✮

P♦✉r s✬❛ss✉r❡r q✉❡ M∞ ♥✬❡st ♣❛s ❞❡ t♦rs✐♦♥ ✐❧ s✉✣t ❞❡ ✈ér✐✜❡r q✉✬✐❧ ♥✬❡st ♣❛s ❞❡ k−t♦rs✐♦♥ ❛✈❡❝
k ≤ 16 ❣râ❝❡ ❛✉ t❤é♦rè♠❡ ❞❡ ▼❛③✉r✳ ❖♥ ✈❛ ❞♦♥❝ é❧✐♠✐♥❡r ❧❡s s♦❧✉t✐♦♥s ♦ù x∞ ❛♥♥✉❧❡ ❧❡ ♣♦❧②♥ô♠❡
P2 · P3 · ... · P16✳

❖♥ ❛ r❛♠❡♥é ♥♦tr❡ ♣r♦❜❧è♠❡ à ❧❛ rés♦❧✉t✐♦♥ ❞✬✉♥ s②stè♠❡ ♣♦❧②♥♦♠✐❛❧✱ {(1), (2), (3)}✳ ❆✈❛♥t
t♦✉t ❝❛❧❝✉❧✱ ♦♥ ❛♥❛❧②s❡ ❧❡ s②stè♠❡✳ ❖♥ r❡♠❛rq✉❡ q✉❡ ❧❡s ✐♥❝♦♥♥✉❡s b ❡t y3 ♥✬❛♣♣❛r❛✐ss❡♥t q✉❡ ❞❛♥s

✽



❧✬éq✉❛t✐♦♥ (2) ♦ù ❡❧❧❡ ♥✬✐♠♣♦s❡ ♣❛s ✈r❛✐♠❡♥t ❞❡ ❝♦♥❞✐t✐♦♥✳ ❊♥ ❡✛❡t ♦♥ ♣❡✉t t♦✉❥♦✉rs ♣♦s❡r ❧❛ ♣❛rt✐❡
❝❛rré❡ ❞❡ x3(x

2
3 + ax3 + x3) é❣❛❧❡ à y2

3 ❡t ❧❡ r❡st❡ é❣❛❧ à b✳ ❖♥ r❡♥♦♥❝❡ ❛❧♦rs à ❧✬éq✉❛t✐♦♥ (2)✳ ❖♥ ❛
♠❛✐♥t❡♥❛♥t 2 éq✉❛t✐♦♥s✱ {(1), (3)} ❡t 4 ✐♥❝♦♥♥✉❡s✱ a, x3, x∞, k✳ ▼✐s à ♣❛rt ❞❡s é✈❡♥t✉❡❧s ♣♦✐♥ts ❞❡
s✐♥❣✉❧❛r✐té✱ ❧❡ s②stè♠❡ ❛ ✉♥❡ s✉r❢❛❝❡ ❞❡ s♦❧✉t✐♦♥s ré❡❧❧❡s✳ ■❧ r❡st❡ à ✈♦✐r ❝♦♠❜✐❡♥ ❞✬❡♥tr❡ ❡❧❧❡s s♦♥t
r❛t✐♦♥♥❡❧❧❡s✳

P♦✉r rés♦✉❞r❡ ❧❡ s②stè♠❡ ♦♥ ✉t✐❧✐s❡ (1) ♣♦✉r ❡①♣r✐♠❡r a ❡♥ ❢♦♥❝t✐♦♥ ❞❡ x3✳ ❖♥ r❡♠♣❧❛❝❡ a = a(x3)
❞❛♥s (3) ♣♦✉r ♦❜t❡♥✐r S(x3, x∞, k) := x3(x

2
3 + ax3 + 1) − k2x∞(x2

∞ + ax∞ + 1) = 0✳ ■❧ ♥✬❡①✐st❡
♣❛s ❞✬❛❧❣♦r✐t❤♠❡ ♣❡r❢♦r♠❛♥t q✉✐ tr♦✉✈❡ ❧❡s s♦❧✉t✐♦♥s r❛t✐♦♥♥❡❧❧❡s ❞✬✉♥❡ t❡❧❧❡ éq✉❛t✐♦♥✳ P❛r ❝♦♥tr❡
MAGMA ❝❛❧❝✉❧❡ t♦✉t❡s ❧❡s s♦❧✉t✐♦♥s r❛t✐♦♥♥❡❧❧❡s ❞❡ ❝❡rt❛✐♥❡s éq✉❛t✐♦♥s ❞✉ t②♣❡ C(x, y) = 0 ❛✈❡❝
C ✉♥ ♣♦❧②♥ô♠❡ à ❝♦❡✣❝✐❡♥ts r❛t✐♦♥♥❡❧s✳ ❖♥ ❞♦✐t ❞♦♥❝ ❛❥♦✉t❡r ✉♥❡ ♥♦✉✈❡❧❧❡ éq✉❛t✐♦♥ q✉✐tt❡ à
r❡str❡✐♥❞r❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡ s♦❧✉t✐♦♥s✳ P❧✉s✐❡✉rs ❝❤♦✐① s♦♥t ♣♦ss✐❜❧❡✱ ♠❛✐s ❧❡ ♠❡✐❧❧❡✉r ❝❤♦✐① s❡♠❜❧❡ ✿

x∞ = x3
3. ✭✹✮

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t rés♦✉❞r❡ ❧❡ s②stè♠❡ {(1), (3), (4)}✳ ❖♥ s♦rt a = a(x3) ❞❡ (1) ❡t x∞ = x∞(x3)
❞❡ (4) ❡t ♦♥ ❧❡s r❡♠♣❧❛❝❡ ❞❛♥s (3)✳ ❖♥ ♦❜t✐❡♥t C(x3, k) = 0 ❛✈❡❝ C = (x6

3+ax
3
3+1)−k2(x2

3+ax3+1)=
(x3−1)(x3 +1)(x4

3 + 5
4x

2
3− 1

4k
2)✳ P♦✉r x3 = ±1 ♦♥ ❛ x∞ = x3 ❝❡ q✉✐ ♥❡ ❝♦♥✈✐❡♥t ♣❛s ❝❛r M∞ s❡r❛✐t

✉♥ ♣♦✐♥t ❞❡ 3✲t♦rs✐♦♥✳ ■❧ r❡st❡ ❞♦♥❝ ❧✬éq✉❛t✐♦♥

x4
3 +

5

4
x2

3 −
1

4
k2 = 0. ✭✺✮

Maple9.5 ♣❛r❛♠étr✐s❡ ❧❡s s♦❧✉t✐♦♥ ❞❡ ❝❡tt❡ éq✉❛t✐♦♥ ♣❛r x3 = 5−σ2

4·σ ❡t k = 5
8 (σ

2

5 − 5
σ2 )✳

❖♥ ❛ r❡tr♦✉✈é ❧❛ ❢❛♠✐❧❧❡ ❞❡ ❙✉②❛♠❛✳ P♦✉r q✉✬❡❧❧❡ s♦✐t ✉t✐❧✐s❛❜❧❡ ♦♥ ❞♦✐t ❝❛❧❝✉❧❡r a✱ b✱ x∞ ❡t
y∞ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ σ✳ P♦✉r ❝❡❧❛ ♦♥ ♣♦s❡ u = σ2 − 5 ❡t v = 4σ✳ ❆✐♥s✐ x3 = u

v ✳ ❉❡ (1) ♦♥ ❛

a = −3
4
x4
3+2x2

3−1/3

x3
3

= −1
4

(3u+v)·(u−v)3
v·u3 ✳ ❉❡ (4) ♦♥ ❛ x∞ = x3

3 = u3

v3 ✳ ❉❡ (2) ♦♥ tr♦✉✈❡ b = b(x3) à ✉♥
❢❛❝t❡✉r ❝❛rré ♣rès✱ ❞♦♥❝ ✐❧ ❢❛✉t ❢❛✐r❡ ✉♥ ❝❤♦✐①✳ ❚♦✉t❡❢♦✐s ❡♥ ❝❤❛♥❣❡❛♥t b ❧❛ ❝♦✉r❜❡ s❡ tr❛♥s❢♦r♠❡ ❞❛♥s
✉♥❡ ❝♦✉r❜❡ ✐s♦♠♦r♣❤❡✱ ❞♦♥❝ ♦♥ ♣❡✉t ❢❛✐r❡ ❧❡ ❝❤♦✐① ❞❡ ❙✉②❛♠❛ s❛♥s r✐❡♥ ♣❡r❞r❡✳ ❖♥ ♣♦s❡ b = u

v3 ❡t

♦♥ ✈ér✐✜❡ q✉❡ x3
3+ax

2
3+x3

b ❡st ✉♥ ❝❛rré✳ ❖♥ ♣❡✉t ❝❛❧❝✉❧❡r y∞ ♣♦✉r ❞♦♥♥❡r ❧❡ ♣♦✐♥t r❛t✐♦♥♥❡❧ ❞✬♦r❞r❡
✐♥✜♥✐ s✉r Q ♠❛✐s ✐❧ ♥✬❡st ♣❛s ♥é❝❡ss❛✐r❡ ♣♦✉r ❧✬✐♠♣❧é♠❡♥t❛t✐♦♥ ❛❝t✉❡❧❧❡ ❞❡ ❊❈▼✳

❱♦②♦♥s ❞❡ ♣❧✉s ♣rès ❧❡s ❝❛❧❝✉❧s ❞❡ ❧❛ ♣❛r❛♠étr✐s❛t✐♦♥ ❞❡ C(x3, k)✳ ❖♥ ❛ ✿
x4

3 + 5
4x

2
3 − ( 1

2k)
2 = 0 ⇐⇒ (x2

3 + 5
8 )2 = k2

4 + 25
64 ⇐⇒ (x2

3 + 5
8 − k

2 )(x2
3 + 5

8 + k
2 ) = 25

64
❈❡tt❡ ❞❡r♥✐èr❡ éq✉❛t✐♦♥ ❛ ❧❡s ♠ê♠❡ s♦❧✉t✐♦♥s q✉❡ ❧❡ s②stè♠❡ s✉✐✈❛♥t ✿
{

x2
3 + 5

8 − k
2 = 5

8λ

x2
3 + 5

8 + k
2 = 5

8λ
−1

⇐⇒
{

k = 5
8 (λ−1 − λ)

x2
3 = 5

16 (λ+ λ−1 + 2) = (λ−1
4 )2 · 5

λ

❖♥ r❡♠❛rq✉❡ q✉❡ 5
λ = ( 4x3

λ−1 )2 ❡st ✉♥ ❝❛rré r❛t✐♦♥♥❡❧✳ ❖♥ ♣♦s❡ ❞♦♥❝ 5
λ = σ2 ❛✈❡❝ σ ✉♥ ♣❛r❛♠ètr❡

r❛t✐♦♥♥❡❧✳ ❆❧♦rs λ = 5
σ2 ✳ ❊t ❛✉ss✐ 4x3

λ−1 = ±σ✱ ❞✬♦ù x3 = ±σ4 ( 5
σ2 − 1)✳ ❈♦♠♠❡ ❧❡s ♣❛✐r❡s (+, σ) ❡t

(−,−σ) ❞♦♥♥❡♥t ❧❛ ♠ê♠❡ ✈❛❧❡✉r ❞❡ x3✱ ♦♥ ✐♠♣♦s❡ ❧❡ s✐❣♥❡ +✳ ❖♥ ❛ ❞♦♥❝ x3 = σ
4 ( 5

σ2 − 1)✳ ❉✬♦ù

k = 5
8 (λ−1 − λ) = σ4−25

8σ2 ✳

✸✳✷ P❡r❢♦r♠❛♥❝❡s

❈❡ q✉✐ r❡♥❞ ✉♥❡ ❢❛♠✐❧❧❡ F ♠❡✐❧❧❡✉r❡ q✉❡ ❞✬❛✉tr❡s ❡st ❧❛ ♣❧✉s ❣r❛♥❞❡ ♣r♦❜❛❜✐❧✐té q✉❡ #E/Fp s♦✐t
❢r✐❛❜❧❡ ♣♦✉r E ✉♥❡ ❝♦✉r❜❡ ❣é♥ér✐q✉❡ ❞❡ F ✳ ❚♦✉t❡❢♦✐s ♦♥ ❛ ❜❡s♦✐♥ ❞✬✉♥ ✐♥❞✐❝❛t❡✉r ✐♥❞é♣❡♥❞❛♥t ❞❡

✾



❧✬✐♠♣❧é♠❡♥t❛t✐♦♥ ❡t ❞❡ ❧❛ ❜♦r♥❡ B1✳ ❖♥ ✈❛ ✉t✐❧✐s❡r ❝❡❧✉✐ ♣r♦♣♦sé ♣❛r ▼♦♥t❣♦♠❡r② ❞❛♥s ❬▼♦♥✾✷❪✳

❉é✜♥✐t✐♦♥ ✾✳ ❙♦✐t E(A,B) ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Q ❡t π ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r✳ P♦✉r t♦✉t ♥♦♠❜r❡
♣r❡♠✐❡r p t❡❧ q✉❡ E(A,B) ♥❡ s❡ ré❞✉✐t ♣❛s ♠♦❞✉❧♦ p✱ ♦♥ ♣♦s❡ ♣❛r ❝♦♥✈❡♥t✐♦♥ valuation(#E(A,B)/Fp, π) =
0✳ ❖♥ ❛♣♣❡❧❧❡ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ π ❧❛ q✉❛♥t✐té ✿

lim
N→∞

moyenne{valuation(#E(A,B)/Fp, π)/ p ♣r❡♠✐❡r ≤ N}.

❘❡♠❛rq✉❡ ✶✸✳

✶✳ ▲❡s ♣r❡♠✐❡rs ♣♦✉r ❧❡sq✉❡❧s E(A,B) ♥❡ s❡ ré❞✉✐t ♣❛s s♦♥t ❡♥ ♥♦♠❜r❡ ✜♥✐✱ ❞♦♥❝ ✐❧s ♥✬✐♥t❡r✲
✈✐❡♥♥❡♥t ♣❛s ❞❛♥s ❧❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡✳

✷✳ ❖♥ ♥❡ ❞✐s♣♦s❡ ♣❛s ❞✬✉♥❡ ♣r❡✉✈❡ ❞❡ ❧✬❡①✐st❡♥❝❡ ❞❡ ❝❡tt❡ ❧✐♠✐t❡✱ ♠❛✐s ♦♥ ♦❜s❡r✈❡ ❡♥ ♣r❛t✐q✉❡ ✉♥❡
très ❣r❛♥❞❡ ✈✐t❡ss❡ ❞❡ ❝♦♥✈❡r❣❡♥❝❡✳ ❖♥ ✈❡rr❛ ❞❛♥s ✻ ❞❡s r❛✐s♦♥s ♣♦✉r ❝❡tt❡ ❝♦♥✈❡r❣❡♥❝❡✳

✸✳ ▲❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❛ ❧✬❛✈❛♥t❛❣❡ ❞✬êtr❡ ✉♥ ✐♥❞✐❝❛t❡✉r ❢❛❝✐❧❡ ❞✬❛♣♣r♦❝❤❡r ❡t ❛✐♥s✐ ✉t✐❧❡ ♣♦✉r
✐❞❡♥t✐✜❡r ❧❡s ♠❡✐❧❧❡✉r❡s ❝♦✉r❜❡s✳ P❛r ❝♦♥tr❡ ✐❧ ♥❡ r❡st❡ q✉✬✉♥ ✐♥❞✐❝❛t❡✉r q✉❛❧✐t❛t✐❢ ✐✳❡✳ ❞❡s
♣❡t✐t❡s ❞✐✛ér❡♥❝❡s ❞❡ ❧❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ♣❡✉✈❡♥t ❝❛❝❤❡r ❞❡ ❣r❛♥❞s é❝❛rts s✉r ❧❛ ♣r♦❜❛❜✐❧✐té
❞✉ ❝❛r❞✐♥❛❧ ❞✬êtr❡ B1✲❢r✐❛❜❧❡✳

❊♥ s✉✐✈❛♥t ❧✬✐❞é❡ ❞✬❆❧❡①❛♥❞❡r ❑r✉♣♣❛✱ ♦♥ ❝❤❡r❝❤❡ ❞❡s ♠❡✐❧❧❡✉r❡s ❝♦✉r❜❡s ❡♥ ♠❡s✉r❛♥t ❧❛ ✈❛✲
❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ♣♦✉r ❞❡s ❝♦✉r❜❡s E(σ) ❞❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡ ❙✉②❛♠❛ ❛✈❡❝ σ ❡♥t✐❡r ❡t ♣❡t✐t✳ ❉❛♥s ❧❡
t❛❜❧❡❛✉ ❝✐✲❞❡ss✉s ♦♥ ❝❛❧❝✉❧❡ ❧❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ 2 ♣♦✉r 105 ♥♦♠❜r❡s ♣r❡♠✐❡rs ♣r✐s ❛✉ ❤❛s❛r❞
❞❛♥s [1, 23·32]✳ ❙✐ ♦♥ ré♣èt❡ ❧❡ t❡st ♦♥ tr♦✉✈❡ ❞❡s ✈❛❧❡✉rs é❣❛❧❡s à 0.01 ♣rès✳ ❖♥ r❡♠❛rq✉❡ q✉✬♦♥
♦❜t✐❡♥t ✉♥❡ ♣ré❝✐s✐♦♥ ❞❡ 0.05 ❛✈❡❝ s❡✉❧❡♠❡♥t 100 ♥♦♠❜r❡s ♣r❡♠✐❡rs ❝❤♦✐s✐s ❛✉ ❤❛s❛r❞ ❞❛♥s [1, 232]✳

❋❛♠✐❧❧❡ ❞❡ ❙✉②❛♠❛
σ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ 2
10 3.33
11 ✸✳✻✻
12 3.33
13 3.33
14 3.33
15 3.33
16 3.33
17 3.33
18 3.33
19 3.33

❊t ❛✉ss✐ ❛✈❡❝ ❧❛ ❢❛♠✐❧❧❡ ▼♦♥t❣♦♠❡r② 12✳ ❖♥ s✐❣♥❛❧❡ q✉❡ t ❡st ❧❡ ♣❛r❛♠ètr❡ ❞é❝r✐t ❞❛♥s ❬▼♦♥✾✷❪
❡t q✉✐ ✈✐t s✉r ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳

❋❛♠✐❧❧❡ ▼♦♥t❣♦♠❡r② 12
t ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ 2

1/2 3.66
−11/3 3.66
−47/28 3.66
−13/475 3.66

7199/4026 3.66

✶✵



❖♥ r❡♠❛rq✉❡ q✉❡ ❧❛ ❝♦✉r❜❡ ❞❡ Suyama ❞❡ ♣❛r❛♠ètr❡ σ = 11 ❛ ❧❡s ♠ê♠❡s ♣❡r❢♦r♠❛♥❝❡s q✉❡
❞❡s ❝♦✉r❜❡s ❣é♥ér✐q✉❡s ❞❡ ❧❛ ❢❛♠✐❧❧❡ Montgomery 12 ❡t q✉❡ ❧❡s ❛✉tr❡s ❝♦✉r❜❡s ❞❡ Suyama ♦♥t ❞❡s
♠♦✐♥❞r❡s ♣❡r❢♦r♠❛♥❝❡s✳ ❈♦♠♣❛r♦♥s ♠❛✐♥t❡♥❛♥t σ = 11 ❛✈❡❝ ❧❡s ❛✉tr❡s σ ❡♥ ❞✐st✐♥❣✉❛♥t ❧❡s ❝❛s
p = 1 mod 4 ❡t p = 3 mod 4 ✿

σ ✈❛❧✉❛t✐♦♥ p = 1 mod 4 ✈❛❧✉❛t✐♦♥ p = 3 mod 4
10 3.16 3.50
11 3.82 3.50
12 3.16 3.50
13 3.16 3.50
14 3.16 3.50
15 3.16 3.50
16 3.16 3.50
17 3.16 3.50
18 3.16 3.50
19 3.16 3.50

❖♥ r❡♠❛rq✉❡ q✉❡ σ = 11 s❡ ❝♦♠♣♦rt❡ ♣♦✉r p = 3 mod 4 ❝♦♠♠❡ ❧❡s ❛✉tr❡s σs✳ P❛r ❝♦♥tr❡ ♣♦✉r
p = 1 mod 4✱ σ = 11 ❡st ♥❡tt❡♠❡♥t ♠❡✐❧❧❡✉r✳ ❆❧❡①❛♥❞❡r ❑r✉♣♣❛ ❛ ♣♦sé ❧❛ q✉❡st✐♦♥ s✐ ♦♥ ♣❡✉t
tr♦✉✈❡r ❞✬❛✉tr❡s ✈❛❧❡✉rs ❞❡ σ ❛✈❡❝ ❧❛ ♠ê♠❡ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡✳

✹ ❆♠é❧✐♦r❡r ❧❛ ❢❛♠✐❧❧❡ ❞❡ ❙✉②❛♠❛

✹✳✶ ▲❛ ❢❛♠✐❧❧❡ ❙✉②❛♠❛ 11

✹✳✶✳✶ ❈♦♥str✉❝t✐♦♥

❆✜♥ ❞❡ tr♦✉✈❡r ✉♥❡ s♦✉s✲❢❛♠✐❧❧❡ ❞❡ ❝❡❧❧❡ ❞❡ ❙✉②❛♠❛ ❛✈❡❝ ❧❡s ♣r♦♣r✐étés ❞❡ σ = 11✱ ♦♥ ✐♠♣♦s❡
❞❡s ♥♦✉✈❡❧❧❡s ❝♦♥❞✐t✐♦♥s✳ ❏❡ ♣r♦♣♦s❡ ❧✬éq✉❛t✐♦♥ s✉✐✈❛♥t❡

∃c ∈ Q. a+ 2 = (−1)bc2 ✭✻✮

❆✈❛♥t ❞❡ ❥✉st✐✜❡r ❝❡ ❝❤♦✐①✱ ♦♥ ✈❛ rés♦✉❞r❡ ❧❡ s②stè♠❡ {(1), (2), (3), (4), (6)}✳ ❈❡❧❛ r❡✈✐❡♥t à t❡st❡r
q✉❡❧❧❡s s♦❧✉t✐♦♥s ❞❡ {(1), (2), (3), (4)} ✈ér✐✜❡♥t (6)✳ ❖♥ r❡♠♣❧❛❝❡ a(σ) ❡t b(σ) ❞❛♥s (6) ✿
(−1)(3σ − 5)(σ + 3)(σ − 5)(σ + 1)(σ(σ−5)(σ+1)

σ2−5 )2 = (−1)c2✳ ❆♣rès ❛✈♦✐r ❡♥❣❧♦❜é ❧❡ ❝❛rré ❞❛♥s c2 ♦♥
❛

3(σ − 5/3)(σ + 3)(σ − 5)(σ + 1)− c2 = 0

❈❡tt❡ éq✉❛t✐♦♥ ❡st éq✉✐✈❛❧❡♥t❡ à c′2 = 3(1+ 20
3 σ

′)(1+8σ′)(1+6σ′) ♣❛r ❧❛ tr❛♥s❢♦r♠❛t✐♦♥ ❜✐r❛t✐♦♥♥❡❧❧❡
σ′ = 1

σ−5 ❡t c′ = c
(σ′)2 ✳ ❖♥ r❡♠❛rq✉❡ q✉❡ ❝❡tt❡ tr❛♥s❢♦r♠❛t✐♦♥ ❛♠è♥❡ ❧❡ ♣♦✐♥t (5, 0) ❞❡ ❧❛ ❝♦✉r❜❡ ❞❡

❞é♣❛rt ❛✉ ♣♦✐♥t à ❧✬✐♥✜♥✐ ❞❡ ❧❛ ♥♦✉✈❡❧❧❡ ❝♦✉r❜❡✳ ❊♥s✉✐t❡ ♦♥ ♠❡t ❧✬éq✉❛t✐♦♥ s♦✉s ❢♦r♠❡ ❞❡Weierstrass
❝♦✉rt❡ ♣❛r ❧❛ tr❛♥s❢♦r♠❛t✐♦♥ ❛✣♥❡ σ′ = 480x ❡t c′ = 4802y✳ ❖♥ tr♦✉✈❡ ❧✬éq✉❛t✐♦♥ ✿

y2 = x3 +
71

57600
x2 +

13

27648000
x+

1

17694720000
.

✶✶



MAGMA ❛✣r♠❡ q✉❡ ❧❡ r❛♥❣ ❞❡ ❧❛ ❝♦✉r❜❡ ❡st 1 ❡t ♥♦✉s ❞♦♥♥❡ tr♦✐s ❣é♥ér❛t❡✉rs ✿ P (−1/1600, 0)✱
Q(−1/2880, 0) ❡t M(−1/4800, 1/576000)✱ ❞✬♦r❞r❡s r❡s♣❡❝t✐✈❡♠❡♥t 2, 2 ❡t ∞✳ ▲✬❡♥s❡♠❜❧❡ ❞❡s s♦❧✉✲
t✐♦♥s ❞✉ s②stè♠❡ ❡st ✿

{nP ∗ P + nQ ∗Q+ nM ∗M/nP , nQ ∈ {0, 1}, nM ∈ Z}.

❖♥ r❡♠❛rq✉❡ q✉❡ (nP , 0, nM ) ❡t (nP , 1, nM ) ❞♦♥♥❡♥t ❞❡s ❝♦✉r❜❡s ✐s♦♠♦r♣❤❡s✱ ❞♦♥❝ ♦♥ ✈❛ é✈✐t❡r
❞✬✉t✐❧✐s❡r ❧❡s ❞❡✉① ❝♦✉r❜❡s ❛✉ ♠ê♠❡ t❡♠♣s✳ P♦✉r ✉♥ ❝❛❧❝✉❧ ❡①♣❧✐❝✐t❡ ❞❡s é❧é♠❡♥ts ❞❡ ❧❛ ❢❛♠✐❧❧❡✱ ♦♥
✉t✐❧✐s❡ ❧❛ ❢♦♥❝t✐♦♥ MAGMA s✉✐✈❛♥t❡ ✿

❢✉♥❝t✐♦♥ ❈❛❧❝✉❧❡❙✐❣♠❛✭♥P✱♥◗✱♥▼✮

❋✿❂❊❧❧✐♣t✐❝❈✉r✈❡✭❬✵✱✼✶✴✺✼✻✵✵✱✵✱✶✸✴✷✼✻✹✽✵✵✵✱✶✴✶✼✻✾✹✼✷✵✵✵✵❪✮❀

P✿❂❋✦❬✲✶✴✶✻✵✵✱ ✵✱ ✶❪❀ ◗✿❂❋✦❬✲✶✴✷✽✽✵✱ ✵✱ ✶❪❀ ▼✿❂❋✦❬✲✶✴✹✽✵✵✱ ✶✴✺✼✻✵✵✵✱ ✶❪❀

❘✿❂♥P✯P✰♥◗✯◗✰♥▼✯▼❀

①❘✿❂❘❬✶❪❀

r❡t✉r♥ ✶✴✭✹✽✵✯①❘✮✰✺❀

❡♥❞ ❢✉♥❝t✐♦♥❀

✹✳✶✳✷ ❏✉st✐✜❝❛t✐♦♥ ♠❛t❤é♠❛t✐q✉❡

❱♦②♦♥s ♠❛✐♥t❡♥❛♥t ♣♦✉rq✉♦✐ ❝❤♦✐s✐r ❧✬éq✉❛t✐♦♥ (6)✳

❉é✜♥✐t✐♦♥ ✶✵✳ ❖♥ ❞✐t q✉✬✉♥ ♥♦♠❜r❡ r❛t✐♦♥♥❡❧ σ ❛ ❧❛ ♣r♦♣r✐été σ11 s✐✱ ♣♦✉r t♦✉t ♥♦♠❜r❡ ♣r❡♠✐❡r

p t❡❧ q✉❡ (a(σ)2−4
p ) = 1✱ 8 ❞✐✈✐s❡ #E(σ)/Fp✳

◆♦t❛t✐♦♥ ✸✳ ❙♦✐❡♥t E/K ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✱ S ∈ E ❡t m ∈ N t❡❧ q✉❡ pgcd(m, carK) = 1✳ ❖♥
♣♦s❡ 1

mS = {P ∈ E/K/m ∗ P = S}✳

▲❡♠♠❡ ✶✳ ❚♦✉t σ q✉✐ ✈ér✐✜❡ ✭✻✮ ❛ ❧❛ ♣r♦♣r✐été σ11✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t σ ∈ Q t❡❧ q✉❡ ✭✻✮ s♦✐t ✈ér✐✜é❡✳ ❖♥ ♥♦t❡ E ❧❛ ❝♦✉r❜❡ ❞❡ Suyama ❝♦rr❡s♣♦♥❞❛♥t
à σ✳ ❙♦✐t p ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r t❡❧ q✉❡ (a

2−4
p ) = 1✳ ❆❧♦rs a2 − 4 ❡st ✉♥ ❝❛rré ❞❡ Fp ❡t ❧❡ ♣♦❧②♥ô♠❡

x2 + ax+ 1 ❛ ❞❡✉① r❛❝✐♥❡s ❞❛♥s Fp✳ ◆♦t♦♥s✲❧❡s α1 ❡t α2✳ ❖♥ r❡♠❛rq✉❡ q✉❡ R := (0, 0)✱ P := (α1, 0)
❡t Q := (α2, 0) s♦♥t t♦✉s ❞❡s ♣♦✐♥ts ❞❡ 2✲t♦rs✐♦♥ s✉r E/Fp✳ ❆✐♥s✐ Z

2Z
× Z

2Z
⊂ E(Fp)✳ ❉♦♥❝ E(Fp) ❛

✉♥ s♦✉s✲❣r♦✉♣❡ ❞✬♦r❞r❡ 8 ❡①❛❝t❡♠❡♥t q✉❛♥❞ ✐❧ ❡①✐st❡ ✉♥ ♣♦✐♥tM ❞❡ E/Fp t❡❧ q✉❡M+M ∈ {P,Q,R}✳

❖♥ ✈ér✐✜❡ ❛✐sé♠❡♥t q✉❡

1

2
R = {(1,

√

a+ 2

b
), (1,−

√

a+ 2

b
), (−1,

√

a− 2

b
), (−1,−

√

a− 2

b
)}.

P♦s♦♥s f(x) = 1
b (x

3 + ax2 + x) ❡t ❛♣♣❡❧♦♥s h1, h2, h3, h4 ❧❡s r❛❝✐♥❡s ❞✉ ♣♦❧②♥ô♠❡
q := x4 + 2ax3 + 6x2 + 2ax+ 1 = P4

P2(x−1)(x+1) ❞❛♥s Fp✳ ❆❧♦rs ♦♥ ✈ér✐✜❡ q✉❡

1

2
P = {(h1,

√

f(h1)), (h2,
√

f(h2)), (h1,−
√

f(h1)), (h2,−
√

f(h2))}.

❉❡ ♠❛♥✐èr❡ ❛♥❛❧♦❣✉❡

1

2
Q = {(h3,

√

f(h3)), (h4,
√

f(h4)), (h3,−
√

f(h3)), (h4,−
√

f(h4))}.

✶✷



❆✜♥ ❞❡ tr♦✉✈❡r ❞❡s ❝♦♥❞✐t✐♦♥s éq✉✐✈❛❧❡♥t❡s ♣♦✉r hi ∈ Fp ♦♥ ❛♥❛❧②s❡ ❧❡ ♣♦❧②♥ô♠❡ q✳ ❈♦♠♠❡

(a
2−4
p ) = 1✱ ✐❧ ❡①✐st❡ ✉♥ k ∈ Fp t❡❧ q✉❡ k2 = a2−4✳ ❖♥ ♣❡✉t ❞♦♥❝ é❝r✐r❡ q ❝♦♠♠❡ q = x2(x+ 1

x +a−
k)(x+ 1

x +a+k)✳ ❖♥ r❡♠❛rq✉❡ q✉❡ h1, h2 s♦♥t ❧❡s r❛❝✐♥❡s ❞❡ x(x+ 1
x +a−k) = 0 t❛♥❞✐s q✉❡ h3, h4

s♦♥t ❧❡s r❛❝✐♥❡s ❞❡ x(x+ 1
x + a− k) = 0✳ ▲❡s ❞✐s❝r✐♠✐♥❛♥ts ❞❡ ❝❡s ❞❡✉① ♣♦❧②♥ô♠❡s s♦♥t (a− k)2− 4

❡t (a + k)2 − 4 r❡s♣❡❝t✐✈❡♠❡♥t✳ ❆✐♥s✐ q ❛ ❞❡s r❛❝✐♥❡s ❞❛♥s Fp s✐ ❡t s❡✉❧❡♠❡♥t s✐ ( (a−k)2−4
p ) = 1 ♦✉

( (a+k)2−4
p ) = 1✳ ❋✐♥❛❧❡♠❡♥t✱ ♦♥ r❡♠❛rq✉❡ q✉❡ (a−k)2−4 = a2+k2+2ak−4 = 2k2−2ak = 2k(k−a)✳

❉❡ ♠❛♥✐èr❡ ❛♥❛❧♦❣✉❡ (a+ k)2 − 4 = 2k(a+ k)✳

➚ s♦♥ t♦✉r
√

f(hi) ∈ Fp s✐ ❡t s❡✉❧❡♠❡♥t s✐ ( f(hi)
p ) = 1✳ ❖♥ r❡♠❛rq✉❡ q✉❡ ( f(hi)

p ) = (
h2

i (hi+
1

hi
+a)/b

p )✳

❉✬❛♣rès ❧❡ ♣❛r❛❣r❛♣❤❡ ♣ré❝é❞❡♥t✱ hi + 1
hi

✈❛✉t k − a ♣♦✉r i = 1, 2 ❡t −k − a ♣♦✉r i = 3, 4✳ ❖♥ s❡

❝♦♥❝❡♥tr❡ s✉r ❧❡ ❝❛s i = 1✱ ❧❡s ❛✉tr❡s ❝❛s ét❛♥t s✐♠✐❧❛✐r❡s✳ ❖♥ ❛ (
(h1+

1
h1

+a)/b

p ) = (k·bp )✳ ❉✬❛♣rès

(6)✱ ♦♥ ❛ b = (a + 2) · (−1) · ❝❛rré✳ ❆✐♥s✐ (k·bp ) = ( (−1)·(a+2)·k
p )✳ ❋✐♥❛❧❡♠❡♥t ♦♥ r❡♠❛rq✉❡ q✉❡

2(a−k) ·(a+2) = (a+1−k)2✳ ❆✐♥s✐ ( (−1)·(a+2)·k
p ) = (2k(k−a)

p )✳ ❈♦♥❝❧✉s✐♦♥ ✿ (h1,
√

f(h1)) ∈ Fp×Fp

s✐ ❡t s❡✉❧❡♠❡♥t s✐ ( 2k(k−a)
p ) = 1✳ ❉❡ ♠ê♠❡ ♣♦✉r h2✱ t❛♥❞✐s q✉❡ h3 ❡t h4 ❞é♣❡♥❞❡♥t ❞❡ ( 2k(k+a)

p )✳

❆✉tr❡♠❡♥t ❞✐t✱ ✭ 1
2Q ♦✉ 1

2P ♦♥t ❞❡s ♣♦✐♥ts ❞❛♥s Fp × Fp✮ s✐ ❡t s❡✉❧❡♠❡♥t s✐ ✭ ✉♥ ❞❡s s②♠❜♦❧❡s

( 2k(k−a)
p ) ❡t ( 2k(k+a)

p ) ✈❛✉t 1✮✳

❖♥ ❞✐st✐♥❣✉❡ ❞❡✉① ❝❛s ✿

❬1er ❝❛s ❪ (−1
p ) = 1✳ ❆❧♦rs (−1) ❡st ✉♥ ❝❛rré ❞❛♥s Fp✳ P❛r ✭✻✮✱ a+2

b = (−1)c2✳ ❆❧♦rs a+2
b ❡st ✉♥ ❝❛rré

❞❡ Fp✳ ❉♦♥❝ M(1,
√

a+2
b ) ∈ 1

2R ❡st à ❝♦♦r❞♦♥♥é❡s ❞❛♥s Fp✳

❬2e ❝❛s ❪ (−1
p ) = (−1)✳ ❖♥ ❛

(
2k(k + a)

p
) · (2k(k − a)

p
) = (

2k

p
)2 · (k

2 − a2

p
) = (

−4

p
) = (

−1

p
) = (−1)

❈♦♠♠❡ (−1) · (−1) = 1✱ ❧❡s ❞❡✉① s②♠❜♦❧❡s ❞❡ ▲❡❣❡♥❞r❡ ♥❡ ♣❡✉✈❡♥t ♣❛s êtr❡ s✐♠✉❧t❛♥é♠❡♥t
(−1)✳ ❉♦♥❝✱ ✉♥ ❞❡s ♣♦✐♥ts {P,Q} ❛ ✉♥ ♣♦✐♥t ❞❡ 2✲❞✐✈✐s✐♦♥ ❞❛♥s E(Fp)✳

❉❛♥s t♦✉s ❧❡s ❝❛s✱ 8 ❞✐✈✐s❡ #E/Fp✳ ❉♦♥❝ σ ❛ ❧❛ ♣r♦♣r✐été σ11✳

✹✳✶✳✸ ❱ér✐✜❝❛t✐♦♥ ❡①♣ér✐♠❡♥t❛❧❡

❆✈❛♥t ❞❡ ❞♦♥♥❡r ✉♥❡ ♣r❡✉✈❡ t❤é♦r✐q✉❡ q✉❡ ❧❛ ♣r♦♣r✐été σ11 ❛ss✉r❡ ✉♥❡ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥
2 é❣❛❧❡ à ❝❡❧❧❡ ❞❡ σ = 11 ♦♥ ❞♦♥♥❡ ✉♥ t❛❜❧❡❛✉ ❞❡ ✈❛❧✉❛t✐♦♥s✳ ❏❡ ♣ré❝✐s❡ q✉❡ ❝❡rt❛✐♥❡ ✈❛❧❡✉rs ♣♦✉r
❧❡sq✉❡❧❧❡s σ ≤ 5 ♣❡✉✈❡♥t ❞♦♥♥❡r ❞❡s ❝♦✉r❜❡s s✐♥❣✉❧✐èr❡s✳ ▼❛✐s ❝❡❧❛ ♥❡ ❝♦♥❝❡r♥❡ q✉✬✉♥ ♥♦♠❜r❡ ✜♥✐
❞❡ σs ❡t ❡❧❧❡s ♦♥t été é✈✐té❡s ❞❛♥s ❧❡ t❛❜❧❡❛✉ s✉✐✈❛♥t✳

❱❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ 2
❡①♣r❡ss✐♦♥ σ p q✉❡❧❝♦♥q✉❡ p = 1 mod 4 p = 3 mod 4
P +M 5/11 3, 66 3.82 3.50
P + 2M −15/47 3, 66 3.82 3.50
P + 3M 3595/2171 3, 66 3.82 3.50

2M −65/11 3, 66 3.82 3.50

✶✸



✹✳✷ ▲❛ ❢❛♠✐❧❧❡ ❙✉②❛♠❛ 9/4

❖♥ ❛ ✈✉ q✉✬✉♥❡ s❡✉❧❡ ❝♦✉r❜❡ ♣❡✉t ❝♦♥❞✉✐r❡ à ❧❛ ❞é❝♦✉✈❡rt❡ ❞✬✉♥❡ ❢❛♠✐❧❧❡ ✐♥✜♥✐❡ ❛✈❡❝ ❧❡s ♠ê♠❡s
♣r♦♣r✐étés✳ P❛✉❧ ❩✐♠♠❡r♠❛♥♥ ❛ tr♦✉✈é ❞✬❛✉tr❡s ❜♦♥♥❡s ✈❛❧❡✉rs ❞❡ σ ❡♥ ♠❡s✉r❛♥t ❧❛ ✈❛❧✉❛t✐♦♥
♠♦②❡♥♥❡ ❞❡ t♦✉s ❧❡s σ ❛✈❡❝ ❞❡s ♣❡t✐ts ❞é♥♦♠✐♥❛t❡✉rs ❡t ♥✉♠ér❛t❡✉rs✳ P❛r♠✐ ❧❡s ✈❛❧❡✉rs tr♦✉✈é❡s ♦♥
❛ { 9

4 ✱11✱ 5
11 ✱

11
13 ✱

20
9 ✱

47
3 ✱

15
47 ✱

65
11 ✱

121
169 ✱

239
241 ✱

845
121}✳ ❊❧❧❡s ♦♥t t♦✉t❡s ❧❛ ♠ê♠❡ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡ ❡♥ 2✱ ❛♣♣r♦①✐✲

♠❛t✐✈❡♠❡♥t 3.66✳ ❊♥ é❧✐♠✐♥❛♥t ❧❡s ✈❛❧❡✉rs ❞❡ ❧❛ ❢❛♠✐❧❧❡ Suyama 11 ♦♥ r❡st❡ ❛✈❡❝ { 9
4 ✱

20
9 ✱

121
169 ✱

845
121}✳

❖♥ ✈❛ tr♦✉✈❡r ✉♥❡ ❢❛♠✐❧❧❡ ✐♥✜♥✐❡ q✉✐ ❝♦♥t✐❡♥t 9
4 ❡t r❡♠❛rq✉❡r q✉✬❡❧❧❡ ❝♦♥t✐❡♥t ❧❡s ❛✉tr❡s ✈❛❧❡✉rs✳

✹✳✷✳✶ ❈♦♥str✉❝t✐♦♥

❖♥ ✐♠♣♦s❡ ❧❛ ❝♦♥❞✐t✐♦♥
∃k ∈ Q, b = k2 ✭✼✮

❈♦♠♠❡ ♣♦✉r ❧❛ ❢❛♠✐❧❧❡ Suyama 11✱ ❧❡ s②stè♠❡ {(1), (2), (3), (4), (7)} s❡ r❛♠è♥❡ à ❧✬éq✉❛t✐♦♥ σ2−5−
σk2 = 0✳ ❊♥ ♣♦s❛♥t k1 = kσ ♦♥ ♦❜t✐❡♥t ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s♦✉s ❢♦r♠❡ ❞❡ Weierstrass ❝♦✉rt❡ ✿

σ3 − 5σ = k2
1.

❈❡tt❡ ❝♦✉r❜❡ ❡st ✐s♦♠♦r♣❤❡ à Z
2Z
× Z✳ ❯♥ ♣♦✐♥t ❞❡ 2 t♦rs✐♦♥ ❡st P = [0, 0, 1] ❡t ✉♥ ♣♦✐♥t ❞✬♦r❞r❡

✐♥✜♥✐ ❡st Q = [−1, 2, 1]✳ ❖♥ r❡♠❛rq✉❡ q✉❡ P + nQ ❡t nQ ❞♦♥♥❡♥t ❞❡s ❝♦✉r❜❡s ✐s♦♠♦r♣❤❡s✱ ❞♦♥❝ ♦♥
♥✬✉t✐❧✐s❡ q✉❡ ❧❡s ♣♦✐♥ts {P + n ∗Q | n ∈ Z}✳ ❱♦✐❝✐ ✉♥❡ ❢♦♥❝t✐♦♥ ▼❆●▼❆ q✉✐ ❝❛❧❝✉❧❡ ❞❡s ✈❛❧❡✉rs ❞❡
s✐❣♠❛ ❞❡ ❝❡tt❡ ❢❛♠✐❧❧❡ ✿

❝❛❧❝✉❧❡❴s✐❣♠❛✾s✉r✹✭♥✮

❋✿❂❊❧❧✐♣t✐❝❈✉r✈❡✭❬✵✱✵✱✵✱✲✺✱✵❪✮❀

◗✿❂❋✦❬✲✶✱✲✷✱✶❪❀

P✿❂❋✦❬✵✱✵✱✶❪❀

r❡t✉r♥ ✭P✰♥✯◗✮❬✶❪❀

❡♥❞ ❢✉♥❝t✐♦♥❀

✹✳✷✳✷ ❏✉st✐✜❝❛t✐♦♥ ♠❛t❤é♠❛t✐q✉❡

❖♥ r❛♣♣❡❧❧❡ q✉❡ ❞❛♥s ❧❛ r❡♠❛rq✉❡ ✾ ♦♥ ❛ ✈✉ q✉❡ Pnew8 = p1 · p2 · Preste ❛✈❡❝ ✿

p1 = x4 − 4x3 + (−4a− 2)x2 − 4x+ 1

p2 = x4 + 4x3 + (4a− 2)x2 + 4x+ 1

▲❡♠♠❡ ✷✳ ❙♦✐t σ ∈ Q q✉✐ ✈ér✐✜❡ (7) ❡t E ❧❛ ❝♦✉r❜❡ ❞❡ ❙✉②❛♠❛ ❝♦rr❡s♣♦♥❞❛♥t à σ✳ ❙♦✐t p ✉♥
♣r❡♠✐❡r t❡❧ q✉❡ p = 1 mod 4 ❡t (a

2−4
p ) = −1✳ ❆❧♦rs E/Fp ❛ ✉♥ ♣♦✐♥t r❛t✐♦♥♥❡❧ ❞✬♦r❞r❡ 8✳

❉é♠♦♥str❛t✐♦♥✳ ▲❡s ♣♦❧②♥ô♠❡s p1 ❡t p2 s♦♥t ré❝✐♣r♦q✉❡s ❡t ❡♥ ♣♦s❛♥t X = x+ 1
x ✱ ♦♥ tr♦✉✈❡ ✿

p1 = X2 − 4X + (−4a− 4)

p2 = X2 − 4X + (4a− 4)

▲❡✉rs ❞✐s❝r✐♠✐♥❛♥ts r❡s♣❡❝t✐❢s s♦♥t ∆1 = 42(2 + a) ❡t ∆2 = 42(2− a)✳
❈♦♠♠❡ (a

2−4
p ) = −1✱ ❡①❛❝t❡♠❡♥t ✉♥ ❞❡s ( (a+2)/b

p ) ❡t ( (a−2)/b
p ) ✈❛✉t 1✳ ◗✉✐tt❡ à r❡♠♣❧❛❝❡r a ♣❛r

✶✹



−a ✐✳❡✳ à ♣r❡♥❞r❡ ✉♥❡ ❝♦✉r❜❡ ✐s♦♠♦r♣❤❡✱ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ ( (a+2)/b
p ) = 1✳ ❖♥ ❛ ❛❧♦rs R1 :=

(1,
√

a+2
b ) ∈ Fp × Fp ♣♦✐♥t ❞❡ 4✲t♦rs✐♦♥ s✉r Fp✳ ❈♦♠♠❡ b = k2✱ ♦♥ ❛ (a+2

p ) = ( (a+2)/b
p ) = 1✳ ❉♦♥❝✱

∆1 ❡st ✉♥ ❝❛rré ❡t ❛❧♦rs P1 ❛ ❞❡✉① r❛❝✐♥❡s 2±
√
a+ 2✳ ❆✐♥s✐ ✿

p1 ❛ ❞❡s r❛❝✐♥❡s ⇐⇒











x+ 1
x = 2 +

√
a+ 2

ou

x+ 1
x = 2−

√
a+ 2

❛ ❞❡s r❛❝✐♥❡s✳

❖r ❝❡ s②stè♠❡ ❛ ❞❡s r❛❝✐♥❡s ❡①❛❝t❡♠❡♥t q✉❛♥❞ ✉♥ ❞❡s δ+1 ❡t δ−1 ❡st ✉♥ ❝❛rré✱ ♦ù δ+1 = 4
√
a+ 2(

√
a+ 2+

2) ❡t δ−1 = 4
√
a+ 2(

√
a+ 2−2)✳ ❖♥ r❡♠❛rq✉❡ q✉❡ (

δ+
1

p )(
δ−
1

p ) = (
√
a+2

2−4
p ) = (2−a

p ) = −( 2+a
p ) = −1✳

❉♦♥❝ ❛✉ ♠♦✐♥s ✉♥ ❞❡s δ±1 ❡st ✉♥ ❝❛rré✳ ❉♦♥❝ E(Fp) ❛ ✉♥ ♣♦✐♥t r❛t✐♦♥♥❡❧ ❞✬♦r❞r❡ 8✳

✺ ❆✉tr❡s ♣✐st❡s ❞❡ ❝♦♥str✉❝t✐♦♥

✺✳✶ ❙tr❛té❣✐❡

❚♦✉t❡s ❧❡s ♣❛r❛♠étr✐s❛t✐♦♥s q✉✬♦♥ ❝♦♥♥❛ît à ♣rés❡♥t s✬❡①♣r✐♠❡ ❝♦♠♠❡ ❧✬❡♥s❡♠❜❧❡ ❞❡s s♦❧✉t✐♦♥s
❞✬✉♥ s②stè♠❡ ♣♦❧②♥♦♠✐❛❧✳ ❉❡ ♣❧✉s✱ ❧❛ s❡❝t✐♦♥ ✻ s✉❣❣èr❡ q✉❡ t♦✉t❡ ❛✉tr❡ ♣❛r❛♠étr✐s❛t✐♦♥ s❡r❛ ❞✉
♠ê♠❡ t②♣❡✳ ▲❛ ❜r✐q✉❡ ❞❡ ❜❛s❡ ❞❡ ♠❛ ♠ét❤♦❞❡ ❡st ❧❛ ♣r♦♣♦s✐t✐♦♥ ❝✐✲❞❡ss♦✉s✳ ❖♥ r❡♠❛rq✉❡ q✉❡
❧✬é♥♦♥❝é ❢❛✐t ✐♥t❡r✈❡♥✐r ✉♥❡ ♥♦t✐♦♥ ♥♦✉✈❡❧❧❡✱ ❧❡ ❣❡♥r❡ ❞✬✉♥❡ ❝♦✉r❜❡ ❛❧❣é❜r✐q✉❡✳ ▼❛✐s ❛✉ ❧✐❡✉ ❞❡ ❧❡
❞é✜♥✐r ♦♥ ♣ré❝✐s❡ q✉✬♦♥ ❞✐s♣♦s❡ ❞✬✉♥ ❛❧❣♦r✐t❤♠❡ ❝❛♣❛❜❧❡ ❞❡ ❝❛❧❝✉❧❡r ❧❡ ❣❡♥r❡✳

Pr♦♣♦s✐t✐♦♥ ✷✳ ❙♦✐t C : C(x, y) = 0 ✉♥❡ ❝♦✉r❜❡ t❡❧❧❡ q✉❡ C ∈ Q[X,Y ] ❡st ✐rré❞✉❝t✐❜❧❡ s✉r Q✳ ❖♥
♥♦t❡ g =❣❡♥r❡✭C)✳ ❖♥ s✉♣♣♦s❡ q✉❡ C ♣♦ssè❞❡ ❛✉ ♠♦✐♥s ✉♥ ♣♦✐♥t r❛t✐♦♥♥❡❧✳ ❆❧♦rs ♦♥ ❛ ✿

✶✳ ❙✐ g = 0✱ ❛❧♦rs C ❡st ✉♥❡ ❝♦♥✐q✉❡✳ ❉❛♥s ❝❡ ❝❛s ✐❧ ❡①✐st❡ px ❡t py ∈ Q(X)✱ ❞❡✉① ❢r❛❝t✐♦♥s
r❛t✐♦♥♥❡❧❧❡s t❡❧❧❡s q✉❡ C = {(px(σ), py(σ))/σ ∈ Q}✳

✷✳ ❙✐ g = 1✱ ❛❧♦rs C ❡st ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❉❛♥s ❝❡ ❝❛s✱ C ❡st ✐♥✜♥✐❡ s✐ ❡t s❡✉❧❡♠❡♥t s✐
rang(C) > 0✳

✸✳ ❙✐ g ≥ 2✱ ❛❧♦rs C ❡st ✜♥✐❡✳

❉é♠♦♥str❛t✐♦♥✳ ❱♦✐r ❬❍❙✵✵❪ ♣♦✉r ❧❡ ❧✐❡♥ ❡♥tr❡ g ❡t ❧❛ ♥❛t✉r❡ ❞❡ ❧❛ ❝♦✉r❜❡✳ ❱♦②♦♥s ❧❡ r❡st❡ ❞❡s
❛✣r♠❛t✐♦♥s✳

✶✳ ❈✬❡st ✉♥ ❝♦r♦❧❧❛✐r❡ ❞✉ t❤é♦rè♠❡ ❞❡ ▲❡❣❡♥❞r❡✳ ❱♦✐r ❬■❘✽✷❪✱ ❝❤ ✶✷✳

✷✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ❞❡ ▼♦r❞❡❧❧✲❲❡✐❧ ♦♥ ❛ C ≃ Ctorsion × Zk ❛✈❡❝ k ✜♥✐✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡
❞❡ ▼❛③✉r✱ Ctorsion ❡st ✜♥✐✳ ❆✐♥s✐ k = 0 s✐ ❡t s❡✉❧❡♠❡♥t s✐ C ❡st ✜♥✐✳

✸✳ ❈✬❡st ❧❡ t❤é♦rè♠❡ ❞❡ ❋❛❧t✐♥❣s✳ ❱♦✐r ❬❍❙✵✵❪✳

❖♥ ♣❡✉t ♠❛✐♥t❡♥❛♥t ❞♦♥♥❡r ❧❡s ét❛♣❡s ❞❡ ❧❛ r❡❝❤❡r❝❤❡ ❞❡ ♥♦✉✈❡❧❧❡s ♣❛r❛♠étr✐s❛t✐♦♥s ✿

✶✳ ❚r♦✉✈❡r ❞❡s éq✉❛t✐♦♥s ♣♦❧②♥♦♠✐❛❧❡s q✉✐ tr❛❞✉✐s❡♥t ❧❡s ❜♦♥♥❡s ♣r♦♣r✐étés ❞❡s ❝♦✉r❜❡s✳

✷✳ ❆❥♦✉t❡r ❞❡s éq✉❛t✐♦♥s ❛❞✲❤♦❝ ❥✉sq✉✬à ❝❡ q✉✬♦♥ ❛✐t ✉♥❡ ✐♥❝♦♥♥✉❡ ❞❡ ♣❧✉s q✉❡ ❞✬éq✉❛t✐♦♥s✳

✸✳ ❚r❛♥s❢♦r♠❡r ❧❡ s②stè♠❡ ♣♦❧②♥♦♠✐❛❧ ❡♥ ✉♥ s②stè♠❡ ❢♦r♠é ❞✬✉♥❡ s❡✉❧❡ éq✉❛t✐♦♥ ❞✉ t②♣❡ C(x, y) =
0 ❛✈❡❝ C ∈ Q[X,Y ]✳

✶✺



✹✳ ❉é❝♦♠♣♦s❡r C ❡♥ ❢❛❝t❡✉rs ✐rré❞✉❝t✐❜❧❡s s✉r Q[X,Y ] ✿ C = C1 · ... · Ck✳
✺✳ P♦✉r ❝❤❛q✉❡ 1 ≤ i ≤ k✱ ❝❛❧❝✉❧❡r ❧❡ ❣❡♥r❡ gi ❞❡ Ci✳

✻✳ ❙✐ gi = 0 ❛❧♦rs ♣❛r❛♠étr❡r ❧❛ ❝♦♥✐q✉❡ Ci✳

✼✳ ❙✐ gi = 1 ❛❧♦rs tr♦✉✈❡r ✉♥ s②stè♠❡ ❞❡ ❣é♥ér❛t❡✉rs G ❞❡ Ci✳ ❖♥ ❛ Ci = ΣP∈GZP ✳

❘❡♠❛rq✉❡ ✶✹✳ ❉❛♥s ❧❡s ❝❛s ❝♦♥❝r❡ts q✉✬♦♥ tr❛✐t❡ ❞❛♥s ❝❡ r❛♣♣♦rt✱ t♦✉t❡s ❧❡s ❝♦✉r❜❡s s❛t✐s❢♦♥t ❧❡s
❤②♣♦t❤ès❡ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ❝✐✲❞❡ss✉s✳

✺✳✷ ▲❡s ❞ét❛✐❧s ❞❡ ❝❤❛q✉❡ ét❛♣❡

❬➱t❛♣❡ 1.❪ ❈✬❡st ❧✬ét❛♣❡ ❧❛ ♣❧✉s ✐♠♣♦rt❛♥t❡✳ ❖♥ ❞✐st✐♥❣✉❡ ❞❡✉① ❝❛s ✿

1er ❝❛s ❖♥ ♥❡ ❝♦♥♥❛ît ❛✉❝✉♥❡ ❝♦✉r❜❡ ❞❡ ❧❛ ❢❛♠✐❧❧❡ q✉✬♦♥ ❝❤❡r❝❤❡✳ ❉❛♥s ❝❡ ❝❛s ❧❡s éq✉❛t✐♦♥s
tr❛❞✉✐s❡♥t ❧✬❡①✐st❡♥❝❡ ❞❡ q✉❡❧q✉❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❛✐♥s✐ q✉✬✉♥ ♣♦✐♥t ❞✬♦r❞r❡ ✐♥✜♥✐✳ P♦✉r
❝❡❧❛ ♦♥ ❝❤❡r❝❤❡ ❞❡s m ∈ N ❡t ❞❡s ❢❛❝t❡✉rs Fm ❞❡ Pnewm q✉✐ s♦♥t ✐rré❞✉❝t✐❜❧❡s ❞❛♥s ❧❡ ❝❛s
❣é♥ér✐q✉❡ ❡t ♦♥ ✐♠♣♦s❡ q✉✬✐❧s ❛✐❡♥t ❞❡s r❛❝✐♥❡s r❛t✐♦♥♥❡❧❧❡s ✿ Fm(xm) = 0✳
▼✐s à ♣❛rt ❝❡rt❛✐♥s ❢❛❝t❡✉rs ❞❡ Pnewm ❛✈❡❝ m ≤ 12✱ ♦♥ ❛ deg(Fm) ≈ deg(Pnewm ) ≈
deg(Pm) ≈ m2

2 ✳ ❖r ✉♥❡ éq✉❛t✐♦♥ ❞❡ ❞❡❣ré m2

2 ❛✈❡❝ m ≥ 12 ❛ ♣❡✉ ❞❡ ❝❤❛♥❝❡s ❞✬❛✈♦✐r ❞❡s
s♦❧✉t✐♦♥s r❛t✐♦♥♥❡❧❧❡s✳ ❖♥ ✈❛ ❞♦♥❝ s❡ ❧✐♠✐t❡r à m ≤ 12✳
❖♥ r❡♠❛rq✉❡ q✉❡✱ s✐ m = m1 ·m2 ❡t pgcd(m1,m2) = 1✱ ❛❧♦rs E ❛ ❞❡s ♣♦✐♥ts r❛t✐♦♥♥❡❧s
❞✬♦r❞r❡ m1m2 s✐ ❡t s❡✉❧❡♠❡♥t s✐ E ❛ ❞❡s ♣♦✐♥ts r❛t✐♦♥♥❡❧s ❞✬♦r❞r❡ m1 ❡t ❞✬♦r❞r❡ m2✳ ❖r
❧❡s ♣♦✐♥ts ❞✬♦r❞r❡ m1 ❝♦rr❡s♣♦♥❞❡♥t ❛✉① r❛❝✐♥❡s ❞❡ Pnewm1

✳ ❆✐♥s✐ Pnewm1m2
❛ ❞❡s r❛❝✐♥❡s s✐ ❡t

s❡✉❧❡♠❡♥t s✐ Pnewm1
❡t Pnewm2

♦♥t ❞❡s r❛❝✐♥❡s✳ ❖♥ ♣ré❢èr❡ ❞♦♥❝ ❞❡ r❡♠♣❧❛❝❡r Pnewm1m2
(x) = 0

♣❛r Pnewm1
(x′) = 0 ❡t Pnewm2

(x”) = 0 ❝❛r ♦♥ tr❛✈❛✐❧❧❡ ❛✈❡❝ ❞❡s éq✉❛t✐♦♥s ❞❡ ♠♦✐♥❞r❡ ❞❡❣ré✳
P❛r ❝♦♥séq✉❡♥t ♦♥ ♥❡ r❡❣❛r❞❡ q✉❡ ❧❡s ♣♦❧②♥ô♠❡s Pπk ❛✈❡❝ π ❡t k ♣❡t✐ts✳

2e ❝❛s ❖♥ ❝♦♥♥❛ît ✉♥❡ ❝♦✉r❜❡ E/Q ❞❡ ❧❛ ❢❛♠✐❧❧❡ q✉✬♦♥ ❝❤❡r❝❤❡✳ ❆❧♦rs ♦♥ ♣❡✉t ✉t✐❧✐s❡r ❞❡s
éq✉❛t✐♦♥s ♣❧✉s é❧❛❜♦ré❡s✳ P♦✉r ❝❡❧❛ ♦♥ ❝❤❡r❝❤❡ n1 ≤ n2 ∈ N t❡❧s q✉❡ Prob( Z

πn1Z
×

Z
πn2Z

⊂ E/Fp | Z
πn1Z

× Z
πn2−1Z

⊂ E/Fp) ❡st ❞✐✛ér❡♥t❡ ♣♦✉r E ♣❛r r❛♣♣♦rt ❛✉① ❝♦✉r❜❡s
❣é♥ér✐q✉❡s✳ ❈♦♠♠❡ ♦♥ ❧❡ ✈❡rr❛ ❞❛♥s ❧❛ s❡❝t✐♦♥ ✻✱ ❝❡tt❡ ♣r♦❜❛❜✐❧✐té ❞é♣❡♥❞ ❞✉ ❣r♦✉♣❡
Gal(Q(E[πn2+1])/Q(E[πn1 ])) ♦ù ♦♥ ❛ ♥♦té Q(E[m]) ❧✬❡①t❡♥s✐♦♥ ❞❡ Q ❡♥❣❡♥❞ré❡ ♣❛r ❧❡s
❝♦♦r❞♦♥♥é❡s ❞❡s ♣♦✐♥ts ❞❡ E[m]✳ ❖r ❝❡ ❣r♦✉♣❡ ❞é♣❡♥❞ ❞❡s ♣♦❧②♥ô♠❡s ♠✐♥✐♠❛✉① s✉r Q
❞❡s ❝♦♦r❞♦♥♥é❡s ❞❡ E[πn2+1]✳
P❛r ❡①❡♠♣❧❡✱ ♣♦✉r σ = 11✱ π = 2 ❡t ❧❡ ❝♦✉♣❧❡ (n1, n2) = (1, 2) ♦♥ ❛ ✉♥❡ ♣r♦❜❛❜✐❧✐té
❞❡ 100% ❛✉ ❧✐❡✉ ❞❡ 75%✳ ❖♥ r❡❣❛r❞❡ ❞♦♥❝ ❧❡s ♣♦❧②♥ô♠❡s ♠✐♥✐♠❛✉① ❞❡s ❝♦♦r❞♦♥♥é❡s ❞❡
E[22]−E[2] ✐✳❡✳ y2− a+2

b ✱ y2− a−2
b ❡t x4 +2ax3 +6x2 +6ax+1✳ ❖♥ ❝♦♥❝❧✉t q✉❡ σ = 11

✈ér✐✜❡ ✉♥❡ éq✉❛t✐♦♥ q✉✐ ♦❜❧✐❣❡ ♣♦✉r t♦✉t p q✉✬❛✉ ♠♦✐♥s ✉♥ ❞❡s ♣♦❧②♥ô♠❡s ❝✐✲❞❡ss✉s ❛✐t
❞❡s r❛❝✐♥❡s s✉r Fp✳ ❉✬❛♣rès ✹✳✶✳✷✱ ❝❡tt❡ éq✉❛t✐♦♥ ❡st (6)✳ ❆ ❧✬❛✐❞❡ ❞❡ ❝❡tt❡ éq✉❛t✐♦♥ ♦♥
tr♦✉✈❡ ❧❛ ❢❛♠✐❧❧❡ Suyama 11✳

❬➱t❛♣❡ 2.❪ ❈✬❡st ❧✬ét❛♣❡ ❧❛ ♣❧✉s ❞✐✣❝✐❧❡✳ ❖♥ ♣♦✉rr❛✐t ♠ê♠❡ ❞✐r❡ q✉❡ ❧✬❛rt ❞❡ tr♦✉✈❡r ❞❡s
♣❛r❛♠étr✐s❛t✐♦♥s ❝♦♥s✐st❡ à ❝❤♦✐s✐r ❞❡s éq✉❛t✐♦♥s q✉✐ r❡♥❞❡♥t ❧❡ s②stè♠❡ ✉♥❡ ❝♦✉r❜❡ ❞❡ r❛♥❣ 0
♦✉ ❞✉ ♠♦✐♥s 1✳ P❛r ❡①❡♠♣❧❡ ❙✉②❛♠❛ ❛ tr♦✉✈é ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 0✱ ❛❧♦rs q✉❡ ▼♦♥t❣♦♠❡r②
❛ tr♦✉✈é ♣❧✉s✐❡✉r❡s ❢❛♠✐❧❧❡s ❞❡ ❣❡♥r❡ 1 q✉✐ ♦♥t été ♠♦✐♥s ✉t✐❧✐sé❡s ♣♦✉r ❝❡tt❡ r❛✐s♦♥✳

❬➱t❛♣❡ 3.❪ ❙✐ ♦♥ ❛ ❜✐❡♥ ❝❤♦✐s✐ ❧❡s éq✉❛t✐♦♥s✱ ❛❧♦rs ❝❡tt❡ ét❛♣❡ ✈❛ ❞❡ s♦✐✳ ❙✐♥♦♥✱ ✐❧ ❢❛✉❞r❛✐t ✉t✐❧✐s❡r
❧❡s ❜❛s❡s ❞❡ ●rö❜♥❡r✳

❬➱t❛♣❡ 4.❪ ❖♥ ♣❡✉t t♦✉❥♦✉rs ❞é❝♦♠♣♦s❡r C ❝❛r Q[X,Y ] ❡st ✉♥ ❛♥♥❡❛✉ ❢❛❝t♦r✐❡❧✳ ▲❛ ❢♦♥❝t✐♦♥
❋❛❝t♦r✐③❛t✐♦♥ ❞❡ ▼❆●▼❆ ❢❛✐t ❝❡ tr❛✈❛✐❧ ♣♦✉r ♥♦✉s✳

✶✻



❬➱t❛♣❡ 5.❪ ▲❛ ❢♦♥❝t✐♦♥ ●❡♥✉s ❞❡ ▼❆●▼❆ ❝❛❧❝✉❧❡ ❝❡t ✐♥✈❛r✐❛♥t✳

❬➱t❛♣❡ 6.❪ ▲❡ ❝♦❞❡ ✇✐t❤✭❛❧❣❝✉r✈❡s✮ ❀ ♣❛r❛♠❡tr✐s❛t✐♦♥✭❈✭①✱②✮✱①✱②✱s✮ ❀ ❞❡Maple9.5 ❝❛❧✲
❝✉❧❡ ❧✬❡♥s❡♠❜❧❡ ❞❡ s♦❧✉t✐♦♥s ❞✬✉♥❡ ❝♦♥✐q✉❡✳

❬➱t❛♣❡ 7.❪ ▲❛ ❢♦♥❝t✐♦♥ ●❡♥❡r❛t♦rs ❞❡ ▼❆●▼❆ ❝❛❧❝✉❧❡ ✉♥ ❜❛s❡ ❞✉ Z −module libre ❢♦r♠é
❞❡s ♣♦✐♥ts ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ C✳ ❚♦✉t❡❢♦✐s✱ ❡❧❧❡ ♣❡✉t s❡ ❝♦♥t❡♥t❡r ❞❡ ❞♦♥♥❡r ✉♥❡ ❜❛s❡ ❞✬✉♥
s♦✉s✲Z✲♠♦❞✉❧❡ ❞❡ C✳

✺✳✸ ▲✐st❡ ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥

❖♥ ❞♦♥♥❡ ✉♥❡ ❧✐st❡ ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥ ❡♥ ❝♦♦r❞♦♥♥é❡s ❞❡ Montgomery✳

p̃2(x)=x · (x2 + ax+ 1)

p̃new4 =(x− 1) · (x+ 1) · (x4 + 2ax3 + 6x2 + 2ax+ 1)

p̃new8 =(x4 − 4x3 + (−4a− 2)x2 − 4x+ 1) · (x4 + 4x3 + (4a− 2)x2 + 4x+ 1) · Preste
p̃3=x

4 + 4
3ax

3 + 2x2 − 1
3

p̃5(x)=5x12 + 20ax11 + (16a2 + 62)x10 + 80ax9 − 105x8 − 360ax7+
(−240a2 − 300)x6 + (−64a3 − 368a)x5 + (−160a2 − 125)x4 − 140ax3 − 50x2 + 1

p̃7(x)=7x24 + 56ax23 + (112a2 + 308)x22 + (64a3 + 944a)x21+
(672a2 − 2954)x20 − 19656ax19 + (−47040a2 − 19852)x18 + (−60928a3 − 88256a)x17+
(−48384a4 − 179200a2 − 35231)x16 + (−21504a5 − 204288a3 − 177296a)x15+
(−4096a6 − 120320a4 − 348000a2 − 82264)x14 + (−28672a5 − 291200a3 − 329952a)x13+
(−89600a4 − 407232a2 − 111916)x12 + (−164864a3 − 244944a) ∗ x11 + (−111552a2 − 42168)x10+
(35840a3 + 1344a)x9 + (8960a4 + 80640a2 + 15673)x8 + (1024a5 + 25088a3 + 59736a)x7+
(3584a4 + 25200a2 + 14756)x6 + (4928a3 + 10416a)x5 + (3360a2 + 1302)x4 + 1176ax3 + 196x2 − 1

❉❛♥s ❧❡ ❝❛s ❞❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡ Suyama✱ p̃3 s❡ s✐♠♣❧✐✜❡ ♣♦✉r ❞❡✈❡♥✐r ✿

1

3x3
3

· (x− x3) · (3x3
3x

3 − 6x2
3x

2 + x2 + x3x+ x2
3).

❊♥s✉✐t❡ ♦♥ ✐❞❡♥t✐✜❡ ❧❡s ♣♦✐♥ts ❞❡ ❧❛ ❝♦✉r❜❡ ❝♦rr❡s♣♦♥❞❛♥t à ❝❤❛q✉❡ ❢❛❝t❡✉r ❞❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥
q✉✐ ❡st ✐rré❞✉❝t✐❜❧❡ ❛✉ ❝❛s ❣é♥ér✐q✉❡✳

P♦❧②♥ô♠❡ p2 ❡t ♥♦t❛t✐♦♥ ❞❡s ♣♦✐♥ts
♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ (1, 1) (2, 1)
♣♦✐♥ts ❝♦rr❡s♣♦♥❞❛♥ts R P,Q

P♦❧②♥ô♠❡ pnew4

♠♦t✐❢ (2, 1) (4, 1)
♣♦✐♥ts 1

2R := {R1,−R1, R2,−R2} 1
2P

⋃

1
2Q

P♦❧②♥ô♠❡ pnew8

♠♦t✐❢ (4, 1) (4, 1) (16, 1)
♣♦✐♥ts 1

2R1
1
2R2

1
2 ( 1

2P
⋃

1
2Q)

✶✼



❉❛♥s ❧❡ ❝❛s ❞❡ ❧❛ ♣❛r❛♠étr✐s❛t✐♦♥ ❞❡ ❙✉②❛♠❛✱ p3 ❛ ✉♥ ♠♦t✐❢ ❞❡ ❞✐✈✐s✐♦♥ s♣é❝✐❛❧ ✿

P♦❧②♥ô♠❡ P3

♠♦t✐❢ (1, 1) (3, 1)
♣♦✐♥ts M3, (−1)M3 E[3]− {M3, (−1)M3}

✺✳✹ ◆♦✉✈❡❧❧❡s éq✉❛t✐♦♥s

❱♦✐❝✐ ✉♥❡ ❧✐st❡ ❞✬éq✉❛t✐♦♥s q✉✐ ♦♥t été ❡ss❛②é❡s ❧♦rs ❞✉ st❛❣❡✳

❞✶ a2 − 4 = c2

❖♥ ✐♠♣♦s❡ q✉❡ E[2] ❛✐t 4 ♣♦✐♥ts r❛t✐♦♥♥❡❧s ✐✳❡✳ ❧❡s ♣♦✐♥ts P ❡t Q ❝✐✲❞❡ss✉s s♦♥t r❛t✐♦♥♥❡❧s✳
▲❡ s②stè♠❡ {(1), (2), (3), (4), (d1)} ❡st ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 7✱ ❞♦♥❝ ✉♥❡ ❢❛♠✐❧❧❡ ✜♥✐❡✳

❞✷ a− 2 = (−1)bc2

❈✬❡st ✉♥❡ éq✉❛t✐♦♥ ❞✉❛❧❡ ❞❡ ❝❡❧❧❡ q✉✬♦♥ ✉t✐❧✐s❡ ♣♦✉r ❧❛ ❢❛♠✐❧❧❡ Suyama 11✳
▲❡ s②stè♠❡ {(1), (2), (3), (4), (d2)} ❡st ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 1✱ ❞♦♥❝ ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❙♦♥
r❛♥❣ ✈❛✉t 1✱ ❞♦♥❝ ♦♥ ❛ ✉♥❡ ❢❛♠✐❧❧❡ ✐♥✜♥✐❡✳ ■❧ s❡ tr♦✉✈❡ q✉❡ ❝❤❛q✉❡ ❝♦✉r❜❡ ❞❡ ❝❡tt❡ ❢❛♠✐❧❧❡ ❡st
✐s♦♠♦r♣❤❡ à ✉♥❡ ❝♦✉r❜❡ ❞❡ ❧❛ ❢❛♠✐❧❧❡ Suyama 11✳

❞✸ a+ 2 = bc2

❖♥ ✐♠♣♦s❡ q✉❡ ❧❡ ♣♦✐♥t R1 ❝✐✲❞❡ss✉s s♦✐t r❛t✐♦♥♥❡❧✳
▲❡ s②stè♠❡ {(1), (2), (3), (d3)} ❡st ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 1✳ ❙♦♥ r❛♥❣ ✈❛✉t 0✱ ❞♦♥❝ ❡❧❧❡ ❡st ✜♥✐❡✳
●râ❝❡ à ▼❆●▼❆ ♦♥ ❛ ❧❛ ❧✐st❡ ❝♦♠♣❧èt❡ ❞❡s ✈❛❧❡✉rs ❞❡ σ ✿ {−3, 5,−1, 5

3}✳ ❖r t♦✉t❡s ❝❡s ✈❛❧❡✉rs
❞♦♥♥❡s ❞❡s ❝♦✉r❜❡s s✐♥❣✉❧✐èr❡s✳ ❉♦♥❝ ❝❡tt❡ ❢❛♠✐❧❧❡ ❡st ✈✐❞❡✳

❞✹ a− 2 = bc2

❖♥ ✐♠♣♦s❡ q✉❡ ❧❡ ♣♦✐♥t R2 ❝✐✲❞❡ss✉s s♦✐t r❛t✐♦♥♥❡❧✳
❖♥ tr♦✉✈❡ ✉♥❡ ❢❛♠✐❧❧❡ ✐s♦♠♦r♣❤❡ ❝♦✉r❜❡ ♣❛r ❝♦✉r❜❡ ❛✈❡❝ ❝❡❧❧❡ ❞❡ d3✳

❞✺ p̃5(x5) = 0
❖♥ ✐♠♣♦s❡ ✉♥ ♣♦✐♥t ❞❡ 5✲t♦rs✐♦♥ r❛t✐♦♥♥❡❧✳ ❯♥❡ t❡❧❧❡ ❝♦✉r❜❡ ❛✉r❛✐t 10 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ s✉r
Q ❡t 20 | #E/Fp ♣♦✉r t♦✉t p ♣r❡♠✐❡r✳
▲✬éq✉❛t✐♦♥ d5 s❡✉❧❡ ❡st ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 1✳ ❈♦♠♠❡ ❡❧❧❡ ♣♦ssè❞❡ ❧❡ ♣♦✐♥t (x5 = 2, a = −1)✱
✐❧ s✬❛❣✐t ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❆ ❧✬❛✐❞❡ ❞❡ ▼❆●▼❆ ♦♥ ❛♣♣r❡♥❞ q✉❡ ❧❛ ❝♦✉r❜❡ ❛ r❛♥❣ 0✱ ❞♦♥❝
❡❧❧❡ ❡st ✜♥✐✳ ❋✐♥❛❧❡♠❡♥t ❡❧❧❡ ❛ 6 ♣♦✐♥ts✱ ② ❝♦♠♣r✐s O ❞♦♥❝ 5 ♣♦♥ts ❛✣♥❡ q✉✐ ❞♦♥♥❡♥t ❝❤❛❝✉♥
✉♥❡ ❝♦✉r❜❡ ♣♦ss✐❜❧❡♠❡♥t s✐♥❣✉❧✐èr❡✳

❞✻ p̃7(x7) = 0
▲✬éq✉❛t✐♦♥ d6 s❡✉❧❡ ❞♦♥♥❡ ✉♥❡ ❝♦✉r❜❡ ❞❡ ❣❡♥r❡ 4✳ ❖♥ ❛ ❞♦♥❝ ✉♥❡ ❢❛♠✐❧❧❡ ✜♥✐❡✱ ✈♦✐r ✈✐❞❡✳ ❖♥
r❡tr♦✉✈❡ ❧❡ rés✉❧t❛t ❣râ❝❡ ❛✉ t❤é♦rè♠❡ ❞❡ ▼❛③✉r✳ ❊♥ ❡✛❡t ❧❡s ❝♦✉r❜❡s ❞❡ ❝❡tt❡ ❢❛♠✐❧❧❡ ❛✉r❛✐❡♥t
✉♥ ♣♦✐♥t ❞✬♦r❞r❡ 14 s✉r Q✳

❞✼ x∞ =
3x2

3+1
4x3

▲❡ s②stè♠❡ {(1), (2), (3), (d6), (d1)} r❡tr♦✉✈❡ ❧❛ ❢❛♠✐❧❧❡ Montgomery 12✳

❞✽ p3(x
deux
3 ) = 0

❖♥ ✐♠♣♦s❡ ✉♥❡ ❞❡✉①✐è♠❡ r❛❝✐♥❡ ❞❡ P3 s✉r Q✳ ❆✉tr❡♠❡♥t ❞✐t✱ ♦♥ ✐♠♣♦s❡ q✉❡ E[3] ❛✐t 9 ♣♦✐♥ts
r❛t✐♦♥♥❡❧s✳
▲❡ s②stè♠❡ {(3), (d8)} ❛ ❝♦♠♠❡ s♦❧✉t✐♦♥s ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❞❡ r❛♥❣ 0✳ ❚♦✉s s❡s ♣♦✐♥ts
❞♦♥♥❡♥t ❞❡s ❝♦✉r❜❡s s✐♥❣✉❧✐èr❡s✳ ❖♥ r❡tr♦✉✈❡ ❧❡ rés✉❧t❛t ♣❛r ❧❡ t❤é♦rè♠❡ ❞❡ ▼❛③✉r ❝❛r ❛✉❝✉♥
❣r♦✉♣❡ ❞❡ t♦rs✐♦♥ ♣♦ss✐❜❧❡ ♥❡ ♣❡✉t ❝♦♥t❡♥✐r Z

3Z
× Z

3Z
✳

✶✽



❞✾ (xdeux∞ )3 + a(xdeux∞ )2 + xdeux∞ = c2(x3
3 + ax3 + x3)

❖♥ ✐♠♣♦s❡ à ❧❛ ❝♦✉r❜❡ ❞✬❛✈♦✐r r❛♥❣ ≥ 2 s✉r Q✳ ❊♥ ❡✛❡t ♦♥ ♣❡✉t ❡s♣ér❡r ❛✉❣♠❡♥t❡r ❧❛ ♣r♦❜❛✲
❜✐❧✐té q✉❡ ❧✬♦r❞r❡ s♦✐t B1 − friable ❡♥ ❛✉❣♠❡♥t❛♥t ❧❡ r❛♥❣ s✉r Q✳
❖♥ tr♦✉✈❡ ✉♥❡ ❢❛♠✐❧❧❡ ✐♥✜♥✐❡ ❞❡ s♦❧✉t✐♦♥s ❞✉ s②stè♠❡ {(1), (2), (3), (4), (d8)}
❖♥ r❡♠❛rq✉❡ ❡①♣ér✐♠❡♥t❛❧❡♠❡♥t q✉❡ ❧❡s ❝♦✉r❜❡s ❞✬✉♥ r❛♥❣ ♣❧✉s ❣r❛♥❞ s❡ ❝♦♠♣♦rt❡♥t ❞❡ ♠❛✲
♥✐èr❡ ✐❞❡♥t✐q✉❡ q✉❡ ❧❡s ❝♦✉r❜❡s ❞✬✉♥ r❛♥❣ ♣❧✉s ♣❡t✐t✳ ❈❡❧❛ s✬❡①♣❧✐q✉❡ ♣❛r ❧❡ ❢❛✐t q✉✬♦♥ ♣❡✉t
❝❤❛♥❣❡r ❧❡ r❛♥❣ s❛♥s ❝❤❛♥❣❡r ❧❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥✳ ❖r s❡✉❧s ❧❡s ♣♦❧②♥ô♠❡s ❞❡ ❞✐✈✐s✐♦♥
❞ét❡r♠✐♥❡♥t ❧❛ ♣r♦❜❛❜✐❧✐té ❞✬êtr❡ B1 − friable✳

❞✶✵ p1(x8) = 0 ❡t ♦ù p1 ❡st ❧❡ ❢❛❝t❡✉r ❞❡ p̃new8 ✳
▲❡ s②stè♠❡ {(d1), (d10)} tr❛❞✉✐t q✉❡ ❧❛ ❝♦✉r❜❡ ❝♦♥t✐❡♥t t♦✉t❡ ❧❛ 2 − torsion ❡t ✉♥ ♣♦✐♥t ❞❡
8− torsion✳ ❖♥ r❡tr♦✉✈❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡s ❝♦✉r❜❡s à 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ s✉r Q✱ q✉❡ ❧✬♦♥ ❞ét❛✐❧❧❡
❞❛♥s ❧❛ s♦✉s✲s❡❝t✐♦♥ s✉✐✈❛♥t❡✳

✺✳✺ ❆♣♣❧✐❝❛t✐♦♥ ✿ ❧❛ ❢❛♠✐❧❧❡ Montgomery 16

❘és♦❧✈♦♥s ❧❡ s②stè♠❡ {(d1), (d10)}✳ ❖♥ t❡st❡ q✉❡ s✐ x8 ✈ér✐✜❡ (d10)✱ ❛❧♦rs ❧✬éq✉❛t✐♦♥ by2
8 =

x3
8 +ax2

8 +x8 ❛❞♠❡t ✉♥❡ r❛❝✐♥❡ r❛t✐♦♥♥❡❧❧❡ y8✳ ❉♦♥❝ {(d1), (d10)} ❝❛r❛❝tér✐s❡ ❧❡s ❝♦✉r❜❡s s♦✉s
❢♦r♠❡ ❞❡ ▼♦♥t❣♦♠❡r② ❛✈❡❝ 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ s✉r Q✱ ♥♦té❡ 16T ✳ ❉❛♥s ❬▼♦♥✾✷❪ ✐❧ ❡st ♠♦♥tré
q✉❡ t♦✉t❡ ❝♦✉r❜❡ ❛✈❡❝ 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ s✉r Q s❡ ♠❡t s♦✉s ❢♦r♠❡ ❞❡ ▼♦♥t❣♦♠❡r②✳ ▲❡s

s♦❧✉t✐♦♥s ❞✉ s②stè♠❡ s♦♥t ✿











x8 = 1−t2
6+2t

a =
x4
8−4x3

8−2x2
8−4x8+1

4x82 t ∈ Q

b = (x2
8 − 1)2

❘❡♠❛rq✉♦♥s q✉❡ ❝❡tt❡ ♣❛r❛♠étr✐s❛t✐♦♥ 16T ❝♦ï♥❝✐❞❡ ❛✈❡❝ ❝❡❧❧❡ ❞♦♥♥é❡ ❞❛♥s ❬▼♦♥✾✷❪✳ ❊♥ ❡✛❡t✱

❞❛♥s ❬▼♦♥✾✷❪✱ 16T ❡st ♣❛r❛♠étré❡ ♣❛r

{

b = 1

a = r2 + 1
r2 r t❡❧ q✉❡ r2 + 1 = k2 ❛✈❡❝ k, r ∈ Q.

P♦✉r ♣❛ss❡r ❞✬✉♥❡ ♣❛r❛♠étr✐s❛t✐♦♥ à ❧✬❛✉tr❡ ♦♥ ❢❛✐t y′ = y(x2
8−1) ♣♦✉r ❝❤❛♥❣❡r b✳ ❖♥ r❡tr♦✉✈❡

❧❡s ♠ê♠❡s ✈❛❧❡✉rs ❞❡ a ♣❛r ❧❡s ❞❡✉① ♣❛r❛♠étr✐s❛t✐♦♥s ❣râ❝❡ à

r =
t2 + 2t− 3

4(t+ 1)

r❡s♣❡❝t✐✈❡♠❡♥t x8 =
k2 + r + k(r + 1)

r
♦ù k2 = r2 + 1.

❆✜♥ ❞❡ tr♦✉✈❡r ❞❡s s♦✉s✲❢❛♠✐❧❧❡s ❞❡ 16T ❞❡ r❛♥❣ ♣♦s✐t✐❢✱ ▼♦♥t❣♦♠❡r② ♣r❡♥❞ ❞❛♥s ❬▼♦♥✾✷❪
✉♥ ❡♥s❡♠❜❧❡ F ❞✬éq✉❛t✐♦♥s ❛❞✲❤♦❝ ❡t rés♦✉t ❧❡ s②stè♠❡ {(d1), (d10), (f)} ♣♦✉r ❝❤❛q✉❡ f ∈ F ✳
▲❛ ♣❧✉♣❛rt ❞❡ ❝❡s s②stè♠❡s s♦♥t éq✉✐✈❛❧❡♥ts à ❞❡s ❝♦✉r❜❡s ❞❡ ❣❡♥r❡ 1 ❡t ❧❡✉r r❛♥❣ ❡♥ t❛♥t
q✉❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❡st ♥♦♥ ♥✉❧✳ ❆✐♥s✐✱ ▼♦♥t❣♦♠❡r② ❞♦♥♥❡ ✉♥❡ ❝♦❧❧❡❝t✐♦♥ ❞❡ ❢❛♠✐❧❧❡s ✐♥✜♥✐❡s
❛②❛♥t 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❡t ✉♥ ❛✉tr❡ ♣♦✐♥t ♣♦ss✐❜❧❡♠❡♥t ❞✬♦r❞r❡ ✐♥✜♥✐✳ ❑r✉♣♣❛ ❛ r❡♠❛rq✉é
q✉❡ ❧❡ ♣♦✐♥t x∞ ♣❡✉t êtr❡ ❞❡ t♦rs✐♦♥✳ ■❧ ❢❛✉t ❞♦♥❝ ✈ér✐✜❡r✱ ♣♦✉r ❝❤❛q✉❡ ❝♦✉r❜❡ ❞❡Montgomery
16 q✉❡ s♦♥ x∞ ♥✬❛♥♥✉❧❡ ♣❛s P2 · P3 · ... · P16✳ ❱♦✐r ❧❛ ❞✐s❝✉ss✐♦♥ ❞❡ ✸✳✶✳
P♦✉r ❝♦♥t✐♥✉❡r ❧❡s ❝❛❧❝✉❧s✱ ♦♥ ♣ré❢èr❡ ❢❛✐r❡ ❞❡s ♥♦t❛t✐♦♥s ❡♥ s✉✐✈❛♥t ❬▼♦♥✾✷❪✳ ❆✐♥s✐ ✉♥❡ ❝♦✉r❜❡

❣é♥ér✐q✉❡ à 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ ❡st ❞✉ t②♣❡ E : y2 = x3 + (α
2

β2 + β2

α2 )x2 + x ♦ù α := 2τ ❡t
β := τ2 − 1 ❛✈❡❝ τ ∈ Q✳ ❖♥ ♣r❡♥❞ ❧✬éq✉❛t✐♦♥ f : x∞ = α

β ❡t ♦♥ rés♦✉t {(d1), (d10), (f), (3′′)}
♦ù (3′′) ❞és✐❣♥❡ y2

∞ = x3
∞ + (α

2

β2 + β2

α2 )x2
∞ + x∞✳

✶✾



❊♥ r❡♠♣❧❛ç❛♥t x∞✱ α ❡t β ❡♥ ❢♦♥❝t✐♦♥ ❞❡ τ ✱ ❧✬éq✉❛t✐♦♥ (3”) ❞❡✈✐❡♥t (τ2+2τ−1)2(τ2−1)−4(τ4−
2τ3 + 2τ2 + 2τ + 1) = y2

∞✳ ❊♥ ❡♥❣❧♦❜❛♥t ❧❡ ❝❛rré à y2
∞ ♦♥ tr♦✉✈❡ ❧✬éq✉❛t✐♦♥ éq✉✐✈❡❧❛♥t❡ ✿

τ4 − 2τ3 + 2τ2 + 2τ + 1 = k2 ♦ù k = (τ2 − 1)2 y∞
τ2−2τ−1 . ■❧ s✬❛❣✐t ❞✬✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ ❣râ❝❡

à ❧❛q✉❡❧❧❡ ♦♥ ❝❛❧❝✉❧❡ τ ♣♦✉r q✉✬❡♥s✉✐t❡ ♦♥ ❝❛❧❝✉❧❡ t♦✉t❡s ❧❡s ❛✉tr❡s ✐♥❝♦♥♥✉❡s✳

P♦✉r ❛♠❡♥❡r ❝❡tt❡ ❝♦✉r❜❡ s✉r ✉♥❡ ❢♦r♠❡ ❝❛♥♦♥✐q✉❡ ♦♥ ♣♦s❡ ✿

{

τ := w
2u ,

k := −2u3+2u2−2uw+u2

2u2 .

❖♥ tr♦✉✈❡ ❛❧♦rs ❧❛ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ F : w2− 2uw+ 6w = u3− 2u2− 3u. ▼❆●▼❆ ❝❛❧❝✉❧❡ ❧❡s
❣é♥ér❛t❡✉rs ❞❡ F ✿ P (−3,−6)✱ Q(1,−2) ❡t M(5,−6)✳ ❊♥ ❝♦♥❝❧✉s✐♦♥✱ ♦♥ ❝❛❧❝✉❧❡ u ❡t v ❝♦♠♠❡
❝♦♦r❞♦♥♥é❡s ❞✬✉♥ ♣♦✐♥t nP ∗P +nQ ∗Q+nM ∗M s✉r F ✳ ❖♥ r❡tr♦✉✈❡ τ ❡t k ❣râ❝❡ ❛✉ ❢♦r♠✉❧❡s
♣❧✉s ❤❛✉t✳ ❋✐♥❛❧❡♠❡♥t ♦♥ r❡♠♣❧❛❝❡ ♣♦✉r tr♦✉✈❡r α✱ β ❡t x∞✳ ❆✈❡❝ ❝❡s ✈❛❧❡✉rs ♦♥ ♣❡✉t ❧❛♥❝❡r
❊❈▼✳
❱♦✐❝✐ ♣❧✉s ❜❛s ✉♥❡ ✐♠♣❧é♠❡♥t❛t✐♦♥ ♣♦ss✐❜❧❡ ✿

❢✉♥❝t✐♦♥ ❝❛❧❝✉❧❡❴❝♦✉r❜❡❴s✉r❴▼✶✻✭♥P✱♥◗✱♥▼✮

❋✿❂❊❧❧✐♣t✐❝❈✉r✈❡✭❬✲✷✱✲✷✱✻✱✲✸✱✵❪✮❀✴✴❋ ❝♦✉r❜❡ s✉r ❧❛q✉❡❧❧❡ ❤❛❜✐t❡♥t ❧❡s ♣❛r❛♠ètr❡s

P✿❂❋✦❬✲✸✱✲✻✱✶❪❀ ◗✿❂❋✦❬✶✱✲✷✱✶❪❀ ▼✿❂❋✦❬✺✱✲✻✱✶❪❀

❘✿❂♥P✯P✰♥◗✯◗✰♥▼✯▼❀

✉✿❂❘❬✶❪❀ ✇✿❂❘❬✷❪❀

t❛✉✿❂✇✴✭✷✯✉✮❀

❦✿❂✭✲✷✯✉❫✸ ✰ ✷✯✉❫✷ ✲ ✷✯✉✯✇ ✰ ✇❫✷✮✴✭✷✯✉✮❫✷❀

❛❧♣❤❛✿❂✷✯t❛✉❀ ❜❡t❛✿❂t❛✉❫✷✲✶❀

❛✿❂❛❧♣❤❛❫✷✴❜❡t❛❫✷✰❜❡t❛❫✷✴❛❧♣❤❛❫✷❀ ❜✿❂✶❀

❆✿❂✭✸✲❛❫✷✮✴✭✸✯❜❫✷✮❀ ❇✿❂✭✷✯❛❫✸✴✾✲❛✮✴✭✸✯❜❫✸✮❀

❊✿❂❊❧❧✐♣t✐❝❈✉r✈❡✭❬❆✱❇❪✮❀✴✴ ❝♦✉r❜❡ ❞é❢✐♥✐❡ ♣❛r ✭♥P✱♥◗✱♥▼✮

①❴✐♥❢t②✿❂❛❧♣❤❛✴❜❡t❛❀✴✴ ❡♥ ❝♦♦r❞♦♥♥❡❡s ❞❡ ▼♦♥t❣♦♠❡r②

✴✴ ②❴✐♥❢t②✿❂❦✯✭t❛✉❫✷✰✷✯t❛✉✲✶✮✴✭t❛✉❫✷✲✶✮❫✷❀

✴✴ ❨✿❂❜✯②❴✐♥❢t②❀

✴✴ ❳✿❂✭✸✯①❴✐♥❢t②✰❛✮✴✭✸✯❜✮❀✴✴ ❡♥ ❝♦♦r❞♦♥♥❡❡s ❞❡ ❲❡✐❡rstr❛ss

✴✴ P❴✐♥❢t②✿❂❊✦❬❳✱❨✱✶❪❀

r❡t✉r♥ ❛✱❜✱①❴✐♥❢t②❀

❡♥❞ ❢✉♥❝t✐♦♥❀

❖♥ r❡♠❛rq✉❡ q✉❡ ♣♦✉r t♦✉t n ∈ Z ❧❡s ❝♦✉r❜❡s ❞é✜♥✐❡s ♣❛r (0, 0, n)✱ (1, 0, n)✱ (0, 1, n) ❡t
(1, 1, n) ♦♥t ❧❡ ♠ê♠❡ j✲✐♥✈❛r✐❛♥t✱ ❞♦♥❝ s♦♥t ✐s♦♠♦r♣❤❡s✳ ❖♥ ✉t✐❧✐s❡ ❛❧♦rs s❡✉❧❡♠❡♥t ❧❛ ❜r❛♥❝❤❡
{(0, 0, n)/n ∈ Z}✳
❯♥ ❛✉tr❡ ♣r♦❜❧è♠❡ ❡st ❞❡ s✬❛ss✉r❡r q✉❡ ❧❡ ♣♦✐♥t P∞(X∞, Y∞) q✉✬♦♥ ❛❥♦✉t❡ s✉r ❧❛ ❝♦✉r❜❡
❡st ❡✛❡❝t✐✈❡♠❡♥t ❞✬♦r❞r❡ ✐♥✜♥✐✳ ❉❡s ❡①♣ér✐♠❡♥t❛t✐♦♥s ♠♦♥tr❡ q✉❡ ordre(P∞) = ∞ ♣♦✉r
(nP, nQ, nM) ∈ {(0, 0, n)/1 ≤ n ≤ 128}✳ ❚♦✉t❡❢♦✐s✱ s✐ ♦♥ ❡st✐♠❡ q✉❡ ❧❡ ❝❛s ♦ù ordre(P∞) <∞
❡st tr♦♣ ❢réq✉❡♥t✱ ❛❧♦rs ♦♥ ♣❡✉t t❡st❡r q✉❡ P∞ ♥✬❡st ♣❛s ❞❡ t♦rs✐♦♥ ❛✈❛♥t ❞❡ ❧❛♥❝❡r ❊❈▼✳
❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ❞❡ ▼❛③✉r✱ ✉♥❡ ❝♦✉r❜❡ ♥❡ ♣❡✉t ♣❛s ❛✈♦✐r ♣❧✉s ❞❡ 16 ♣♦✐♥ts ❞❡ t♦rs✐♦♥ s✉r
Q✳ ❖r ❧❡s ❝♦✉r❜❡s ❞❡ ❧❛ ❢❛♠✐❧❧❡s Montgomery 16 ❡♥ ♦♥t ❞é❥à 16✳ P♦✉r q✉❡ ❧❡ ♣♦✐♥t ❡♥ ♣❧✉s
s♦✐t ❞❡ t♦rs✐♦♥ ✐❧ ❢❛✉t q✉✬✐❧ ❝♦ï♥❝✐❞❡ ❛✈❡❝ ✉♥ ❞❡s ♣♦✐♥ts ❞❡ t♦rs✐♦♥✱ ❞♦♥❝ q✉❡ s♦♥ ♦r❞r❡ ❞✐✈✐s❡
8✳ ■❧ s✉✣t ❞♦♥❝ ❞❡ t❡st❡r s✐ 8 ∗ P∞ = O✳
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✻ ❱❡rs ✉♥❡ ❡st✐♠❛t✐♦♥ ♣ré❝✐s❡ ❞❡ ❧❛ ✈❛❧✉❛t✐♦♥

✻✳✶ ❚❤é♦rè♠❡ ❞❡ ❈❤❡❜♦t❛rë✈

❖♥ ♥❡ ❞✐s♣♦s❡ ♣❛s ❞❡ ❢♦r♠✉❧❡ ❝❛♣❛❜❧❡ ❞❡ ❞♦♥♥❡r ♣♦✉r ✉♥❡ ❝♦✉r❜❡ E(a, b) ❧❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡
❡♥ ✉♥ ♣r❡♠✐❡r π✳ P❛r ❝♦♥tr❡ ♦♥ ✈❛ ❧✬❡st✐♠❡r à ❧✬❛✐❞❡ ❞❡ ❧✬❤②♣♦t❤ès❡ q✉❡ E ❡st ✉♥❡ ❝♦✉r❜❡ ❣é♥ér✐q✉❡
❞✬✉♥❡ ❝❡rt❛✐♥❡ ❢❛♠✐❧❧❡✳

❉❛♥s ❝❡tt❡ s❡❝t✐♦♥ ♦♥ ✈❛ ✉t✐❧✐s❡r ❧❛ t❤é♦r✐❡ ❞❡ ❧❛ ♠❡s✉r❡ ♣♦✉r ❞♦♥♥❡r ✉♥ s❡♥s à ❧❛ ✈❛❧✉❛t✐♦♥
♠♦②❡♥♥❡✳ ❖♥ ♠✉♥✐t ❞♦♥❝ ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣r❡♠✐❡rs ❞✬✉♥❡ tr✐❜✉ ❡t ❞✬✉♥❡ ♠❡s✉r❡✳

❉é✜♥✐t✐♦♥ ✶✶✳ ❙♦✐t S ✉♥ ❡♥s❡♠❜❧❡ ❞❡ ♥♦♠❜r❡s ♣r❡♠✐❡rs✳ ❖♥ ❞✐t q✉❡ S ❛ ✉♥❡ ❞❡♥s✐té δ s✐

#{p ≤ x; p ∈ S}
#{p ≤ x; p ♣r❡♠✐❡r} → δ ♣♦✉r x→∞✳

❉é✜♥✐t✐♦♥ ✶✷✳ ❖♥ ♥♦t❡ P ❧✬❡♥s❡♠❜❧❡ ❞❡s ♣r❡♠✐❡rs✳ ❖♥ ❞✐t q✉✬✉♥❡ ♣❛rt✐❡ S ❞❡ P ❡st µ ♠❡s✉r❛❜❧❡
s✐ ❡t s❡✉❧❡♠❡♥t s✐ ❡❧❧❡ ❛ ✉♥❡ ❞❡♥s✐té✳ ❉❛♥s ❝❡ ❝❛s ♦♥ ♣♦s❡ µ(S) é❣❛❧❡ à ❧❛ ❞❡♥s✐té ❞❡ S✳

❘❡♠❛rq✉❡ ✶✺✳ ❖♥ ❛ µ(P) = 1✱ ❞♦♥❝ µ ❡st ✉♥❡ ♠❡s✉r❡ ❞❡ ♣r♦❜❛❜✐❧✐tés✳ ❉❡ ♣❧✉s ♣♦✉r t♦✉t F ⊂ P
✜♥✐ ♦♥ ❛ µ(F ) = 0✳

❱♦②♦♥s ♠❛✐♥t❡♥❛♥t ❝♦♠♠❡♥t ♣❡✉t s❡ ❞é❝♦♠♣♦s❡r ✉♥ ♣♦❧②♥ô♠❡ f ∈ Q[X] q✉❛♥❞ ♦♥ ❧❡ ♣❧♦♥❣❡
❞❛♥s Fp✳

❉é✜♥✐t✐♦♥ ✶✸✳ ❙♦✐t f = anX
n + an−1X

n−1 + ...+ a0 ∈ Q[X] ❡t d = dnominateur(a0 · a1 · ... · an)
❡t p ✉♥ ♥♦♠❜r❡ ♣r❡♠✐❡r t❡❧ q✉❡ p ∤ ∆(f) · d✳ ❆❧♦rs ♦♥ ❞✐t q✉❡ f s❡ ré❞✉✐t ♠♦❞✉❧♦ p✳

◆♦t❛t✐♦♥ ✹✳ ❙♦✐t f ∈ Q[X] ❡t p ♣r❡♠✐❡r t❡❧ q✉❡ f s❡ ré❞✉✐t ♠♦❞✉❧♦ p✳

✶✳ ❖♥ ♥♦t❡ α1, ..., αn s❡s r❛❝✐♥❡s ❝♦♠♣❧❡①❡s ❡t Dec(f) = Q(α1, ..., αn) s♦♥ ❝♦r♣s ❞❡ ❞é❝♦♠♣♦s✐✲
t✐♦♥✳

✷✳ ❖♥ ♥♦t❡ G = Gal(Dec(f)/Q)✳

✸✳ ❙♦✐t p ·ODec(f) = p1...pk ❧❛ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ✐❞é❛✉① ♣r❡♠✐❡rs ❞❡ p ❞❛♥s Dec(f)✳ ❈♦♠♠❡ f s❡
ré❞✉✐t ♠♦❞✉❧♦ p✱ ✐❧ ❡①✐st❡ ❡①❛❝t❡♠❡♥t ✉♥ τi ∈ G ♣♦✉r ❝❤❛q✉❡ pi t❡❧ q✉❡ ∀x ∈ Dec(f).xp−τi(x) ∈
pi✳ ❖♥ ❛♣♣❡❧❧❡ ❋r♦❜❡♥✐✉s ❞❡ f s✉r p ❧✬❡♥s❡♠❜❧❡ Frob(p) := {τ1, ..., τk}✳

❘❡♠❛rq✉❡ ✶✻✳ ▲❡s é❧é♠❡♥ts ❞❡ {τ |{α1,...,αn} | τ ∈ Frob(p)} s❡ ❞é❝♦♠♣♦s❡♥t ❡♥ ❝②❝❧❡s ❞❡ ❧❛ ♠ê♠❡
♠❛♥✐èr❡✳ P♦✉r ❝❡❧❛ ♦♥ ♣♦s❡ ♣♦✉r t♦✉t τ ∈ G✱ τ̃ = τ |{α1,...,αn}✳ ❙♦✐❡♥t τ ❡t τ ′ ❞❛♥s Frob(p)✳ ❖♥ ♣❡✉t
✈ér✐✜❡r q✉❡ Frob(p) ❡st ✉♥❡ ❝❧❛ss❡ ❞❡ ❝♦♥❥✉❣❛✐s♦♥ ❞❡ G✱ ❞♦♥❝ ✐❧ ❡①✐st❡ g ∈ G t❡❧ q✉❡ τ ′ = gτg−1✳
P❛r ❝♦♥séq✉❡♥t✱ τ̃ ′ = g̃τ̃ g̃−1✳ ❉♦♥❝ ❧❡s ♣❡r♠✉t❛t✐♦♥s τ̃ ❡t τ̃ ′ s♦♥t ❝♦♥❥✉❣✉é❡s✳ ❆✐♥s✐ ❡❧❧❡s ♦♥t ❧❡ ♠ê♠❡
♠♦t✐❢ ❞❡ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ❝②❝❧❡s ❞✐s❥♦✐♥ts✳

❉é✜♥✐t✐♦♥ ✶✹✳ ❙♦✐t p ❝♦♠♠❡ ❞❛♥s ❧❛ ♥♦t❛t✐♦♥ ♣ré❝é❞❡♥t❡ ❡t Frob(p) ❞é✜♥✐t ♣❧✉s ❤❛✉t✳ ❖♥ ❛♣♣❡❧❧❡
♠♦t✐❢ ❞❡ ❝②❝❧❡s ❞❡ f s✉r p ❧❡ ♠♦t✐❢ ❝♦♠♠✉♥ ❞❡ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ❝②❝❧❡s ❞❡s é❧é♠❡♥ts ❞❡ Frob(p)✳

❚❤é♦rè♠❡ ✻✳ ❙♦✐t f ∈ Q[X] ❡t p ♣r❡♠✐❡r t❡❧ q✉❡ f s❡ ré❞✉✐t ♠♦❞✉❧♦ p✳ ❆❧♦rs ❧❡s tr♦✐s q✉❛♥t✐tés
s✉✐✈❛♥t❡s s♦♥t é❣❛❧❡s ✿

✭✐✮ ❧❡ ♠♦t✐❢ ❞❡ ❞é❝♦♠♣♦s✐t✐♦♥ ❡♥ ❝②❝❧❡s ❞❡ f s✉r p ❀

✭✐✐✮ ❧❡ ♠♦t✐❢ ❞❡s ❝②❝❧❡s ❞❡ fr|{r❛❝✐♥❡s ❞❡ f} ♦ù fr : Fp → Fp✱ x 7→ xp ❀

✭✐✐✐✮ ❧❡ ♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ f s✉r p✳
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❉é♠♦♥str❛t✐♦♥✳ (i) = (ii) ❈♦♠♠❡ p ∤ ∆(f)✱ f ❛ ❞❡s r❛❝✐♥❡s s✐♠♣❧❡s s✉r Q ❡t s✉r Fp✳ ❙♦✐t p ✉♥ ✐❞é❛❧
❛✉✲❞❡ss✉s ❞❡ p ❡t τ ∈ G s♦♥ ❛✉t♦♠♦r♣❤✐s♠❡ ❛ss♦❝✐é ❝♦♠♠❡ ♣❧✉s ❤❛✉t✳ ❙♦✐t k ❧❡ ❞❡❣ré ❞✬✐♥❡rt✐❡ ❞❡
p✳ ❖♥ ❞é✜♥✐t ψτ : Dec(f)→ Fp✱ x 7→ x+ p ∈ Dec(f)/p = Fpk ⊂ Fp✳ ❖♥ ❛ ❛❧♦rs fr ◦ ψτ = ψτ ◦ τ ✳

❙♦✐t αi ✉♥❡ r❛❝✐♥❡ ❝♦♠♣❧❡①❡s ❞❡ f ✳ ❈♦♠♠❡ ψτ ❡st ✉♥ ❤♦♠♦♠♦r♣❤✐s♠❡ ❞✬❛♥♥❡❛✉① ❡t f ❡st ✉♥
♣♦❧②♥ô♠❡✱ f(ψτ (αi)) = ψτ (f(αi)) = 0✳ ❉♦♥❝ ψτ (αi) ❡st r❛❝✐♥❡ ❞❡ f ✳ ❈♦♠♠❡ #{ψτ (αi)/1 ≤ i ≤
n} = n = deg(f)✱ ❝❡ s♦♥t t♦✉t❡s ❧❡s r❛❝✐♥❡s ❞❡ f ❞❛♥s Fp✳
❖♥ ♥♦t❡ σ ∈ Sn ❧✬❛❝t✐♦♥ ❞❡ fr s✉r ❧❡s ✐♥❞✐❝❡s ❞❡s r❛❝✐♥❡s ❞❡ f ❞❛♥s Fp ✐✳❡✳ {ψτ (αi)/1 ≤ i ≤ n} ✿
fr(ψτ (αi)) = ψτ (ασ(i))✳ ❉❡ ♠ê♠❡ ♦♥ ♥♦t❡ σ′ ∈ Sn ❧✬❛❝t✐♦♥ ❞❡ τ s✉r ❧❡s ✐♥❞✐❝❡s ❞❡s r❛❝✐♥❡s ❞❡ f
❞❛♥s C ✿ τ(αi) = ασ′(i)✳ ❖♥ ❛ ❛❧♦rs ψτ (ασ′(i)) = ψτ (τ(αi)) = fr(ψτ (αi)) = ψτ (ασ(i))✳ ❈♦♠♠❡
ψτ |{r❛❝✐♥❡s ❞❡ f} ❡st ✐♥❥❡❝t✐❢ ❡t ❧❡s r❛❝✐♥❡s s♦♥t ❞✐st✐♥❝t❡s✱ σ(i) = σ′(i)✳ ❉♦♥❝ σ = σ′✳

(ii) = (iii) ❙♦✐t O ❧❡ s✉♣♣♦rt ❞✬✉♥ ❝②❝❧❡ ❞❡ fr✳ ❖♥ ♥♦t❡ ai = ψτ (αi) ❡t A = {ai/1 ≤ i ≤ n}✳
❈♦♠♠❡ H := Gal(Fp(A)/Fp) ❡st ❡♥❣❡♥❞ré ♣❛r fr✱ O ❡st ✉♥❡ ♦r❜✐t❡ ❞❡ h|A ♣♦✉r t♦✉t h ∈ H✳ ❆❧♦rs
fO := Πβ∈O(X − β) ❡st st❛❜❧❡ ♣❛r H✱ ❞♦♥❝ fO ∈ Fp[X]✳ ❈♦♠♠❡ f ❡t ΠorbitesfO ♦♥t ❧❡s ♠ê♠❡s
r❛❝✐♥❡s ❛✈❡❝ ❧❡s ♠ê♠❡s ♠✉❧t✐♣❧✐❝✐tés✱ f = ΠorbitesfO✳
❙✉♣♣♦s♦♥s ♣❛r ❧✬❛❜s✉r❞❡ q✉❡ fO ♥✬❡st ♣❛s ✐rré❞✉❝t✐❜❧❡✳ ❆❧♦rs f = gh ♣♦✉r ❝❡rt❛✐♥s g, h ∈ Fp[X]✳
❖♥ ♥♦t❡ Og ❡t Oh ❧❡s ❡♥s❡♠❜❧❡s r❡s♣❡❝t✐❢s ❞❡ r❛❝✐♥❡s✳ ❈♦♠♠❡ g ∈ Fp[X]✱ Og ❡st st❛❜❧❡ ♣❛r t♦✉t
❛✉t♦♠♦r♣❤✐s♠❡ ❞❡ Fp✱ ❡♥ ♣❛rt✐❝✉❧✐❡r ♣❛r H✳ ❖r fr ❛❣✐t tr❛♥s✐t✐✈❡♠❡♥t s✉r s❡s ♦r❜✐t❡s✱ ❞♦♥❝ Og ❡st
✉♥❡ ♦r❜✐t❡ ❞❡ fr✳ ❖r Og = {r❛❝✐♥❡s ❞❡ g} ⊂ {r❛❝✐♥❡s ❞❡ fO} = O✱ ❞♦♥❝ Og = O✳ ❆✐♥s✐ deg(h) = 0✱
s♦✐t fO ❡st ✐rré❞✉❝t✐❜❧❡✳ ❆✐♥s✐ ❧❡ ♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ f s✉r p ❡st é❣❛❧ à {(#O, 1)/O ♦r❜✐t❡ ❞❡ fr}
✐✳❡✳ ♠♦t✐❢ ❞❡ ❝②❝❧❡s ❞❡ fr✳

❚❤é♦rè♠❡ ✼✳ ✭❞❡ ❈❤❡❜♦t❛rë✈✮ ❙♦✐t f ✉♥ ♣♦❧②♥ô♠❡ ✉♥✐t❛✐r❡ ❞❡ Z[X]✱ ❞❡ ❞❡❣ré n✱ ♣❛s ❢♦r❝é♠❡♥t ✐r✲
ré❞✉❝t✐❜❧❡✳ ❙♦✐t C ✉♥❡ ❝❧❛ss❡ ❞❡ ❝♦♥❥✉❣❛✐s♦♥ ❞❡ Gal(Dec(f)/Q)✳ ❆❧♦rs EC = {p ♣r❡♠✐❡r/Frob(p) =
C} ❛ ✉♥❡ ❞❡♥s✐té ❡t ❡❧❧❡ ✈❛✉t #C

#Gal(f,Q) ✳

❉é♠♦♥str❛t✐♦♥✳ ▲✐r❡ ❬❙▲✵✻❪✳

❘❡♠❛rq✉❡ ✶✼✳ ▲❡ rés✉❧t❛t r❡st❡ ✈r❛✐ ♣♦✉r f ∈ Q[X]✳

❏✉st✐✜❝❛t✐♦♥ ❙♦✐t f ∈ Q[X]✱ f = an

bn
xn + ...+ a0

b0
✳ ❖♥ ♣♦s❡ λ = ppcm{b0, ..., bn} ❡t f1 := λf ✳ ❊♥s✉✐t❡

♦♥ ♣♦s❡ f2(x) = λn−1f1(
x
λ )✳ ❖♥ ❝♦♥st❛t❡ q✉❡ f2 ∈ Z[X] ❡t q✉✬✐❧ ❡st ✉♥✐t❛✐r❡✳ ❆✐♥s✐ ❧❡ t❤é♦rè♠❡ ✼

s✬❛♣♣❧✐q✉❡ à f2✳ ❖r f2 ❡t f ♦♥t ❧❡ ♠ê♠❡ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s s✉r Q ❡t ♣♦✉r ❧❡s ♣r❡♠✐❡r p ♦ù ✐❧s s❡ ré✲
❞✉✐s❡♥t✱ ✐❧s ❞♦♥♥❡♥t ❧❡ ♠ê♠❡ ♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥✳ ❋✐♥❛❧❡♠❡♥t✱ f2 s❡ ré❞✉✐t ♣♦✉r t♦✉s ❧❡s ♣r❡♠✐❡rs
❝❛r ✉♥✐t❛✐r❡ ❡t ❡♥t✐❡r✱ ❛❧♦rs q✉❡ f s❡ ré❞✉✐t ♣♦✉r t♦✉s s❛✉❢ ❧❡s ❞✐✈✐s❡✉rs ❞❡ λ✱ ❞♦♥❝ ✉♥ ❡♥s❡♠❜❧❡ ✜♥✐✱
q✉✐ ♥❡ ❝❤❛♥❣❡ ♣❛s ❧❡s ♣r♦♣♦rt✐♦♥s✳�

❈♦r♦❧❧❛✐r❡ ✷✳ ❙♦✐❡♥t p ✉♥ ♣r❡♠✐❡r ❡t f ∈ Q[X] q✉✐ s❡ ré❞✉✐t ♠♦❞✉❧♦ p ❡t q✉✐ ✈ér✐✜❡ ✿ Q[X]
<f(X)> ≃

Dec(f,Q)✳ ❆❧♦rs δ{p | f ❛ ✉♥❡ r❛❝✐♥❡ s✉r Fp}❂δ{p | f ❡st s❝✐♥❞é s✉r Fp}✳

❉é♠♦♥str❛t✐♦♥✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✼ ✐❧ s✉✣t ❞❡ ♠♦♥tr❡r q✉✬✐❧ ♥✬❡①✐st❡ ♣❛s ❞❡ τ ∈ Gal(f,Q) q✉✐
✜①❡ ✉♥❡ r❛❝✐♥❡ ❞❡ f s❛♥s ❧❡s ✜①❡r t♦✉t❡s✳ ❙✉♣♣♦s♦♥s q✉✬✐❧ ❡①✐st❡ τ ∈ Gal(Dec(f),Q) ❡t α ∈ Q t❡❧s
q✉❡ f(α) = 0 ❡t τ(α) = α✳ ❆❧♦rs Q[X]

<f(X)> ≃ Q(α)✱ ❞✬♦ù Q(α) ≃ Dec(f)✳ ❖r Q(α) ⊂ Dec(f)✱ ❞♦♥❝
Q(α) = Dec(f)✳ ❈♦♠♠❡ τ(α) = α✱ τ = id✳ ❉♦♥❝ τ ✜①❡ t♦✉t❡s ❧❡s r❛❝✐♥❡s ❞❡ f ✳

✷✷



❈♦r♦❧❧❛✐r❡ ✸✳ ❙♦✐t f ∈ Q[X]✱ G s♦♥ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s s✉r Q✳ ❙♦✐❡♥t C ✉♥❡ ❝❧❛ss❡ ❞❡ ❝♦♥❥✉❣❛✐s♦♥
❞❡ G ❡t F ✉♥❡ ♣r♦♣r✐été ✐✳❡✳ ✉♥ s♦✉s ❡♥s❡♠❜❧❡ ❞❡ G✱ st❛❜❧❡ ♣❛r ❝♦♥❥✉❣❛✐s♦♥✳ ❙♦✐t p ✉♥❡ ✈❛r✐❛❜❧❡
❛❧é❛t♦✐r❡ ♣❛r r❛♣♣♦rt à µ✳ ❆❧♦rs ✿

✶✳ Prob(Frob(p) = C) ❂ #C
#G ❀

✷✳ Prob(Frob(p) ⊂ F) = #F
#G ✳

❉é♠♦♥str❛t✐♦♥✳ ✶✳ ❖♥ ❛ Prob(Frob(p) = C) = Prob(p ∈ EC)= µ(EC)✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✼
µ(EC) = #C

#G ✳

✷✳ ❈♦♠♠❡ F ❡st st❛❜❧❡ ♣❛r ❝♦♥❥✉❣❛✐s♦♥✱ ❡❧❧❡ ❡st ❧❛ ré✉♥✐♦♥ ❞✐s❥♦✐♥t❡ ❞❡ ❝❧❛ss❡s ❞❡ ❝♦♥❥✉❣❛✐s♦♥
❞❡ G ✿ F = C1

⋃

...
⋃

Ck✳ ❖♥ ❛ ❛❧♦rs Prob(Frob(p) ⊂ F)= Σ1≤i≤kProb(Frob(p) = Ci)=

Σ1≤i≤k
#Ci

#G = #F
#G ✳

❉é✜♥✐t✐♦♥ ✶✺✳ ❙♦✐❡♥t E/Q ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✱ π ✉♥ ♣r❡♠✐❡r ❡t 1 ≤ n1 < n2 ❞❛♥s N✳ ❖♥ ♥♦t❡ ✿

✶✳ qn1
= Prob( Z

πn1Z
× Z

πn1Z
⊂ E/Fp) ❀

✷✳ pn1,n2
= Prob( Z

πn1Z
× Z

πn2Z
⊂ E/Fp| Z

πn1Z
× Z

πn1Z
⊂ E/Fp) ❀

✸✳ Ln1 = Dec(Pnewπn1 ) ❀

✹✳ Gn1

L := Gal(Ln1 ,Q) ❀

✺✳ Kn1 := Q(E[πn1 ]) ❀ Kn2 := Q(E[πn2 ])

✻✳ Gn1

K := Gal(Kn1/Q) ❀

✼✳ Gn1,n2 := Gal(Kn2/Kn1) = Gn2

K /G
n1

K ✳

✽✳ sn1,n2
:= #{τ ∈ Gn1,n2/τ ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ] \ E[πn2−1]}✳

❏✉st✐✜❝❛t✐♦♥✳ Ln1/Q ❡st ❣❛❧♦✐s✐❡♥♥❡ ❝❛r Ln1 ❡st ✉♥ ❝♦r♣s ❞❡ ❞é❝♦♠♣♦s✐t✐♦♥✳ ❉❡ ♣❧✉s Kn1 s✬♦❜✲
t✐❡♥t ❞❡ Ln1 ♣❛r ❞❡s ❡①t❡♥t✐♦♥s s✉❝❝❡ss✐✈❡s ♣❛r ❧❡s ♣♦❧②♥ô♠❡s ❞❡ {pα := X2 − 1

b (α
3 + Aα +

B)/α r❛❝✐♥❞❡ ❞❡ Pπn1}✳ ❈♦♠♠❡ t♦✉t❡ ❡①t❡♥t✐♦♥ ❞❡ ❝♦r♣s ❞❡ ♥♦♠❜r❡s✱ ❞❡ ❞❡❣ré 1 ❡t 2 ❡st ❣❛❧♦✐✲
s✐❡♥♥❡ ❡t ❝♦♠♠❡ ✉♥❡ t♦✉r ❞✬❡①t❡♥s✐♦♥s ❣❛❧♦✐s✐❡♥♥❡s ❡st ❣❛❧♦✐s✐❡♥♥❡✱ Kn1/Q ❡st ❣❛❧♦✐s✐❡♥♥❡✳ ❉❡
♠❛♥✐èr❡ ❛♥❛❧♦❣✉❡ Kn2/Q ❡st ❣❛❧♦✐s✐❡♥♥❡✱ ❞✬♦ù Kn2/Kn1 ❡st ❣❛❧♦✐s✐❡♥♥❡✳

Pr♦♣♦s✐t✐♦♥ ✸✳ ❙♦✐t n1 ∈ N✳ ❆❧♦rs qn1
= 1

#G
n1
K

✳

❉é♠♦♥str❛t✐♦♥✳ P❛r ❧❡ t❤é♦rè♠❡ ❞❡ ❧✬é❧é♠❡♥t ♣r✐♠✐t✐❢✱ ✐❧ ❡①✐st❡ ✉♥ ♣♦❧②♥ô♠❡ ✐rré❞✉❝t✐❜❧❡ f ∈ Q[X]

t❡❧ q✉❡ Kn1 = Q[X]
<f(X)> ✳ ❈♦♠♠❡ Kn1/Q ❡st ❣❛❧♦✐s✐❡♥♥❡✱ Q[X]

<f(X)> = Dec(f)✳ ❆✐♥s✐ Gn1

K = Gal(f,Q)✳

✷✸



❖♥ ❛❞♠❡t ♣♦✉r ❧✬✐♥st❛♥t q✉❡ Fp(E(Fp)[πn1 ]) = Fp ❡①❛❝t❡♠❡♥t ♣♦✉r ❧❡s p ♣♦✉r ❧❡sq✉❡❧sDec(f,Fp) =
Fp✳ ❖♥ ❛ Z

πn1Z
× Z
πn1Z

⊂ E/Fp ❡①❛❝t❡♠❡♥t ♣♦✉r ❝❡s p ♣♦✉r ❧❡sq✉❡❧s ♦♥ ❛ π2n1 ♣♦✐♥ts ❞❡ E(Fp)[πn1 ] à
❝♦❡✣❝✐❡♥ts ❞❛♥s Fp✳ ❖r E(Fp)[πn1 ] ❝♦♥t✐❡♥t π2n1 ♣♦✐♥ts ❡♥ t♦✉t✱ ❞♦♥❝ ❡①❛❝t❡♠❡♥t q✉❛♥❞ Fp(E(Fp)[πn1 ]) =
Fp✳ ●râ❝❡ ❛✉ ❢❛✐t q✉✬♦♥ ❛ ❛❞♠✐s ❡t ♦♥ ❞é♠♦♥tr❡ ♣❛r ❧❛ s✉✐t❡✱ ❝❡❧❛ ❛rr✐✈❡ ❡①❛❝t❡♠❡♥t q✉❛♥❞Dec(f,Fp) =
Fp✳ ❖r Dec(f,Fp) = Fp ❛rr✐✈❡ ❡❝①❛❝t❡♠❡♥t ♣♦✉r ❧❡s p ♣♦✉r ❧❡sq✉❡❧s fr ✜①❡ t♦✉t❡ r❛❝✐♥❡ ❞❡ f ✱ s♦✐t
Frob(p) = {id}✳ ❆✐♥s✐ qn1

= Prob(Frob(p) = {id})✳ P❛r ❧❡ ❝♦r♦❧❧❛✐r❡ ✸ ♦♥ ❛ qn1
= 1

#Gal(f) = 1
#G

n1
K

✳

▼♦♥tr♦♥s ♠❛✐♥t❡♥❛♥t q✉❡ Fp(E(Fp)[πn1 ]) = Fp s✐ ❡t s❡✉❧❧❡♠❡♥t s✐ Dec(f,Fp) = Fp✳ P♦✉r ❝❡❧❛
♥♦t♦♥s α1, ..., αm ❧❡s r❛❝✐♥❡s ❞❛♥s Q ❞❡ f ✳ ❖♥ r❡♠❛rq✉❡ q✉❡ Dec(f) ⊃ Q(α1) ≃ Q[X]

<f(X)> ≃ Dec(f)✱

❞♦♥❝ Kn1 = Dec(f) = Q(α1)✳ ◆♦t♦♥s (xi, ..., xn) ❧❡s r❛❝✐♥❡s ❞❛♥s Q ❞❡ Pπn1 ✳ ◆♦t♦♥s y1, ..., yn
❧❡s r❛❝✐♥❡s ❞❛♥s Q ❞❡ {pα := X2 − 1

b (α
3 + Aα + B)/α r❛❝✐♥❡ ❞❡ Pπn1}✳ ❉✬❛♣rès ❧❡ t❤é♦rè♠❡ ✺ ♦♥

❛ E[πn] = {O}
⋃

{(xi,±yi)/1 ≤ i ≤ n}✱ ❞♦♥❝ Kn1 = Q(x1, ..., xn, y1, ..., yn)✳ ❈♦♠♠❡ Q(α1) =
Kn1 = Q(x1, ..., xn, y1, ..., yn)✱ ✐❧ ❡①✐st❡ ❞❡s ♣♦❧②♥ô♠❡s Pxi ❡t Pyi ∈ Q[X] r❡s♣❡❝t✐✈❡♠❡♥t Pα1

∈
Q[X1, ..., Xn, Y1, ..., Yn] t❡❧s q✉❡ Pxi

(α1) = xi✱ Pyi
(α1) = yi ❡t Pα1

(x1, ..., xn, y1, ..., yn) = α1✳ ▼✐s
à ♣❛rt ✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡ ♣r❡♠✐❡rs p✱ t♦✉s ❝❡s ♣♦❧②♥ô♠❡s s❡ ré❞✉✐s❡♥t ♠♦❞✉❧♦ p✳ ❖r ❧❡s ❡♥s❡♠❜❧❡s
✜♥✐s ♥✬✐♥t❡r✈✐❡♥♥❡♥t ♣❛s ❞❛♥s ❧❡ ❝❛❧❝✉❧ ❞❡s ♣r♦❜❛❜✐❧✐tés✱ ❞♦♥❝ ♦♥ ♣❡✉t s✉♣♣♦s❡r q✉❡ ❧❡s ♣♦❧②♥ô♠❡s
s❡ ré❞✉✐s❡♥t ♠♦❞✉❧♦ t♦✉s ❧❡s ♥♦♠❜r❡s ♣r❡♠✐❡rs✳

❖♥ r❡♠❛rq✉❡ q✉❡ ❞❛♥s Q(α1)[X] ♦♥ ❛ Πn
i=1(X−Pxi(α1)) = Pπn1 (X)✳ ❆✐♥s✐ ✐❧ ❡①✐st❡ k ∈ Q[X,T ]

t❡❧ q✉❡ ❞❛♥s Q[X,T ] ♦♥ ❛

Πn
i=1(X − Pxi(T )) = Pπn1 (X) + f(T ) · k(X,T )

❡t ❞❡ ♠❛♥✐èr❡ ❛♥❛❧♦❣✉❡ ♦♥ ❛ P 2
yi

(T ) − (P 3
xi

(T ) + APxi(T ) + B) = f(T )ki(X,T ) ♣♦✉r t♦✉t i ❡t ✉♥
❝❡rt❛✐♥ ki✳

❙♦✐t p ♣r❡♠✐❡r t❡❧ q✉❡ Dec(f,Fp) = Fp✳ ❆❧♦rs ✐❧ ❡①✐st❡ α̃1 ∈ Fp t❡❧ q✉❡ f(α̃1) = 0✳ ❉❛♥s ❧✬✐❞❡♥t✐té
♣❧✉s ❤❛✉t ♦♥ ♣♦s❡ T = α̃1 ∈ Fp ❡t ♦♥ ♣❧♦♥❣❡ ❧❡s ❝♦❡✣❝✐❡♥ts ♠♦❞✉❧♦ p✳ ❆❧♦rs ♦♥ r❡♠❛rq✉❡ q✉❡
Pπn1 (X) ❡st s❝✐♥❞é ♠♦❞✉❧♦ p✳ ❉❡ ♣❧✉s x3

i + Axi + B ❡st ✉♥ ❝❛rré ❞❡ Fp ♣♦✉r t♦✉t i✳ ❉✬❛♣rès ❧❡
t❤é♦rè♠❡ ✺✱ t♦✉t ♣♦✐♥t ❞❡ E(Fp)[πn1 ] ❛ s❡s ❝♦♦r❞♦♥♥é❡s ❞❛♥s Fp✳ ❉♦♥❝ Fp(E(Fp)[πn1 ]) = Fp✳

❘é❝✐♣r♦q✉❡♠❡♥t✱ s♦✐t p t❡❧ q✉❡ Pπn1 s♦✐t s❝✐♥❞é s✉r Fp ❡t ✐❧ ❡①✐st❡ yi ∈ Fp t❡❧ q✉❡ y2
i = x3

i +Axi+
B✳ ❖♥ ♣♦s❡ α̃1 := Pα1

(x1, ..., xn, y1, ..., yn) ∈ Fp ❡t ♦♥ ✈ér✐✜❡ q✉❡ f(α̃1) = 0✳ ❉✬❛♣rès ❧❡ ❝♦r♦❧❧❛✐r❡ ✷✱
f ❛ t♦✉t❡s s❡s r❛❝✐♥❡s ❞❛♥s Fp✳ ❉♦♥❝ Dec(f,Fp) = Fp✳

Pr♦♣♦s✐t✐♦♥ ✹✳ ❙♦✐❡♥t n1 < n2 ∈ N✳ ❆❧♦rs pn1,n2
=

sn1,n2

#Gn1,n2
✳

❉é♠♦♥str❛t✐♦♥✳ ✿

❖♥ ❛ Prob( Z
πn1Z

× Z
πn2Z

⊂ E/Fp) =
#{τ∈Gn2

K /τ ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ]\E[πn2−1] ❡t t♦✉s ❧❡s ♣♦✐♥ts ❞❡ Kn1}
#G

n2
K

✳

❉❡ ♠ê♠❡ ♦♥ ❛ Prob( Z
πn1Z

× Z
πn1Z

⊂ E/Fp) =
#{τ∈Gn2

K /τ ✜①❡ Kn1}
#G

n2
K

✳

❆✐♥s✐ pn1,n2
=

#{τ∈Gn2
K /τ ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ]\E[πn2−1] ❡t t♦✉s ❧❡s ♣♦✐♥ts ❞❡ Kn1}

#{τ∈Gn2
K /τ ✜①❡ Kn1} ✳

❉✬✉♥❡ ♣❛rt✱ ♦♥ ❛ #{τ ∈ Gn2

K /τ ✜①❡ Kn1} = #Gal(Kn2/Kn1) = #Gn1,n2 ✳
❉✬❛✉tr❡ ♣❛rt✱ ★{τ ∈ Gn2

K /τ ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ] \ E[πn2−1] ❡t t♦✉s ❧❡s ♣♦✐♥ts ❞❡ Kn1} =
= #{τ1 ◦ h/τ1 ∈ Gn1

K , h ∈ Gn1,n2 t❡❧s q✉❡ τ1 ◦ h ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ] \ E[πn2−1] ❡t ✜①❡ Kn1} =
= #{h ∈ Gn1,n2/h ✜①❡ ✉♥ ♣♦✐♥t ❞❡ E[πn2 ] \ E[πn2−1]}= sn1,n2

✳
❊♥ ❝♦♥❝❧✉s✐♦♥ pn1,n2

=
sn1,n2

#Gn1,n2
✳

✷✹



✻✳✷ ❆♣♣❧✐❝❛t✐♦♥s

❑r✉♣♣❛ ❛ r❡♠❛rq✉é ✉♥ ❝♦♠♣♦rt❡♠❡♥t étr❛♥❣❡ ❞❡ ❧❛ ❝♦✉r❜❡ ❞❡ Suyama ❝♦rr❡s♣♦♥❞❛♥t à σ = 10✳
❉✬✉♥❡ ♣❛rt σ = 10 ❡st ✉♥❡ ❝♦✉r❜❡ q✉❡❧❝♦♥q✉❡ ❞❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡ Suyama ❝❛r s❡s ✈❛❧✉❛t✐♦♥s ♠♦②❡♥♥❡s
❡♥ 2 ❡t ❡♥ 3 ♥❡ s♦♥t ♣❛s s♣é❝✐❛❧❡s✳ ❉✬❛✉tr❡ ♣❛rt✱ σ = 10 ❛ ✉♥❡ ♣r♦♣r✐été r❛r❡✱ ♣rés❡♥t❡ ❝❤❡③ ❧❡s σ′s ❞❡
❧❛ ❢❛♠✐❧❧❡ Suyama 11 ✿ ❧❡ ♣♦❧②♥ô♠❡ ❞❡ 12 ❞✐✈✐s✐♦♥ ❡st s❝✐♥❞é ♠♦❞✉❧♦ p ♣♦✉r ✉♥❡ ❣r❛♥❞❡ ♣r♦♣♦rt✐♦♥
❞❡ ♣r❡♠✐❡rs p✳ ●râ❝❡ à ❧❛ t❤é♦r✐❡ q✉✐ ♣ré❝è❞❡ ♦♥ ✈❛ é❝❧❛✐r❡r ❝❡tt❡ ❛♣♣❛r❛♥t❡ ❝♦♥tr❛❞✐❝t✐♦♥✳

➚ ❧✬❛✐❞❡ ❞❡ ▼❆●▼❆ ♦♥ ♣❡✉t ❝❛❧❝✉❧❡r ❧❡ ❣r♦✉♣❡ ❞❡ ●❛❧♦✐s ❞✬✉♥❡ ❡①t❡♥s✐♦♥ ❣❛❧♦✐s✐❡♥♥❡ ❞❡ Q✳
▲❡ t❛❜❧❡❛✉ ❝✐✲❞❡ss♦✉s r❡❣r♦✉♣❡ ❧❡s ✐♥❢♦r♠❛t✐♦♥s ♣♦✉r tr♦✐s ❝♦✉r❜❡s ❞❡ ❧❛ ❢❛♠✐❧❧❡ ❞❡ Suyama✳ ❖♥
♣ré❝✐s❡ q✉❡ ❧❡s ♥♦t❛t✐♦♥s s♦♥t ❝❡❧❧❡s ❞❡ ♣❧✉s ❤❛✉t ❡t q✉❡ π = 2✳ ❖♥ ❛ é❣❛❧❡♠❡♥t ♥♦té Gal(P12)
❧❡ ♣♦❧②♥ô♠❡ ❞❡ ❧✬❡①t❡♥s✐♦♥ ❞❡ Q q✉✐ ❝♦♥t✐❡♥t t♦✉t❡s ❧❡s r❛❝✐♥❡s ❞❡ P12✱ ♠❛❧❣ré ❧❡ ❢❛✐t q✉❡ P12 ♥❡
s♦✐t ♣❛s ✐rré❞✉❝t✐❜❧❡✳ ❋✐♥❛❧❡♠❡♥t✱ E(12) s❡ ❝♦♠♣♦rt❡ t♦✉❥♦✉rs ❝♦♠♠❡ ❧❛ ♣❧✉♣❛rt ❞❡s ❝♦✉r❜❡s ❞❡
Suyama✱ ❞♦♥❝ ♦♥ ❧✬❛ ♣r✐s ❝♦♠♠❡ r❡♣rés❡♥t❛♥t ❞❡s ❝♦✉r❜❡s ❣é♥ér✐q✉❡s✳

σ 10 11 12

G1
L = G1

K
Z
2Z

Z
2Z

Z
2Z

G2
L D8 D8 D8

G2
K D8 × Z

2Z
× Z

2Z
D8 × Z

2Z
D8 × Z

2Z
× Z

2Z

G1,2 D8 × Z
2Z

D8 D8 × Z
2Z

#Gal(P12) 48 48 96

❖♥ r❡♠❛rq✉❡ q✉❡ G1
K ≃ Z

2Z
✳ P❛r ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸ ♦♥ ❛ q1 = 1

2 ♣♦✉r E(10)✱ E(11) ❡t E(12)✳ ❉❡s
❡①♣ér✐❡♥❝❡s s✉r 1000 ♥♦♠❜r❡s ♣r❡♠✐❡rs ♦♥t ♠♦♥tré ✿ q1(σ = 10) = 502

1000 ✱ q1(σ = 11) = 509
1000 ❡t

q1(σ = 12) = 511
1000 ✳

❖♥ ✈♦✐t q✉❡ G2
L ❡st ✐s♦♠♦r♣❤❡ ❛✉ ❣r♦✉♣❡ ❞✐é❞r❛❧ à 8 é❧é♠❡♥ts ♣♦✉r ❧❡s tr♦✐s ❝♦✉r❜❡s✳ P❛r ❧❡

t❤é♦rè♠❡ ✼ ♦♥ ♣❡✉t ❝❛❧❝✉❧❡r ❧❛ ♣r♦♣♦rt✐♦♥ ❞❡ ♥♦♠❜r❡s ♣r❡♠✐❡rs ♣♦✉r ❧❡q✉❡❧ P4 ❛ ❝❤❛❝✉♥ ❞❡s ♠♦t✐❢s
❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ♣♦ss✐❜❧❡✳ ❊♥ t♦✉t ❝❛s✱ ❝♦♠♠❡ ❧❡s G2

L r❡s♣❡❝t✐❢s ❝♦ï♥❝✐❞❡♥t✱ ❧❡s ♣r♦♣♦rt✐♦♥s ❝♦ï♥❝✐❞❡♥t
é❣❛❧❡♠❡♥t ♣♦✉r ❧❡s tr♦✐s ❝♦✉r❜❡s✳

❖♥ ❝♦♥st❛t❡ q✉❡ G1,2 ❛ ❧❛ ♠ê♠❡ ✈❛❧❡✉r ♣♦✉r E(10) ❡t E(12) ♠❛✐s ♣❛s ♣♦✉r E(11)✳ ❈♦♠♠❡ p1,2

s❡ ❝❛❧❝✉❧❡ à ♣❛rt✐r ❞❡ G1,2✱ E(10) ❡t E(12) ♦♥t ❧❡ ♠ê♠❡ p1,2✳ P❛r ❝♦♥tr❡ E(11) ❛ ✉♥ ❣r♦✉♣❡ G1,2

❞✐✛ér❡♥t✱ ❞♦♥❝ ♣♦ss✐❜❧❡♠❡♥t ✉♥❡ ♣r♦❜❛❜✐❧✐té ❞✐✛ér❡♥t❡✳ ❊①♣ér✐♠❡♥t❛❧❡♠❡♥t ♦♥ ❛ p1,2(σ = 10) =
365
502 ≈ 73%✱ p1,2(σ = 11) = 509

509 = 100% ❡t p1,2(σ = 12) = 389
511 ≈ 76%✳ ❙✐ ♦♥ ré♣èt❡ ❧✬❡①♣ér✐❡♥❝❡ ♦♥

s❡ r❛♣♣r♦❝❤❡ ❞❡ 75% ♣♦✉r ❧❡ ❝❛s ❣é♥ér❛❧✳
❈♦♠♠❡ E(σ = 10) ❡t E(σ = 11) ♦♥t ❡①❛❝t❡♠❡♥t ❧❡s ♠ê♠❡s Gal(P12)✱ ❧❡s ♣♦❧②♥ô♠❡s P12

r❡s♣❡❝t✐❢s ♦♥t ❧❡s ♠ê♠❡ ♠♦t✐❢s ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❛✈❡❝ ❧❡s ♠ê♠❡s ❢réq✉❡♥❝❡s✳
❈♦♥❝❧✉s✐♦♥ ✿ ■❧ ♥❡ s✉✣t ♣❛s ❞❡ r❡❣❛r❞❡r Gal(Pm) ♣♦✉r ét✉❞✐❡r E[m]✱ ♠❛✐s ✐❧ ❢❛✉t r❡❣❛r❞❡r

Gal(E[m]/Q)✳ ❉❛♥s ❧❡ ❝❛s ♣❛rt✐❝✉❧✐❡r ❞❡ m = 12 ❡t E = E(σ = 10) ♦♥ ❛ ✉♥ Gal(P12) s♣é❝✐❛❧
s❛♥s ♣♦✉r ❛✉t❛♥t ❝❤❛♥❣❡r Gal(E[m]/Q)✳ ❉♦♥❝ σ = 10 ✧❛✐♠❡✧ ❛✈♦✐r ❧❡s ♣♦✐♥ts ❞❡ E[12] ❛✈❡❝ ❧❡✉r
❝♦♦r❞♦♥♥é❡ x ❞❛♥s Fp✱ s❛♥s ✐♠♣♦s❡r r✐❡♥ s✉r ❧❛ ❝♦♦r❞♦♥♥é❡ y✳

❖♥ r❡♠❛rq✉❡ ❡♥tr❡ ❛✉tr❡s q✉❡ ❧❡ ❢❛✐t q✉❡ ❧❡ ❣r♦✉♣❡ Gal(P12) s♦✐t ♣❧✉s s✐♠♣❧❡ s❡ ♠❛♥✐❢ ❡st❡ ❛✉ss✐
❞❛♥s ❧❡ ♠♦t✐❢ ❞❡ ❢❛❝t♦r✐s❛t✐♦♥ ❞❡ P12 s✉r Q✳ ❆✐♥s✐✱ ♣♦✉r ✉♥❡ ❝♦✉r❜❡ q✉❡❧❝♦♥q✉❡ ❞❡ ❙✉②❛♠❛✱ ❧❡ ♠♦t✐❢
❞❡ ❢❛❝t♦r✐s❛t✐♦♥ s✉r Q ❡st {(1, 5), (2, 4), (3, 2), (4, 1), (6, 3), (8, 1), (24, 1)}✳ P❛r ❝♦♥tr❡ ♣♦✉r σ = 10 ✉♥
❢❛❝t❡✉r ❞❡ ❞❡❣ré 6 q✉✐ ❡st ✐rré❞✉❝t✐❜❧❡ ❞❛♥s ❧❡ ❝❛s ❣é♥ér✐q✉❡ s❡ ❞é❝♦♠♣♦s❡ ❡♥ ❞❡✉① ❢❛❝t❡✉rs ❞❡ ❞❡❣ré
3✳ ❉❡ ♠ê♠❡ ♣♦✉r σ = 11 ❧✬✉♥✐q✉❡ ❢❛❝t❡✉r ❞❡ ❞❡❣ré 8 s❡ ❞é❝♦♠♣♦s❡ ❡♥ ❞❡✉① ❢❛❝t❡✉rs ❞❡ ❞❡❣ré 4✳ ❊♥
❡✛❡t✱ ❝❡ ❢❛❝t❡✉r ❞❡ ❞❡❣ré 8 ❝♦rr❡s♣♦♥❞ ❛✉ ♣♦✐♥ts ❞❡ 3 ❞✐✈✐s✐♦♥ ❞✬✉♥❡ ♣❛✐r❡ ❞❡ ♣♦✐♥ts ❞❡ 4✲t♦rs✐♦♥ ❞❡
❧❛ ❝♦✉r❜❡ E(11)✳ ❈♦♠♠❡ G2

K ❡st s♣é❝✐❛❧ ♣♦✉r σ = 11✱ ❧❡s r❛❝✐♥❡s ❝♦rr❡s♣♦♥❞❛♥t ❛✉① ❞❡✉① ♣♦✐♥ts ❞❡

✷✺



4✲t♦rs✐♦♥ s❡ sé♣❛r❡♥t✱ ❞♦♥♥❛♥t ❞❡✉① ❢❛❝t❡✉rs ❞❡ ❞❡❣ré 4✳ P❛r ❝♦♥tr❡ ❧❡ ❢❛✐t q✉❡ ❧❡ ❢❛❝t❡✉r ❞❡ ❞❡❣ré
6 ❞❡✈✐❡♥♥❡ ré❞✉❝t✐❜❧❡ ♣♦✉r σ = 10 s❡♠❜❧❡ ♥❡ ♣❛s ♣r❡✈❡♥✐r ❞❡ ❧❛ str✉❝t✉r❡ ❞❡ E[3] ❡t E[4]✳

✻✳✸ ❖✉✈❡rt✉r❡

Pr♦♣♦s✐t✐♦♥ ✺✳ ❙♦✐t p ✉♥ ♣r❡♠✐❡r ❡t E : y2 = x3 +Ax+B ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r Q q✉✐ s❡ ré❞✉✐t
♠♦❞✉❧♦ p✳ ❙♦✐❡♥t n ≥ 1 ❡t π ✉♥ ♣r❡♠✐❡r ❛✉tr❡ q✉❡ p✳ ❖♥ ♠✉♥✐t E[πn] ❞❡ ❧❛ str✉❝t✉r❡ ❞❡ ❣r♦✉♣❡
✐♥❞✉✐t❡ ♣❛r E✳ ❆❧♦rs GnK ❡st ✉♥ s♦✉s ❣r♦✉♣❡ ❞❡ Autgroupe(E[πn])✳

❉é♠♦♥str❛t✐♦♥✳ ❙♦✐t τ ∈ GnK = Autcorps(Q(E[πn]))✳ ▼♦♥tr♦♥s q✉❡ τ |E[πn] ∈ Autgroupe(E[πn])✳ ❖♥
s❛✐t q✉❡ τ s✬ét❡♥❞ à τ̃ ∈ Gal(Q/Q)✳ ❈♦♠♠❡ τ̃(A) = A ❡t τ̃(B) = B✱ ♦♥ ❛ τ̃(E) = E✳ ❈♦♠♠❡ ❧❡s
❢♦r♠✉❧❡s ❞❡ ❧❛ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❞❡ E s♦♥t ♣♦❧②♥♦♠✐❛❧❡s✱ τ̃ |E ❡st ✉♥ ♠♦r♣❤✐s♠❡ ❞❡ ❣r♦✉♣❡s✳ ❆✐♥s✐ τ̃ |E ❡st
✉♥ ❡♥❞♦♠♦r♣❤✐s♠❡ ❞✉ ❣r♦✉♣❡ E✳ ❈♦♠♠❡ E[πn] = {x ∈ E/ordre(x) | πn}✱ ❛❧♦rs τ |E[πn] = τ̃ |E[πn]

st❛❜✐❧✐s❡ E[πn]✱ ❞♦♥❝ τ |E[πn] ∈ End(E[πn])✳ ❈♦♠♠❡ τ ❡st ✉♥ ❛✉t♦♠♦r♣❤✐s♠❡ ❞❡ ❝♦r♣s✱ ✐❧ ❡st ✐♥❥❡❝t✐❢
❡t ❛❧♦rs τE[πn] ❡st ✐♥❥❡❝t✐❢✳ ❈♦♠♠❡ E[πn] ≃ Z

πnZ
× Z

πnZ
π2n✱ ✐❧ ❡st ✜♥✐✱ ❞♦♥❝ τ |E[πn] ❡st ❜✐❥❡❝t✐❢✳ ❆✐♥s✐

τ |E[πn] ∈ Aut(E[πn])✳
❋✐♥❛❧❡♠❡♥t✱ ♣♦✉r ✈♦✐r q✉❡ τ 7→ τ |E[πn] ❡st ✉♥ ♠♦r♣❤✐s♠❡ ✐♥❥❡❝t✐❢ ❞❡ ❣r♦✉♣❡s✱ ✐❧ s✉✣t ❞❡

r❡♠❛rq✉❡r q✉❡ ❧✬✐♠❛❣❡ ❞❡ τ s✉r Q(E[πn]) ❡st ❞ét❡r♠✐♥❡r ♣❛r τ |E[πn] ❡t q✉❡ (τ1 ◦ τ2)|E[πn] =
(τ1|E[πn]) ◦ (τ2|E[πn])✳

❘❡♠❛rq✉❡ ✶✽✳ ▲✬✐♥❝❧✉s✐♦♥ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✺ ❡st ✉♥❡ é❣❛❧✐té ❞❛♥s ❧❡ ❝❛s ❣é♥ér✐q✉❡✳ P❛r ❡①❡♠♣❧❡
♣♦✉r π = 5 ❡t ✉♥ σ ❝❤♦✐s✐ ❛✉ ❤❛s❛r❞✱ ❞✐s♦♥s 13✱ ♦♥ ❛ #G1

K = 480 ❡t #Aut(E[5]) = 480✳ ❈♦♠♠❡
G1
k ❡st ✉♥ s♦✉s ❣r♦✉♣❡ ❞❡ Aut(E[5])✱ ♦♥ ❛ G1

K ≃ Aut(E[5])✳

❏❡❛♥✲P✐❡rr❡ ❙❡rr❡ ❛ ❞é♠♦♥tré ❞❛♥s ❬❙❡r✼✷❪ ❧❡ t❤é♦rè♠❡ s✉✐✈❛♥t ✿

❚❤é♦rè♠❡ ✽✳ ❙♦✐t E/Q ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡✳ ❆❧♦rs ✐❧ ❡①✐st❡ ✉♥ ❡♥s❡♠❜❧❡ ✜♥✐ F ⊂ P t❡❧ q✉❡ ♣♦✉r
t♦✉t π ∈ P \ F ♦♥ ❛ G1

K(π) = Aut(E[π])✳

❖♥ r❡♠❛rq✉❡ q✉✬✐❧ ❡st r❡❧❛t✐✈❡♠❡♥t s✐♠♣❧❡ ❞✬ét✉❞✐❡r ❧❡ ❣r♦✉♣❡ Aut(E[πk])✳ ❊♥ ❡✛❡t ❧❡ t❤é♦rè♠❡
✸ ❞✐t q✉❡ E[πk] ≃ Z

πkZ
× Z

πkZ
✱ ❞♦♥❝ Aut(E[πk]) = Aut(R×R) ♣♦✉r R = Z

πkZ
✳

Pr♦♣♦s✐t✐♦♥ ✻✳ ❙♦✐t n ∈ N✳ ❖♥ ♥♦t❡ R := Z
πnZ

✱ r := #R = πn ❡t r′ := #R∗ = πn − πn−1✳ ❆❧♦rs
♦♥ ❛ ✿

✭✐✮ #Aut(R×R) = (2r − r′)r′2(2r − r′ − 1) ❀

✭✐✐✮ #{a ∈ Aut(R×R)− {id}/ker(a− id) 6= 0} = (2r − r′)(2r · r′ − r′2 − r′ − 1) ❀

✭✐✐✐✮ s❡✉❧❡ id ✜①❡ ♣❧✉s ❞✬✉♥❡ ❞r♦✐t❡✳

❉é♠♦♥str❛t✐♦♥✳ ✭✐✮ ❖♥ ♥♦t❡ {e1, e2} ❧❛ ❜❛s❡ ❝❛♥♦♥✐q✉❡ ❞❡ R×R✳ ❯♥ ❛✉t♦♠♦r♣❤✐s♠❡ ❡st ❞ét❡r♠✐♥é
❞❡ ❢❛ç♦♥ ✉♥✐q✉❡ ♣❛r ❧❡ ❝❤♦✐① ❞❡s ✐♠❛❣❡s f1 r❡s♣❡❝t✐✈❡♠❡♥t f2 ❞❡s é❧é♠❡♥ts ❞❡ ❧❛ ❜❛s❡✳ P♦✉r
f1 ♦♥ ♣❡✉t ❝❤♦✐s✐r t♦✉t é❧é♠❡♥t ❞✬♦r❞r❡ r✱ s♦✐t t♦✉t é❧é♠❡♥t ❞❡ R × R∗ ⋃

R∗ × R✳ ❊♥ t♦✉t
r · r′ + r′ · r − r′ · r′ = r′(2r − r′) ❝❤♦✐①✳ P♦✉r f2 ♦♥ ♣❡✉t ❝❤♦✐s✐r t♦✉t é❧é♠❡♥t ❞✬♦r❞r❡ r s❛✉❢
❝❡✉① ❞❡ R∗f1✳ ❊♥ t♦✉t✱ r′(2r − r′)− r′ = r′(2r − r′ − 1)✳ ❆✐♥s✐ ♦♥ ❛ (2r − r′)r′2(2r − r′ − 1)
❝❤♦✐① ❞❡ (f1, f2) ❞♦♥❝ ❞✬❛✉t♦♠♦r♣❤✐s♠❡s✳

✭✐✐✮ ❖♥ ❝❤♦✐s✐t ✉♥ é❧é♠❡♥t a · e1 + b · e2 ❞✬♦r❞r❡ r✳ ❊♥ t♦✉t (2r − r′)r′ ❝❤♦✐①✳
❖♥ ❝❤♦✐s✐t ❧✬✐♠❛❣❡ ❞❡ b ·e1 +a ·e2 ❝♦♠♠❡ ✉♥ ♣♦✐♥t ❞✬♦r❞r❡ r✱ q✉✐ ♥✬❡st ♣❛s s✉r Ze1 ❡t q✉✐ ♥✬❡st

✷✻



♣❛s b ·e1 +a ·e2✳ ❊♥ t♦✉t (2r− r′)r′− r′−1 ❝❤♦✐①✳ ❖♥ ❞✐✈✐s❡ ❧❡ rés✉❧t❛t ♣❛r r′ ❝❛r ♦♥ ❛ ❝♦♠♣té
❧❡ ♠ê♠❡ ❛✉t♦♠♦r♣❤✐s♠❡ ♣♦✉r t♦✉s ❧❡s é❧é♠❡♥ts ❞✬♦r❞r❡ r ❞❡ ❧❛ ❞r♦✐t❡ ✜①é❡ ✿ R · (a · e1 + b · e2)✳
❈♦♥❝❧✉s✐♦♥ ✿ (2r − r′)r′(2r · r′ − r′2 − r′ − 1)/r′ = (2r − r′)(2r · r′ − r′2 − r′ − 1)✳

✭✐✐✐✮ ❘✐❡♥ à ♠♦♥tr❡r✳

❈♦r♦❧❧❛✐r❡ ✹✳ P♦✉r E ❡t n1 ∈ N ❣é♥ér✐q✉❡s ♦♥ ❛ qn1
= 1

π4n1 (π−1)2π(π+1− 1

πn1−1 )
.

❉é♠♦♥str❛t✐♦♥✳ ❈✬❡st ❧❛ ❝♦♥séq✉❡♥❝❡ ❞✐r❡❝t❡ ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥ ✸✱ ❞✉ t❤é♦rè♠❡ ✽ ❡t ❞❡ ❧❛ ♣r♦♣♦s✐t✐♦♥
❝✐✲❞❡ss✉s✳

Pr♦❥❡t✳ P♦✉r ✜♥✐r ♦♥ ✜①❡ ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ E ❡t ♣r♦♣♦s❡ ❧❛ ❞é♠❛r❝❤❡ s✉✐✈❛♥t❡ ✿

✶✳ ❖♥ s✉♣♣♦s❡ ❧❡ t❤é♦rè♠❡ ✽ ✈r❛✐ ♣♦✉r t♦✉t π ♣r❡♠✐❡r t❡❧ q✉❡ B1 + 1 ≤ π ≤ p ♦ù B2 ❡t p s♦♥t
❞❡✉① ❡♥t✐❡rs✳

✷✳ ❖♥ ❝❛❧❝✉❧❡ ♣♦✉r ❝❤❛q✉❡ π✱ Prob( Z
πZ
⊂ E/Fp)✳

✸✳ ❖♥ s✉♣♣♦s❡ q✉❡ ♣♦✉r π1 6= π2 ♦♥ ❛ Prob(π1 ❞✐✈✐s❡ #E/Fp/p ∈ P) ⊥ Prob(π2 ❞✐✈✐s❡ #E/Fp/p ∈
P)✳

✹✳ ❖♥ ❝❛❧❝✉❧❡ Prob(#E/Fp ❡st B1 − friable)✳

❈♦♥❝❧✉s✐♦♥

❈❡ st❛❣❡ ❛ ♣❡r♠✐s ❞❡ ✿

✶✳ ❝ré❡r ✉♥❡ ❞é♠❛r❝❤❡ ❣é♥ér❛❧❡ ♣♦✉r ❞é❝♦✉✈r✐r ❞❡s ♣❛r❛♠étr✐s❛t✐♦♥s✱ q✉✐ ♣❡r♠❡t ♥♦t❛♠♠❡♥t ❞❡
r❡tr♦✉✈❡r r❛♣✐❞❡♠❡♥t t♦✉t❡s ❧❡s ♣❛r❛♠étr✐s❛t✐♦♥s ❝♦♥♥✉❡s ❀

✷✳ ❞é❝♦✉✈r✐r ❧❡s ❢❛♠✐❧❧❡s ✐♥✜♥✐❡s Suyama 11 ❡t Suyama 9/4 ✭à ♣❛rt✐r ❞✬✉♥ ♥♦♠❜r❡ ✜♥✐ ❞❡ ❝♦✉r❜❡s
✐s♦❧é❡s ♣❛r ❑r✉♣♣❛ ❡t ❩✐♠♠❡r♠❛♥♥✮ ❡t ❞✬❛✈♦✐r ❝♦♥tr✐❜✉é à ♠♦♥tr❡r ❧❡✉r ✉t✐❧✐té ❀

✸✳ ✐♥❞✐q✉❡r ❞❡s ♥♦✉✈❡❧❧❡s ♣✐st❡s ❞❡ r❡❝❤❡r❝❤❡ ♣❡r♠❡tt❛♥t ❞✬❡st✐♠❡r ❧❛ ✈❛❧✉❛t✐♦♥ ♠♦②❡♥♥❡✳

❆♥♥❡①❡

❙♦✐t E(A,B) ✉♥❡ ❝♦✉r❜❡ ❡❧❧✐♣t✐q✉❡ s✉r ✉♥ ❝♦r♣s K✳ ❖♥ ♠✉♥✐t E(A,B) ❞✬✉♥❡ ❧♦✐ ❞❡ ❝♦♠♣♦s✐t✐♦♥
P1(X1, Y1, Z1) + P2(X2, Y2, Z2) = P3(X3, Y3, Z3) ♣❛r ✿

✶✳ ❙✐ x1z2 6= x2z1 ❛❧♦rs






























(λn, λd) = (y2 − y1, x2 − x1)

(µn, µd) = (y1x2 − y2x1, x2 − x1)

x3 = λ2
dµd(λ

2
n − (1− x1 − x2)λ

2
d)

y3 = −x3λn − µnλ2
d

z3 = λ4
dµd

✷✳ ❙✐ x1z2 6= x2z1 ❡t y1z2 = −y2z1 ❛❧♦rs (x3, y3, z3) := (0, 1, 0)✳

✸✳ ❙✐ x1z2 = x2z1 ❡t y1z2 6= −y2z1 ❛❧♦rs

✷✼





















(λn, λd) = (y2 − y1, x2 − x1)

(µn, µd) = (3x2
1 + 2x1 +A, 2y1)

(λn, λd) = (−x3
1 +Ax1 + 2B, 2y1)

♠ê♠❡s ❢♦r♠✉❧❡s ♣♦✉r x3, y3, z3 q✉✬❛✉ ❝❛s (i)

❉❛♥s ❬❙✐❧✽✻❪ ♦♥ ♠♦♥tr❡ q✉❡ + ❡st ✉♥❡ ❧♦✐ ❞❡ ❣r♦✉♣❡ ❛❜é❧✐❡♥✳ ❖♥ r❡♠❛rq✉❡ q✉✬♦♥ ♣❡✉t r❡♥❞r❡ ❧❡s
❢♦r♠✉❧❡s ✐♥❞é♣❡♥❞❛♥t❡ ❞✉ t❡st x1y2 − y1x1 = 0✳

❘é❢ér❡♥❝❡s

❬❈P✵✵❪ ❘✳ ❈r❛♥❞❛❧❧ ❛♥❞ ❈✳ P♦♠❡r❛♥❝❡✳ Pr✐♠❡ ♥✉♠❜❡rs ✕ ❆ ❈♦♠♣✉t❛t✐♦♥❛❧ P❡rs♣❡❝t✐✈❡✳ ❙♣r✐♥❣❡r
❱❡r❧❛❣✱ ✷✵✵✵✳

❬❍❙✵✵❪ ▼✳ ❍✐♥❞r② ❛♥❞ ❏✳ ❙✐❧✈❡r♠❛♥✳ ❉✐♦♣❤❛♥t✐♥❡ ❣❡♦♠❡tr②✳ ❆♥ ✐♥tr♦❞✉❝t✐♦♥✱ ✈♦❧✉♠❡ ✷✵✶ ♦❢ ●r❛✲
❞✉❛t❡ ❚❡①ts ✐♥ ▼❛t❤❡♠❛t✐❝s✳ ❙♣r✐♥❣❡r✕❱❡r❧❛❣✱ ✷✵✵✵✳

❬■❘✽✷❪ ❑✳ ■r❡❧❛♥❞ ❛♥❞ ▼✳ ❘♦s❡♥✳ ❆ ❝❧❛ss✐❝❛❧ ✐♥tr♦❞✉❝t✐♦♥ t♦ ♠♦❞❡r♥ ♥✉♠❜❡r t❤❡♦r②✱ ✈♦❧✉♠❡ ✽✹ ♦❢
●r❛❞✉❛t❡ ❚❡①ts ✐♥ ▼❛t❤❡♠❛t✐❝s✳ ❙♣r✐♥❣❡r✱ ✶✾✽✷✳

❬▲❡♥✽✼❪ ❍✳ ❲✳ ▲❡♥str❛✱ ❏r✳ ❋❛❝t♦r✐♥❣ ✐♥t❡❣❡rs ✇✐t❤ ❡❧❧✐♣t✐❝ ❝✉r✈❡s✳ ❆♥♥✳ ♦❢ ▼❛t❤✳ ✭✷✮✱ ✶✷✻✿✻✹✾✕✻✼✸✱
✶✾✽✼✳

❬▼❛③✼✼❪ ❇✳ ▼❛③✉r✳ ❘❛t✐♦♥❛❧ ♣♦✐♥ts ♦♥ ♠♦❞✉❧❛r ❝✉r✈❡s✳ ■♥ ▼♦❞✉❧❛r ❢♦r♠s ♦❢ ♦♥❡ ✈❛r✐❛❜❧❡ ❱✱ ✈♦❧✉♠❡
✻✵✶ ♦❢ ▲❡❝t✉r❡ ◆♦t❡s ✐♥ ▼❛t❤✳✱ ♣❛❣❡s ✶✵✼✕✶✹✽✳ ❙♣r✐♥❣❡r ❱❡r❧❛❣✱ ✶✾✼✼✳ Pr♦❝❡❡❞✐♥❣s ■♥t❡r♥❛✲
t✐♦♥❛❧ ❈♦♥❢❡r❡♥❝❡✱ ❯♥✐✈❡rs✐t② ♦❢ ❇♦♥♥✱ ❙♦♥❞❡r❢♦rs❝❤✉♥❣s❜❡r❡✐❝❤ ❚❤❡♦r❡t✐s❝❤❡ ▼❛t❤❡♠❛t✐❦✱
❏✉❧② ✷✲✶✹✱ ✶✾✼✻✳

❬▼♦♥✾✷❪ P✳ ▲✳ ▼♦♥t❣♦♠❡r②✳ ❆♥ ❋❋❚ ❡①t❡♥s✐♦♥ ♦❢ t❤❡ ❊❧❧✐♣t✐❝ ❈✉r✈❡ ▼❡t❤♦❞ ♦❢ ❢❛❝t♦r✐③❛t✐♦♥✳ P❤❉
t❤❡s✐s✱ ❯♥✐✈❡rs✐t② ♦❢ ❈❛❧✐❢♦r♥✐❛ ✕ ▲♦s ❆♥❣❡❧❡s✱ ✶✾✾✷✳

❬❙❡r✼✷❪ ❏✳✲P✳ ❙❡rr❡✳ Pr♣r✐étés ❣❛❧♦✐s✐❡♥♥❡s ❞❡s ♣♦✐♥ts ❞✬♦r❞r❡ ✜♥✐ ❞❡s ❝♦✉r❜❡s ❡❧❧✐♣t✐q✉❡s✳ ■♥✈❡♥t✐♦♥❡s
♠❛t❤✳✱ ✶✺✿✷✺✾✕✸✸✶✱ ✶✾✼✷✳

❬❙✐❧✽✻❪ ❏✳ ❍✳ ❙✐❧✈❡r♠❛♥✳ ❚❤❡ ❛r✐t❤♠❡t✐❝ ♦❢ ❡❧❧✐♣t✐❝ ❝✉r✈❡s✱ ✈♦❧✉♠❡ ✶✵✻ ♦❢ ●r❛❞✳ ❚❡①ts ✐♥ ▼❛t❤✳
❙♣r✐♥❣❡r✱ ✶✾✽✻✳

❬❙▲✵✻❪ P✳ ❙t❡✈❡♥❤❛❣❡♥ ❛♥❞ ❍✳ ❲✳ ▲❡♥str❛✱ ❏r✳ ❈❤❡❜♦t❛rë✈ ❛♥❞ ❤✐s ❞❡♥s✐t② t❤❡♦r❡♠✳ ❚❤❡ ♠❛t❤❡✲
♠❛t✐❝❛❧ ✐♥t❡❧❧✐❣❡♥❝❡r✱ ✶✽ ◆❖✳✷✱ ✷✵✵✻✳

❬❙✉②❪ ❍✳ ❙✉②❛♠❛✳ ■♥❢♦r♠❛❧ ♣r❡❧✐♠✐♥❛r② r❡♣♦rt ✭✽✮✳ ✷✺ ❖❝t ✶✾✽✺✳

❬❙❲✾✸❪ ❘✳ ❉✳ ❙✐❧✈❡r♠❛♥ ❛♥❞ ❙✳ ❙✳ ❲❛❣st❛✛✱ ❏r✳ ❆ ♣r❛❝t✐❝❛❧ ❛♥❛❧②s✐s ♦❢ t❤❡ ❡❧❧✐♣t✐❝ ❝✉r✈❡ ❢❛❝t♦r✐♥❣
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